TS Register No: 2086/2019-2020 AS Register No:2187/2019-2020

UP-GRADATION OF GOVT ITI CHANDHANATHOPPE ON PARWITH INTERNATIONAL STANDARDS PHASE-1 REV.3

Detailed Estimate

(Dsor year: 2016,Cost Index Applied for this estimate is 41.85%)

SI No	Description	No	L	В	D	CF	Quantity	Remark				
		1 M <i>A</i>	AIN BUILDIN	IG CIVIL W	ORKS							
1	2.6.1 Earth work in excavation by mechanical means (Hydraulic excavator)/manual m (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including disp earth, lead up to 50 m and lift up to 1.5 m, disposed earth to be levelled and neatly disposed											
			EXCAVA	TION FOR I	FOOTING							
	F1	10	1.5+.6	1.5+.6	1.300		57.331					
	F2	18	2+0.6	2+0.6	1.300		158.185					
	F3	10	2+0.6	2+0.6	1.300	1	87.881					
	F4	9	2.2+0.6	2.2+0.6	1.300		91.729					
	F5	2	2.5+0.6	2.5+0.6	1.300		24.987					
	F6 O	the <mark>²</mark> Er	2.5+0.6	2.2+0.6	1.300	ns	22.569					
	F7	5	2.5+0.6	1.5+0.6	1.300		42.316					
	F8	1	2.5+0.6	2+0.6	1.300	1	10.479					
	LIFT	1	3.3+0.6	3.2+0.6	2.350		34.828					
	Total Quantity 530.305 cum											
	Total Deducted Quantity 0.000 cum											
		530.305 cum										
		3.66 / cum	Rs 94	744.29								
2	2.25 Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundation e exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, I and lift up to 1.5 m.											
	EXCAVATION FOR FOOTING											
	F1	10	1.5+.6	1.5+.6	1.300		57.331					
	F2	18	2+0.6	2+0.6	1.300		158.185					
	F3	10	2+0.6	2+0.6	1.300		87.881					
	F4	9	2.2+0.6	2.2+0.6	1.300		91.729					

F5	2	2.5+0.6	2.5+0.6	1.300	24.987
F6	2	2.5+0.6	2.2+0.6	1.300	22.569
F7	5	2.5+0.6	1.5+0.6	1.300	42.316
F8	1	2.5+0.6	2+0.6	1.300	10.479
LIFT	1	3.3+0.6	3.2+0.6	2.350	34.828
		DEDUCE	PCC FOR I	FOOTING	
F1	10	1.5+.2	1.5+.2	0.100	-2.889
F2	18	2+0.2	2+0.2	0.100	-8.712
F3	10	2+0.2	2+0.2	0.100	-4.840
F4	9	2.2+0.2	2.2+0.2	0.100	-5.184
F5	2	2.5+0.2	2.5+0.2	0.100	-1.458
F6	2	2.5+0.2	2.2+0.2	0.100	-1.296
F7	5	2.5+0.2	1.5+0.2	0.100	-2.295
F8	1	2.5+0.2	2+0.2	0.100	-0.594
LIFT	1	3.3+0.2	3.2+0.2	0.100	-1.190
	400	DEDUCE	RCC FOR	FOOTING	
F1	10	1.500	1.500	0.350	-7.875
		1.5*1.5+0.1 5*0.8+0.9 48	ng Orga	anisations 0.400	-4.749
F2	18	2.000	2.000	0.400	-28.800
	18*0.33	2*2+0.5*0. 8+1.26		0.400	-13.448
F3	10	2.000	2.000	0.500	-20.000
	10*0.33	2*2+0.5*.8 +1.26		0.300	-5.603
F4	9	2.200	2.200	0.600	-26.136
	9*0.33	2.2*2.2+0. 5*0.8+1.3 9		0.200	-3.938
F5	2	2.500	2.500	0.650	-8.125
	2*0.33	2.5*2.5+0. 5*0.8+1.5 8		0.250	-1.357
F6	2	2.500	2.200	0.800	-8.800

F7		5	2.500	1.500	0.750		-14.062
F8		1	2.500	2.000	0.750		-3.750
LIFT		1	3.300	3.200	0.750		-7.920
			DEDUCI	E STUB CC	LUMNS		
C1		5	0.300	0.450	0.450		-0.303
C1		15	0.300	0.450	0.400		-0.810
C1		2	0.300	0.450	0.900		-0.243
C2		11	0.300	0.600	0.450		-0.891
C2		21	0.300	0.600	0.400		-1.511
C2		2	0.300	0.600	0.900		-0.324
С3		3	0.300	0.600	0.400		-0.215
C3		2	0.300	0.600	0.300		-0.108
		PL	INTH FILLIN	IG UNDER	PCC FLOO	RS	
		1	.9+.9+1.7	1.300	0.450		2.048
		2	4.100	1.400	0.450	1	5.166
		1	1.7+.9+.9	1.400	0.450		2.205
		1	2.100	4.290	0.450		4.055
	0	ther En	gi2.2001i	194.290°g	an o .45010	ns	4.248
		1	2,340	3.260	0.450	7	3.433
		1	3.16+2.19 +3.05+2.3 4	4.490	0.450		21.701
		1	4.33+5.27 +3.4	1.800	0.450		10.531
		1	9+2.34+5. 75+4.75	1.800	0.450		17.691
		1	2.060	4.470	0.450		4.144
		1	1+1.42+1. 43+1.45	1.650	0.450		3.936
		1	4.11+4+4. 67	6.200	0.450		35.657
		1	7.500	1.550	0.450		5.232
		F	LINTH FILL	NG UNDE	RC FLOO	R	
S1 B	ETWEEN 2 TO 3	1	4.330	3.260	0.300		4.235
		1	5.270	3.260	0.300		5.155

		1	3.400	3.260	0.300		3.326	
		1	5.750	3.560	0.300		6.141	
		1	4.750	3.560	0.300		5.073	
	S1 BETWEEN 3 TO 5	1	4.330	4.490	0.300		5.833	
		1	5.270	4.490	0.300		7.099	
		1	3.400	4.490	0.300		4.580	
		1	5.750	4.190	0.300		7.228	
		1	4.750	4.190	0.300		5.971	
	S1 BETWEEN 6 TO 7	1	4.330	3.870	0.300		5.028	
		1	5.270	3.870	0.300		6.119	
		1	5.750	3.870	0.300		6.676	
		1	4.750	3.870	0.300		5.515	
	S1 BETWEEN 7 TO 8	1	4.330	3.880	0.300		5.041	
		1	5.270	3.880	0.300		6.135	
		(/1)	5.750	3.880	0.300		6.693	
		1	4.750	3.880	0.300		5.529	
					Tota	I Quantity	751.729 c	um
	0	ther Er	ngineeri	ng Orgo	otal Deducted	Quantity	-187.426	cum
					Net Tota	l Quantity	564.303 c	um
			Say	564.303 cu	m @ Rs 178.	.38 / cum	Rs 100	0660.37
3	4.1.4 Providing and laying in shuttering - All work up nominal size)	•		•	-	•		•
			PCC FO	R GROUNE	FLOOR		1	
		1	.9+.9+1.7	1.300	0.150		0.683	
		2	4.100	1.400	0.150		1.722	
		1	1.7+.9+.9	1.400	0.150		0.735	
		1	2.100	4.290	0.150		1.352	
		1	2.200	4.290	0.150		1.416	
		1	2.340	3.260	0.150		1.145	
			3.16+2.19					

1	1	1		1		1	
	1	4.33+5.27 +3.4	1.800	0.150		3.511	
	1	9+2.34+5. 75+4.75	1.800	0.150		5.897	
	1	2.060	4.470	0.150		1.382	
	1	1+1.42+1. 43+1.45	1.650	0.100		0.875	
	1	4.11+4+4. 67	6.200	0.100		7.924	
	1	7.500	1.550	0.100		1.163	
				Tota	al Quantity	35.039 cu	m
		/lat	To	otal Deducte	d Quantity	0.000 cum	1
		6.01		Net Tota	al Quantity	35.039 cu	m
		Say	35.039 cum	@ Rs 7646	.35 / cum	Rs 267	920.46
shuttering - All work u nominal size)	p to piintii		FOR FOO		nu . o grau	eu storie ag	gregate 40
F1 C	theto Er	g in5±.211	ng.5+.2g	anogocio	ns	2.890	
F2	18	2+0.2	2+0.2	0.100	7	8.713	
F3	10	2+0.2	2+0.2	0.100		4.841	
F4	9	2.2+0.2	2.2+0.2	0.100		5.185	
F5	2	2.5+0.2	2.5+0.2	0.100		1.459	
F6	2	2.5+0.2	2.2+0.2	0.100		1.297	
F7	5	2.5+0.2	1.5+0.2	0.100		2.295	
F8	1	2.5+0.2	2+0.2	0.100		0.595	
LIFT	1	3.3+0.2	3.2+0.2	0.100		1.191	
PCC UNDER GRADE BEAM							
B1	1	29.610	0.500	0.100		1.481	
B1	1	49.950	0.500	0.100		2.498	
B1	1	44.340	0.500	0.100		2.217	
B1	1	40.980	0.500	0.100		2.049	
B1	1	47.890	0.500	0.100		2.395	
B1	1	43.230	0.500	0.100		2.162	

	B1	1	56.260	0.500	0.100		2.813	
	B2	1	40.120	0.500	0.100		2.006	
	B2	1	13.000	0.500	0.100		0.650	
	B2	1	14.460	0.500	0.100		0.724	
	B3	1	9.240	0.500	0.100		0.462	
	В3	1	5.400	0.500	0.100		0.270	
		PC	C UNDER R	C GROUN	D FLOOR SLA	\ Β		
	S1 BETWEEN 2 TO 3	1	4.330	3.260	0.100		1.412	
		1	5.270	3.260	0.100		1.719	
		1	3.400	3.260	0.100		1.109	
		1	5.750	3.560	0.100		2.048	
		1	4.750	3.560	0.100		1.691	
	S1 BETWEEN 3 TO 5	1	4.330	4.490	0.100		1.945	
		1	5.270	4.490	0.100		2.367	
		1	3.400	4.490	0.100	9	1.527	
		1	5.750	4.190	0.100		2.410	
		1	4.750	4.190	0.100		1.991	
	S1 BETWEEN 6 TO 7	ther Er	gi4.33011	ng3.870g	anigotion	1S	1.676	
		1	5.270	3.870	0.100	1	2.040	
		1	5.750	3.870	0.100	/	2.226	
		1	4.750	3.870	0.100		1.839	
	S1 BETWEEN 7 TO 8	1	4.330	3.880	0.100		1.681	
		1	5.270	3.880	0.100		2.045	
		1	5.750	3.880	0.100		2.231	
		1	4.750	3.880	0.100		1.843	
					Total	Quantity	81.993 cun	n
				То	otal Deducted	Quantity	0.000 cum	
					Net Total	Quantity	81.993 cun	n
	Say 81.993 cum @ Rs 6352.26 / cum							
5	4.3.1 Centering and shutteri footings, bases for col	_	ng strutting, _l	propping e	tc. and remov	al of form	n work for:Fo	undatio
		CEN	NTERING AN	ID SHUTTE	ERING FOR P	CC	·	-

		İ						
	F1	10*2	1.5+.2	0.	100		3.401	
	F2	18*2	2+0.2	0.	.100		7.921	
	F3	10*2	2+0.2	0.	.100		4.400	
	F4	9*2	2.2+0.2	0.	100		4.321	
	F5	2*2	2.5+0.2	0.	100		1.080	
	F6	2*2	2.5+0.2+2. 2+.2	0.	.100		2.041	
	F7	5*2	2.5+0.2+1. 5+.2	0.	.100		4.400	
	F8	1*2	2.5+0.2+2 +.2	0.	.100		0.981	
	LIFT	1*2	3.3+0.2+3. 2+.2	0.	.100		1.381	
		1	PCC UNI	DER GRADE BE	EAM			ı
	B1	2	29.610	0.	.100		5.923	
	B1	2	49.950	0.	100	L.	9.991	
	B1	2	44.340	0.	100		8.868	
	B1	2	40.980	0.	.100		8.196	
	B1 (the ? Er	47.890 i	ng Organ 9	100io	ns	9.579	
	B1 -	2	43.230	0.	.100	1	8.646	
	B1	2	56.260	0.	.100	(11.252	
	B2	2	40.120	0.	100		8.024	
	B2	2	13.000	0.	100		2.600	
	B2	2	14.460	0.	.100		2.893	
	В3	2	9.240	0.	100		1.848	
	В3	2	5.400	0.	.100		1.080	
					Tota	l Quantity	108.826 s	qm
				Total D	educted	I Quantity	0.000 sqn	า
				N	let Tota	I Quantity	108.826 s	qm
			Say	108.826 sqm @	Rs 275.	12 / sqm	Rs 29	940.21
6	50.4.1.1 Providing and laying aggregate 12.5 mm finishing for leveling	nominal siz	e) up to floo	or five level exc			_	
			TERRACE	DUMMY COLU	IMNS			

C1	21	0.300	0.450	1.000		2.835	
C2	35	0.300	0.600	1.000		6.300	
С3	5	0.300	0.600	1.000		0.900	
	G	ROUND FLO	OOR LINTE	LS AND SILL	_S		
BLOCK WORK	1*2	4.330	0.200	0.150		0.260	
	1*2	5.270	0.200	0.150		0.317	
	1*2	0.700	0.200	0.150		0.042	
	1*2	2.600	0.200	0.150		0.156	
	2*2	3.000	0.200	0.150		0.361	
	1*2	3.800	0.200	0.150		0.228	
	1*2	2.330	0.200	0.150		0.140	
	1*2	5.750	0.200	0.150		0.346	
	1*2	4.740	0.200	0.150		0.285	
	1*2	5.080	0.200	0.150		0.305	
	1*2	1.750	0.200	0.150	I.	0.106	
	1*2	1.790	0.200	0.150		0.108	
	1*2	3.430	0.200	0.150		0.206	
(ther2Er	gi3.42011	ngo.200g	ano 35010	ns	0.206	
	1*2	5.750	0.200	0.150	7	0.346	
	1*2	4.740	0.200	0.150	1	0.285	
	1*2	4.240	0.200	0.150		0.255	
	1*2	1.240	0.200	0.150		0.075	
	1*2	5.560	0.200	0.150		0.334	
	1*2	1.240	0.200	0.150		0.075	
	1*2	5.170	0.200	0.150		0.311	
	1*2	4.330	0.200	0.150		0.260	
	1*2	3.490	0.200	0.150		0.210	
	1*2	3.800	0.200	0.150		0.228	
	1*2	4.340	0.200	0.150		0.261	
	1*2	2.960	0.200	0.150		0.178	
	1*2	5.180	0.200	0.150		0.311	
INTERNAL WALLS	1*2	4.300	0.200	0.150		0.258	
	1*2	3.800	0.200	0.150		0.228	

1*2	2.960	0.200	0.150	0.178
1*2	4.030	0.200	0.150	0.242
1*2	2.190	0.200	0.150	0.132
1*2	4.300	0.200	0.150	0.258
1*2	3.390	0.200	0.150	0.204
2*2	2.960	0.200	0.150	0.356
1*2	3.570	0.200	0.150	0.215
1*2	4.290	0.200	0.150	0.258
1*2	2.800	0.200	0.150	0.168
1*2	2.330	0.200	0.150	0.140
1*2	4.030	0.200	0.150	0.242
1*2	4.240	0.200	0.150	0.255
1*2	5.270	0.200	0.150	0.317
1*2	3.400	0.200	0.150	0.205
1*2	8.390	0.200	0.150	0.504
1*2	4.740	0.200	0.150	0.285
1*2	4.240	0.200	0.150	0.255
Other2Er	gi5.26011	ngo.200g	anos 50101	1S 0.316
1*2	3.310	0.200	0.150	0.199
1*2	2.300	0.200	0.150	0.138
1*2	1.950	0.200	0.150	0.117
1*2	2.260	0.200	0.150	0.136
1*2	5.750	0.200	0.150	0.346
1*2	4.740	0.200	0.150	0.285
1*2	3.430	0.200	0.150	0.206
1*2	1.870	0.200	0.150	0.113
2*2	2.790	0.200	0.150	0.335
1*2	2.900	0.200	0.150	0.174
1*2	4.800	0.200	0.150	0.288
1*2	3.500	0.200	0.150	0.211
1*2	1.940	0.200	0.150	0.117
1*2	1.240	0.200	0.150	0.075
1*2	2.000	0.200	0.150	0.120

			1		I					
		1*2	1.910	0.200	0.150		0.115			
		2*2	1.800	0.200	0.150		0.217			
		1*2	1.710	0.200	0.150		0.103			
		1*2	5.900	0.200	0.150		0.355			
	10 CM WALLS	1*2	4.640	0.100	0.150		0.140			
		1*2	2.700	0.100	0.150		0.081			
		1*2	6.210	0.100	0.150		0.187			
		2*2	2.800	0.100	0.150		0.168			
		2*2	1.500	0.100	0.150		0.091			
		2*2	1.498	0.100	0.150		0.090			
		1*2	2.700	0.100	0.150		0.081			
		1*2	2.690	0.100	0.150		0.081			
		1*2	4.630	0.100	0.150		0.139			
		16	DEDUCTION	FOR SILLS	S AT DOOR	s				
	20CM WALLS,D1	9	1.000	0.200	0.150	L	-0.270			
	D2	6	1.200	0.200	0.150		-0.215			
	D3	6	0.800	0.200	0.150		-0.144			
	RS O	th c *2En	gi214001i	ngo.200g	an o 95010	ns	-0.431			
	10CM WALLS,D1	6	1,000	0.100	0.150	7	-0.090			
	D3	1	0.800	0.100	0.150	1	-0.012			
					Tota	al Quantity	25.954 cu	m		
				To	otal Deducte	d Quantity	-1.162 cur	n		
					Net Tota	al Quantity	24.792 cu	m		
			Say	24.792 cum	@ Rs 7735	5.80 / cum	Rs 191	1785.95		
7	5.33.1 Providing and laying in position machine batched and machine mixed design mix M-25 grade cerconcrete for reinforced cement concrete work, using cement content as per approved design including pumping of concrete to site of laying but excluding the cost of centering, shuttering, finish and reinforcement, including admixtures in recommended proportions as per IS: 9103 to acceler retard setting of concrete, improve workability without impairing strength and durability as per direction Engineer - in-charge. Note:- Cement content considered in this item is @ 330 kg/ cum. Excess or cement used as per design mix is payable or recoverable separately. All work upto plinth level									
				FOOTING						
	F1	10	1.500	1.500	0.350		7.875			

	10*0.33	1.5*1.5+0. 5*0.8+0.9 48		0.400	4.750
F2	18	2.000	2.000	0.400	28.800
	18*0.33	2*2+0.5*0. 8+1.26		0.400	13.449
F3	10	2.000	2.000	0.500	20.000
	10*0.33	2*2+0.5*.8 +1.26		0.300	5.604
F4	9	2.200	2.200	0.600	26.137
	9*0.33	2.2*2.2+0. 5*0.8+1.3 9	A	0.200	3.939
F5	2	2.500	2.500	0.650	8.125
	2*0.33	2.5*2.5+0. 5*0.8+1.5 8		0.250	1.358
F6	2	2.500	2.200	0.800	8.800
F7	5	2.500	1.500	0.750	14.063
F8	the ¹ En	2.500	2.000	0.750	3.750
LIFT	1	3.300	3.200	0.750	7.920
	$P \perp$	G	RADE BEA	M H	
B1	1	29.610	0.300	0.600	5.330
B1	1	49.950	0.300	0.600	8.991
B1	1	44.340	0.300	0.600	7.982
B1	1	40.980	0.300	0.600	7.377
B1	1	47.890	0.300	0.600	8.621
B1	1	43.230	0.300	0.600	7.782
B1	1	56.260	0.300	0.600	10.127
B2	1	40.120	0.300	0.600	7.222
B2	1	13.000	0.300	0.600	2.340
B2	1	14.460	0.300	0.600	2.603
В3	1	9.240	0.300	0.600	1.664
В3	1	5.400	0.300	0.600	0.972
		GROU	ND FLOOR	SLAB	

S1	BETWEEN 2 TO 3	1	4.330	3.260	0.200	2.824	
		1	5.270	3.260	0.200	3.437	
		1	3.400	3.260	0.200	2.217	
		1	5.750	3.560	0.200	4.095	
		1	4.750	3.560	0.200	3.382	
S1	BETWEEN 3 TO 5	1	4.330	4.490	0.200	3.889	
		1	5.270	4.490	0.200	4.733	
		1	3.400	4.490	0.200	3.054	
		1	5.750	4.190	0.200	4.819	
		1	4.750	4.190	0.200	3.981	
S1	BETWEEN 6 TO 7	1	4.330	3.870	0.200	3.352	
		1	5.270	3.870	0.200	4.079	
		1 4	5.750	3.870	0.200	4.451	
		1	4.750	3.870	0.200	3.677	
S1	BETWEEN 7 TO 8	1	4.330	3.880	0.200	3.361	
	3	1	5.270	3.880	0.200	4.090	
		1	5.750	3.880	0.200	4.462	
	0	ther En	gi4.75011	ngs.880g	an o.200 10 ns	3.686	
			ST	UB COLUM	N\$		
C1		5	0.300	0.450	0.450	0.304	
C1		15	0.300	0.450	0.400	0.810	
C1		2	0.300	0.450	0.900	0.244	
C2		11	0.300	0.600	0.450	0.891	
C2		21	0.300	0.600	0.400	1.512	
C2		2	0.300	0.600	0.900	0.324	
СЗ		3	0.300	0.600	0.400	0.216	
C3		2	0.300	0.600	0.300	0.108	
			LIFT F	PIT SHEAR	WALL	T	
		2	1.450	0.200	0.900	0.522	
		2	1.800	0.200	0.900	0.649	
					Total Qua	antity 298.750) cum
				To	tal Deducted Qua	antity 0.000 d	cum
					Net Total Qua	antity 298.750) cum

			Say 2	98.750 cum	n @ Rs 9144.36 /	cum Rs 2731877.5				
8	5.33.2 Providing and laying in position machine batched and machine mixed design mix M-25 grade ceme concrete for reinforced cement concrete work, using cement content as per approved design mix including pumping of concrete to site of laying but excluding the cost of centering, shuttering, finishing and reinforcement, including admixtures in recommended proportions as per IS: 9103 to accelerate retard setting of concrete, improve workability without impairing strength and durability as per direction. Engineer - in-charge. Note:- Cement content considered in this item is @ 330 kg/ cum. Excess or less cement used as per design mix is payable or recoverable separately. All work above plinth level upto flow V level.									
	GROUND FLOOR COLUMNS									
	C1	21	0.300	0.450	3.450	9.781				
	C2	35	0.300	0.600	3.450	21.735				
	C3	5	0.300	0.600	3.450	3.105				
	GROUND FLOOR ROOF BEAMS									
	B1	1	12.960	0.300	0.300	1.167				
	B2	1	12.790	0.300	0.300	1.152				
	B3	1	12.970	0.300	0.300	1.168				
	B4	1	8.090	0.300	0.450	1.093				
	B5	thet Fr	12.770	0.300	0.300	1.150				
	B6		12.900	0.300	0.300	1.161				
	B7	1	8.690	0.300	0.450	1.174				
	B8	1	12.820	0.300	0.300	1.154				
	B9	1	12.810	0.300	0.300	1.153				
	B10	1	8.250	0.300	0.300	0.743				
	B11	1	12.750	0.300	0.450	1.722				
	B12	1	9.590	0.300	0.450	1.295				
	B13	1	6.060	0.300	0.450	0.819				
	B14	1	4.000	0.300	0.450	0.540				
	B15	1	10.490	0.300	0.450	1.417				
	B16	1	5.560	0.300	0.300	0.501				
	B17	1	8.210	0.300	0.300	0.739				
	B18	1	9.500	0.300	0.300	0.855				
	B19	1	4.790	0.300	0.300	0.432				
	B20	1	9.420	0.300	0.300	0.848				

			1		
B21	1	10.490	0.300	0.300	0.945
B22	1	2.100	0.300	0.300	0.189
B23	1	3.800	0.300	0.300	0.342
B24	1	2.190	0.300	0.300	0.198
B25	1	3.800	0.300	0.450	0.513
B26	1	16.840	0.300	0.300	1.516
B27	1	16.690	0.300	0.450	2.254
B28	1	14.670	0.300	0.450	1.981
B29	1	6.990	0.300	0.450	0.944
B30	1	5.780	0.300	0.450	0.781
B31	1	6.090	0.300	0.450	0.823
B32	1	9.220	0.300	0.450	1.245
B33	1	7.590	0.300	0.450	1.025
B34	1	9.520	0.300	0.450	1.286
B35	1	15.650	0.300	0.450	2.113
B36	1	16.660	0.300	0.450	2.250
B37	1	15.480	0.300	0.450	2.090
B38	ther En	gi5.50011	ngo.300g	ano.300ions	0.495
B39	1	5.500	0.300	0.450	0.743
B40	1	1.440	0.300	0.300	0.130
B41	1	1.440	0.300	0.300	0.130
B42	1	1.790	0.300	0.300	0.162
B43	1	2.060	0.300	0.450	0.279
B44	1	2.060	0.300	0.450	0.279
B45	1	4.310	0.300	0.450	0.582
B46	1	6.290	0.300	0.450	0.850
B47	1	5.500	0.300	0.450	0.743
B48	1	1.240	0.300	0.450	0.168
B49	1	4.660	0.300	0.450	0.630
B50	1	0.490	0.250	0.450	0.056
B51	1	0.740	0.250	0.300	0.056
B52	1	0.490	0.250	0.300	0.037
		GROUND	FLOOR RO	OOF SLAB	

T					
S1	1	13.900	3.850	0.150	8.028
S1	1	2.400	4.900	0.150	1.764
S1	1	4.700	6.990	0.150	4.928
S1	1	2.490	4.900	0.150	1.831
S1	1	13.730	3.860	0.150	7.950
S1	1	14.200	4.780	0.150	10.182
S1	1	14.000	4.780	0.150	10.038
S1	1	37.230	4.160	0.150	23.232
S1	1	10.100	4.180	0.150	6.333
S1	1	11.100	4.180	0.150	6.960
S1	1	8.100	5.850	0.150	7.108
S2	1	23.200	2.090	0.150	7.274
S2	1	11.100	2.100	0.150	3.497
S3	1	2.930	2.100	0.150	0.923
S3	1	16.030	2.330	0.150	5.603
S3	1	16.030	1.850	0.150	4.449
S3	1	2.360	1.350	0.150	0.478
0	ther En	STERRACE	SLOPED	PARAPÉTONS	
	1	130.000	1.150	0.130	19.436
			STAIRCASE		
MAIN STAIR,WAIST SLAB	1	3.610	2.000	0.150	1.083
	2	2.010	2.000	0.150	1.206
	2	2.340	2.000	0.150	1.404
LANDING	3	2.000	2.000	0.150	1.800
STEPS	2*0.5*24	2.000	0.300	0.150	2.160
LANDING BEAM	1	6.700	0.300	0.700	1.407
FIRE STAIR	1	6.280	1.000	0.150	0.942
	1	2.000	1.000	0.150	0.300
	0.5*22	1.000	0.250	0.170	0.468
	1	2.100	0.200	0.450	0.190
				Total Qua	ntity 221.713 cum
			To	otal Deducted Qua	ntity 0.000 cum

					Net Tota	al Quantity	221.713 c	um			
			Say 22	1.713 cum	@ Rs 10284	1.20 / cum	Rs 228	0140.83			
9	5.9.1 Centering and shuttering including strutting, etc. and removal of form for:Foundations, footings, bases columns, etc for mass concrete										
	FOOTING										
	F1	10*4	1.500		0.350		21.000				
	F2	18*4	2.000		0.400		57.600				
	F3	10*4	2.000		0.500		40.000				
	F4	9*4	2.200		0.600		47.520				
	F5	2*4	2.500	B.	0.650		13.000				
	F6	2*2	2.500+2.2		0.800		15.041				
	F7	5*2	2.500+1.5	8 4	0.750		30.000				
	F8	1*2	2.500+2	51/1	0.750		6.750				
	LIFT	1*2	3.300+3.2	PAL	0.750	4	9.750				
	Total Quantity 240.661 sqm										
	Total Deducted Quantity 0.000 sqm										
	Net Total Quantity 240.661 sqm										
		uner El	ngineeri Say	240.661 sqr	m @ Rs 275	5.12 / sqm	Rs 66	210.65			
10	5.9.2 Centering and shutteri attached pilasters, butt					for:Walls (a	any thicknes	s) including			
			LIFT F	PIT SHEAR	WALL						
		2*2	1.450		0.900		5.220				
		2*2	1.800		0.900		6.480				
					Tota	al Quantity	11.700 sq	m			
				То	tal Deducte	d Quantity	0.000 sqm	า			
		Net Total Quantity 11.700 sqm									
			Say	y 11.700 sqr	m @ Rs 537	7.04 / sqm	Rs 62	283.37			
11	5.9.6 Centering and shutte Abutments, Posts and	_	ling strutting	g, etc. and	removal of	form for:C	olumns, Pil	lars, Piers,			
		GR	OUND FLOO	R COLUMN	IS FORM W	ORK					
		1	1								
	C1	21*2	0.300+.45		3.450		108.676				

	С3	5*2	0.300+.6		3.450		31.050				
		TER	RACE DUMM	IY COLUMN	IS FORM WOF	RK					
	C1	21*2	0.300+.45		1.000		31.500				
	C2	35*2	0.300+.6		1.000		63.000				
	C3	5*2	0.300+.6		1.000		9.000				
			STUB COLUMNS								
	C1	5*2	0.300+.45		0.450		3.375				
	C1	15*2	0.300+.45		0.400		9.001				
	C1	2*2	0.300+.45		0.900		2.700				
	C2	11*2	0.300+.6		0.450		8.910				
	C2	21*2	0.300+.6	19	0.400		15.120				
	C2	2*2	0.300+.6		0.900		3.240				
	C3	3*2	0.300+.6	5 N	0.400		2.160				
	C3	2*2	0.300+.6		0.300		1.080				
	Total Quantity 506.162 sqm										
	Total Deducted Quantity 0.000 sqm										
	Net Total Quantity 506.162 sqm										
	Other Enginesay 506. 162 sqm @ Rs 663.65 / sqm										
12	=	5.9.5 Centering and shuttering including strutting, etc. and removal of form for:Lintels, beams, plinth beams girders bressumers and cantilevers									
			GROUND F	LOOR ROC	OF BEAMS			<u> </u>			
	B1	1	12.960		1.200		15.552				
	B2	1	12.790		1.200		15.348				
	B3	1	12.970		1.500		19.456				
	B4	1	8.090		1.500		12.135				
			10.770		1.200		15.324				
	B5	1	12.770								
	B5 B6	1	12.770		1.200		15.480				
					1.200 1.500		15.480 13.035				
	B6	1	12.900								
	B6 B7	1	12.900 8.690		1.500		13.035				
	B6 B7 B8	1 1 1	12.900 8.690 12.820		1.500		13.035 15.384				

B12	1	9.590		1.500		14.385	
B13	1	6.060		1.500		9.090	
B14	1	4.000		1.500		6.000	
B15	1	10.490		1.500		15.735	
B16	1	5.560		1.200		6.672	
B17	1	8.210		1.200		9.852	
B18	1	9.500		1.200		11.400	
B19	1	4.790		1.200		5.748	
B20	1	9.420		1.200		11.304	
B21	1	10.490	0	1.200		12.588	
B22	1	2.100		1.200		2.520	
B23	1	3.800		1.200		4.560	
B24	1	2.190	3. N	1.200		2.628	
B25	1	3.800		1.500		5.700	
B26	(/1)	16.840	350	1.200	L	20.208	
B27	1	16.690		1.500		25.036	
B28	1	14.670	10 DE 20	1.500		22.005	
B29	Other En	gi6.9901i	ng Orga	ani.50010	ns	10.485	
B30	1	5.780		1.500		8.670	
B31	1	6.090		1.500		9.135	
B32	1	9.220		1.500		13.831	
B33	1	7.590		1.500		11.385	
B34	1	9.520		1.500		14.280	
B35	1	15.650		1.500		23.475	
B36	1	16.660		1.500		24.991	
B37	1	15.480		1.500		23.220	
B38	1	5.500		1.200		6.600	
B39	1	5.500		1.500		8.250	
B40	1	1.440		1.200		1.728	
B41	1	1.440		1.200		1.728	
B42	1	1.790		1.200		2.148	
B43	1	2.060		1.500		3.090	
B44	1	2.060		1.500		3.090	

B45	1	4.310	1.500	6.465
B46	1	6.290	1.500	9.435
B47	1	5.500	1.500	8.250
B48	1	1.240	1.500	1.860
B49	1	4.660	1.500	6.990
B50	1	0.490	0.850	0.417
B51	1	0.740	0.850	0.629
B52	1	0.490	0.850	0.417
	G	ROUND FLOOR L	INTELS AND SILLS	
BLOCK WORK	1*2	4.330	0.300	2.598
	1*2	5.270	0.300	3.162
	1*2	0.700	0.300	0.420
	1*2	2.600	0.300	1.560
	2*2	3.000	0.300	3.600
	1*2	3.800	0.300	2.280
	1*2	2.330	0.300	1.398
	1*2	5.750	0.300	3.450
(ther2Er	ngianaoring (Organo.300ions	2.844
	1*2	5.080	0.300	3.048
	1*2	1.750	0.300	1.050
	1*2	1.790	0.300	1.074
	1*2	3.430	0.300	2.058
	1*2	3.420	0.300	2.052
	1*2	5.750	0.300	3.450
	1*2	4.740	0.300	2.844
	1*2	4.240	0.300	2.544
	1*2	1.240	0.300	0.744
	1*2	5.560	0.300	3.336
	1*2	1.240	0.300	0.744
	1*2	5.170	0.300	3.102
	1*2	4.330	0.300	2.598
	1*2	3.490	0.300	2.094
 	1*2	3.800	0.300	2.280

	1*2	4.340		0.300		2.604	
	1*2	2.960		0.300		1.776	
	1*2	5.180		0.300		3.108	
INTERNAL WALLS	1*2	4.300		0.300		2.580	
	1*2	3.800		0.300		2.280	
	1*2	2.960		0.300		1.776	
	1*2	4.030		0.300		2.418	
	1*2	2.190		0.300		1.314	
	1*2	4.300		0.300		2.580	
	1*2	3.390		0.300		2.034	
	2*2	2.960		0.300		3.552	
	1*2	3.570		0.300		2.142	
	1*2	4.290	3. 7	0.300		2.574	
	1*2	2.800		0.300		1.680	
	1*2	2.330	150	0.300	I.	1.398	
	1*2	4.030		0.300		2.418	
	1*2	4.240	10 D 20	0.300		2.544	
)ther2Er	gi5127011i	ng Org	an o.300 10	ns	3.162	
-	1*2	3.400		0.300	7	2.040	
	1*2	8.390		0.300		5.034	
-	1*2	4.740		0.300		2.844	
	1*2	4.240		0.300		2.544	
	1*2	5.260		0.300		3.156	
	1*2	3.310		0.300		1.986	
	1*2	2.300		0.300		1.380	
	1*2	1.950		0.300		1.170	
	1*2	2.260		0.300		1.356	
	1*2	5.750		0.300		3.450	
	1*2	4.740		0.300		2.844	
	1*2	3.430		0.300		2.058	
	1*2	1.870		0.300		1.122	
	2*2	2.790		0.300		3.348	
	1*2	2.900		0.300		1.740	

	1*2	4.800	0.300	2.880	
	1*2	3.500	0.300	2.100	
	1*2	1.940	0.300	1.164	
	1*2	1.240	0.300	0.744	
	1*2	2.000	0.300	1.200	
	1*2	1.910	0.300	1.146	
	2*2	1.800	0.300	2.160	
	1*2	1.710	0.300	1.026	
	1*2	5.900	0.300	3.540	
10 CM	WALLS 1*2	4.640	0.300	2.784	
	1*2	2.700	0.300	1.620	
	1*2	6.210	0.300	3.726	
	2*2	2.800	0.300	3.360	
	2*2	1.500	0.300	1.800	
	2*2	1.498	0.300	1.798	
	1*2	2.700	0.300	1.620	
	1*2	2.690	0.300	1.614	
	Others	Engia630ri	ng Organo.300	ions 2.778	
	D	DEDUCTION	FOR SILLS AT DO	DRS	
20CM	WALLS,D1 9	1.000	0.300	-2.699	
D2	6	1.200	0.300	-2.160	
D3	6	0.800	0.300	-1.440	
RS	3*2	2.400	0.300	-4.320	
10CM	WALLS,D1 6	1.000	0.300	-1.799	
D3	1	0.800	0.300	-0.240	
		GRA	DE BEAM SIDES		
B1	2	29.610	0.600	35.532	
B1	2	49.950	0.600	59.940	
B1	2	44.340	0.600	53.209	
B1	2	40.980	0.600	49.176	
B1	2	47.890	0.600	57.468	
B1	2	43.230	0.600	51.876	
B1	2	56.260	0.600	67.512	

B2	2	40.120	0.600	48.144
B2	2	13.000	0.600	15.600
B2	2	14.460	0.600	17.352
В3	2	9.240	0.600	11.088
В3	2	5.400	0.600	6.480
	DEDUC	TION FOR GROU	ND FLOOR SLAB EDG	ES
S1 BETWEEN 2 TO 3	2	4.330+3.2 6	0.200	-3.036
	2	5.270+3.2 6	0.200	-3.412
	2	3.400+3.2 6	0.200	-2.664
	2	5.750+3.5 6	0.200	-3.724
	2	4.750+3.5 6	0.200	-3.324
S1 BETWEEN 3 TO 5	2	4.330+4.4 9	0.200	-3.528
0	the ² En	5.270+4.4 gin 9 ering (Organisations	-3.904
	D 2	3.400+4.4	0.200	-3.156
	2	5.750+4.1 9	0.200	-3.976
	2	4.750+4.1 9	0.200	-3.576
S1 BETWEEN 6 TO 7	2	4.330+3.8 7	0.200	-3.280
	2	5.270+3.8 7	0.200	-3.656
	2	5.750+3.8 7	0.200	-3.848
	2	4.750+3.8 7	0.200	-3.448
S1 BETWEEN 7 TO 8	2	4.330+3.8 8	0.200	-3.284

		2	5.270+3.8 8		0.200		-3.659	
		2	5.750+3.8 8		0.200		-3.852	
		2	4.750+3.8 8		0.200		-3.452	
					Tota	al Quantity	1194.890	sqm
			-75.437 sqm					
					Net Tota	al Quantity	1119.453	sqm
			Say 1	119.453 sqı	m @ Rs 486	6.40 / sqm	Rs 544	1501.94
13	5.9.7 Centering and shutter except spiral - stairca		- 1 W			m for:Stairs	s, (excluding	ı landings
			Center	ing and shu	ıttering		T	
	Centering and shuttering	1	62.400		1-21		62.400	
		al Ougatity	62.400 sqm					
		75242		JANY.	100	al Quantity	02.400 34	111
				To	tal Deducte	•	0.000 sqn	
		146		d Sidy	otal Deducte Net Tota	d Quantity		1
	C	Other E	ngineeri	d Sidy	otal Deducte Net Tota	d Quantity	0.000 sqn 62.400 sq	1
14	5.9.3 Centering and shutte landings, balconies a	ring includ		/ 62.400 sqi	Net Tota	d Quantity al Quantity 1.85 / sqm	0.000 sqn 62.400 sq Rs 37	m 118.64
14	5.9.3 Centering and shutte	ring includ	ling strutting,	/ 62.400 sqi	Net Total n @ Rs 594 removal of	d Quantity al Quantity 1.85 / sqm	0.000 sqn 62.400 sq Rs 37	m 118.64
14	5.9.3 Centering and shutte	ring includ	ling strutting,	7 62.400 sqi	Net Total n @ Rs 594 removal of	d Quantity al Quantity 1.85 / sqm	0.000 sqn 62.400 sq Rs 37	m 118.64
14	5.9.3 Centering and shutte landings, balconies a	ring includ	ling strutting, platform GROUND	etc. and r	Net Total n @ Rs 594 removal of	d Quantity al Quantity 1.85 / sqm	0.000 sqn 62.400 sq Rs 37	m 118.64
14	5.9.3 Centering and shutte landings, balconies a	ring included access	ling strutting, platform GROUND 13.900	/ 62.400 sqi , etc. and r FLOOR RC 3.850	Net Total n @ Rs 594 removal of	d Quantity al Quantity 1.85 / sqm	0.000 sqn 62.400 sq Rs 37 spended flo	m 118.64
14	5.9.3 Centering and shutte landings, balconies a	ring included access	ling strutting, platform GROUND 13.900 2.400	7 62.400 sqi , etc. and r FLOOR RC 3.850 4.900	Net Total n @ Rs 594 removal of	d Quantity al Quantity 1.85 / sqm	0.000 sqn 62.400 sq Rs 37 spended flo 53.515 11.760	m 118.64
14	5.9.3 Centering and shutte landings, balconies a S1 S1 S1	ring included access of the second access of the se	Ing strutting, platform GROUND 13.900 2.400 4.700	7 62.400 sqi etc. and r FLOOR RC 3.850 4.900 6.990	Net Total n @ Rs 594 removal of	d Quantity al Quantity 1.85 / sqm	0.000 sqn 62.400 sq Rs 37 spended flo 53.515 11.760 32.853	m 118.64
14	5.9.3 Centering and shutte landings, balconies a S1 S1 S1 S1	ring included access of the second access of the se	GROUND 13.900 2.400 4.700 2.490	7 62.400 sqi etc. and r FLOOR RC 3.850 4.900 6.990 4.900	Net Total n @ Rs 594 removal of	d Quantity al Quantity 1.85 / sqm	0.000 sqn 62.400 sq Rs 37 spended flo 53.515 11.760 32.853 12.202	m 118.64
14	5.9.3 Centering and shutte landings, balconies a S1 S1 S1 S1 S1	ring included access of the second access of the se	Ing strutting, platform GROUND 13.900 2.400 4.700 2.490 13.730	7 62.400 sqi etc. and r FLOOR RC 3.850 4.900 6.990 4.900 3.860	Net Total n @ Rs 594 removal of	d Quantity al Quantity 1.85 / sqm	0.000 sqn 62.400 sq Rs 37 spended flo 53.515 11.760 32.853 12.202 52.998	m 118.64
14	5.9.3 Centering and shutte landings, balconies a S1 S1 S1 S1 S1 S1	ring included access of the second access of the se	Ing strutting, platform GROUND 13.900 2.400 4.700 2.490 13.730 14.200	7 62.400 sqi etc. and r FLOOR RC 3.850 4.900 6.990 4.900 3.860 4.780	Net Total n @ Rs 594 removal of	d Quantity al Quantity 1.85 / sqm	0.000 sqn 62.400 sq Rs 37 spended flo 53.515 11.760 32.853 12.202 52.998 67.876	m 118.64
14	5.9.3 Centering and shutte landings, balconies a S1 S1 S1 S1 S1 S1 S1 S1	ring included access of the second access of the se	Ing strutting, platform GROUND 13.900 2.400 4.700 2.490 13.730 14.200 14.000	7 62.400 sqi 7 62.400 sqi 7 62.400 sqi 7 62.400 sqi 8 1000 sqi	Net Total n @ Rs 594 removal of	d Quantity al Quantity 1.85 / sqm	0.000 sqn 62.400 sq Rs 37 spended flo 53.515 11.760 32.853 12.202 52.998 67.876 66.920	m 118.64
14	5.9.3 Centering and shutte landings, balconies and shutte landings are shuttered.	ring included access of the second access of the se	Ing strutting, platform GROUND 13.900 2.400 4.700 2.490 13.730 14.200 14.000 37.230	62.400 sql etc. and r FLOOR RC 3.850 4.900 6.990 4.900 3.860 4.780 4.780 4.160	Net Total n @ Rs 594 removal of	d Quantity al Quantity 1.85 / sqm	0.000 sqn 62.400 sq Rs 37 spended flo 53.515 11.760 32.853 12.202 52.998 67.876 66.920 154.877	m 118.64

S2	1	23.200	2.090		48.488
S2	1	11.100	2.100		23.310
S3	1	2.930	2.100		6.154
S3	1	16.030	2.330		37.350
S3	1	16.030	1.850		29.656
S3	1	2.360	1.350		3.186
		GROUNI	D FLOOR C	COLUMNS	
C1	21	0.300	0.450		-2.835
C2	35	0.300	0.600		-6.300
С3	5	0.300	0.600		-0.899
		GROUND	FLOOR RO	OF BEAMS	
B1	1	12.960	0.300	-	-3.888
B2	1,	12.790	0.300	7 13	-3.836
B3	1	12.970	0.300	1-21	-3.891
B4	1	8.090	0.300	LADL	-2.427
B5	1	12.770	0.300		-3.830
B6	1	12.900	0.300		-3.870
B7	Other En	gi8.6901i	ngo.300g	anisations	-2.606
B8	1	12.820	0.300	7 7	-3.846
В9	1	12.810	0.300		-3.843
B10	1	8.250	0.300		-2.475
B11	1	12.750	0.300		-3.824
B12	1	9.590	0.300		-2.877
B13	1	6.060	0.300		-1.817
B14	1	4.000	0.300		-1.200
B15	1	10.490	0.300		-3.147
B16	1	5.560	0.300		-1.668
B17	1	8.210	0.300		-2.463
B18	1	9.500	0.300		-2.850
B19	1	4.790	0.300		-1.437
B20	1	9.420	0.300		-2.826
B21	1	10.490	0.300		-3.147
B22	1	2.100	0.300		-0.630

		1					
B23	1	3.800	0.300			-1.140	
B24	1	2.190	0.300			-0.656	
B25	1	3.800	0.300			-1.140	
B26	1	16.840	0.300			-5.052	
B27	1	16.690	0.300			-5.007	
B28	1	14.670	0.300			-4.401	
B29	1	6.990	0.300			-2.097	
B30	1	5.780	0.300			-1.734	
B31	1	6.090	0.300			-1.827	
B32	1	9.220	0.300			-2.766	
B33	1	7.590	0.300			-2.276	
B34	1	9.520	0.300	1		-2.856	
B35	1	15.650	0.300	7 13		-4.695	
B36	1	16.660	0.300	1-2		-4.998	
B37	(1)	15.480	0.300		L	-4.644	
B38	1	5.500	0.300			-1.650	
B39	1	5.500	0.300	-27.		-1.650	
B40	Other E	ngin440ri	ngo.30org	anisatic	ons	-0.432	
B41	1	1.440	0.300	7 T		-0.432	
B42	1	1.790	0.300		1	-0.537	
B43	1	2.060	0.300			-0.618	
B44	1	2.060	0.300			-0.618	
B45	1	4.310	0.300			-1.293	
B46	1	6.290	0.300			-1.887	
B47	1	5.500	0.300			-1.650	
B48	1	1.240	0.300			-0.372	
B49	1	4.660	0.300			-1.398	
B50	1	0.490	0.250			-0.122	
B51	1	0.740	0.250			-0.185	
 B52	1	0.490	0.250			-0.122	
				Tot	al Quantity	737.146 sq	m
			To	otal Deducte	ed Quantity	-130.687 so	qm
				Net Tot	al Quantity	606.459 sq	m

			Say	606.459 sqı	m @ Rs 599	0.03 / sqm	Rs 36	3287.13			
15	5.34.1 Extra for providing richer mixes at all floor levels. Note:- Excess/less cement over the specified cemer content used is payable/ recoverable separately. Providing M-30 grade concrete instead of M-25 grad BMC/RMC. (Note:- Cement content considered in M-30 is @ 340 kg/cum).										
		FOOTING									
	F1	10	1.500	1.500	0.350		7.875				
		10*0.33	1.5*1.5+0. 5*0.8+0.9 48		0.400		4.750				
	F2	18	2.000	2.000	0.400		28.800				
		18*0.33	2*2+0.5*0. 8+1.26	A	0.400		13.449				
	F3	10	2.000	2.000	0.500		20.000				
		10*0.33	2*2+0.5*.8 +1.26	DA	0.300		5.604				
	F4	9	2.200	2.200	0.600	L	26.137				
		9*0.33	2.2*2.2+0. 5*0.8+1.3 9	in or the	0.200		3.939				
	F5	ther Er	gineeri 2.500	ng Orga 2.500	anisatio 0.650	ns	8.125				
	and the state of t	2*0.33	2.5*2.5+0. 5*0.8+1.5		0.250		1.358				
	F6	2	2.500	2.200	0.800		8.800				
	F7	5	2.500	1.500	0.750		14.063				
	F8	1	2.500	2.000	0.750		3.750				
	LIFT	1	3.300	3.200	0.750		7.920				
			G	RADE BEA	М						
	B1	1	29.610	0.300	0.600		5.330				
	B1	1	49.950	0.300	0.600		8.991				
	B1	1	44.340	0.300	0.600		7.982				
	B1	1	40.980	0.300	0.600		7.377				
	B1	1	47.890	0.300	0.600		8.621				
	B1	1	43.230	0.300	0.600		7.782				
	B1	1	56.260	0.300	0.600		10.127				

B2	1	40.120	0.300	0.600	7.222
B2	1	13.000	0.300	0.600	2.340
B2	1	14.460	0.300	0.600	2.603
B3	1	9.240	0.300	0.600	1.664
В3	1	5.400	0.300	0.600	0.972
		GROU	ND FLOOR	SLAB	
S1 BETWEEN 2 TO 3	1	4.330	3.260	0.200	2.824
	1	5.270	3.260	0.200	3.437
	1	3.400	3.260	0.200	2.217
	1	5.750	3.560	0.200	4.095
	1	4.750	3.560	0.200	3.382
S1 BETWEEN 3 TO 5	1	4.330	4.490	0.200	3.889
	1	5.270	4.490	0.200	4.733
	1	3.400	4.490	0.200	3.054
	1	5.750	4.190	0.200	4.819
1	1	4.750	4.190	0.200	3.981
S1 BETWEEN 6 TO 7	1	4.330	3.870	0.200	3.352
O	ther En	g i5.27011	ngs.870g	an o.20 0101	1S 4.079
	1	5.750	3.870	0.200	4.451
	1	4.750	3.870	0.200	3.677
S1 BETWEEN 7 TO 8	1	4.330	3.880	0.200	3.361
	1	5.270	3.880	0.200	4.090
	1	5.750	3.880	0.200	4.462
	1	4.750	3.880	0.200	3.686
		ST	UB COLUM	NS	
C1	5	0.300	0.450	0.450	0.304
C1	15	0.300	0.450	0.400	0.810
C1	2	0.300	0.450	0.900	0.244
C2	11	0.300	0.600	0.450	0.891
C2	21	0.300	0.600	0.400	1.512
C2	2	0.300	0.600	0.900	0.324
С3	3	0.300	0.600	0.400	0.216
C3	2	0.300	0.600	0.300	0.108

		LIFT I	PIT SHEAR	WALL			
	2	1.450	0.200	0.900		0.522	
	2	1.800	0.200	0.900		0.649	
		GROUNI	D FLOOR C	OLUMNS			
C1	21	0.300	0.450	3.450		9.781	
C2	35	0.300	0.600	3.450		21.735	
С3	5	0.300	0.600	3.450		3.105	
		GROUND	FLOOR RO	OF BEAMS			
B1	1	12.960	0.300	0.300		1.167	
B2	1	12.790	0.300	0.300		1.152	
В3	1	12.970	0.300	0.300		1.168	
B4	1	8.090	0.300	0.450		1.093	
B5	1	12.770	0.300	0.300		1.150	
B6	1	12.900	0.300	0.300		1.161	
B7	1	8.690	0.300	0.450		1.174	
B8	1	12.820	0.300	0.300		1.154	
B9	1	12.810	0.300	0.300		1.153	
B10	Other Er	gi8.2501i	ngo.300g	an o.300 101	ns	0.743	
B11	1	12.750	0.300	0.450		1.722	
B12	1	9.590	0.300	0.450		1.295	
B13	1	6.060	0.300	0.450		0.819	
B14	1	4.000	0.300	0.450		0.540	
B15	1	10.490	0.300	0.450		1.417	
B16	1	5.560	0.300	0.300		0.501	
B17	1	8.210	0.300	0.300		0.739	
B18	1	9.500	0.300	0.300		0.855	
B19	1	4.790	0.300	0.300		0.432	
B20	1	9.420	0.300	0.300		0.848	
B21	1	10.490	0.300	0.300		0.945	
B22	1	2.100	0.300	0.300		0.189	
B23	1	3.800	0.300	0.300		0.342	
B24	1	2.190	0.300	0.300		0.198	
B25	1	3.800	0.300	0.450		0.513	

B26	1	16.840	0.300	0.300	1.516
B27	1	16.690	0.300	0.450	2.254
B28	1	14.670	0.300	0.450	1.981
B29	1	6.990	0.300	0.450	0.944
B30	1	5.780	0.300	0.450	0.781
B31	1	6.090	0.300	0.450	0.823
B32	1	9.220	0.300	0.450	1.245
B33	1	7.590	0.300	0.450	1.025
B34	1	9.520	0.300	0.450	1.286
B35	1	15.650	0.300	0.450	2.113
B36	1	16.660	0.300	0.450	2.250
B37	.1	15.480	0.300	0.450	2.090
B38	1	5.500	0.300	0.300	0.495
B39		5.500	0.300	0.450	0.743
B40	(/1)	1.440	0.300	0.300	0.130
B41	****	1.440	0.300	0.300	0.130
B42	1	1.790	0.300	0.300	0.162
B43	Other En	gi2.0601i	ngo.300g	ano.45010ns	0.279
B44	1	2.060	0.300	0.450	0.279
B45	1	4.310	0.300	0.450	0.582
B46	1	6.290	0.300	0.450	0.850
B47	1	5.500	0.300	0.450	0.743
B48	1	1.240	0.300	0.450	0.168
B49	1	4.660	0.300	0.450	0.630
B50	1	0.490	0.250	0.450	0.056
B51	1	0.740	0.250	0.300	0.056
B52	1	0.490	0.250	0.300	0.037
		GROUND	FLOOR RO	OOF SLAB	
S1	1	13.900	3.850	0.150	8.028
S1	1	2.400	4.900	0.150	1.764
S1	1	4.700	6.990	0.150	4.928
S1	1	2.490	4.900	0.150	1.831
S1	1	13.730	3.860	0.150	7.950

	S1	1	14.200	4.780	0.150		10.182	
	S1	1	14.000	4.780	0.150		10.038	
	S1	1	37.230	4.160	0.150		23.232	
	S1	1	10.100	4.180	0.150		6.333	
	S1	1	11.100	4.180	0.150		6.960	
	S1	1	8.100	5.850	0.150		7.108	
	S2	1	23.200	2.090	0.150		7.274	
	S2	1	11.100	2.100	0.150		3.497	
	S3	1	2.930	2.100	0.150		0.923	
	S3	1	16.030	2.330	0.150		5.603	
	S3	1	16.030	1.850	0.150		4.449	
	S3	1	2.360	1.350	0.150		0.478	
		1	TERRACE	SLOPED I	PARAPET			
		1	130.000	1.150	0.130		19.436	
		1/51		STAIRCASE	على	I		
	MAIN STAIR,WAIST SLAB	1	3.610	2.000	0.150		1.083	
		the ² En	2.010	2.000	0.150	ns	1.206	
		2	2.340	2.000	0.150		1.404	
	LANDING	3	2.000	2.000	0.150	1	1.800	
	STEPS	2*0.5*24	2.000	0.300	0.150		2.160	
	LANDING BEAM	1	6.700	0.300	0.700		1.407	
	FIRE STAIR	1	6.280	1.000	0.150		0.942	
		1	2.000	1.000	0.150		0.300	
		0.5*22	1.000	0.250	0.170		0.468	
		1	2.100	0.200	0.450		0.190	
					Tota	al Quantity	520.463 c	um
				Тс	tal Deducte	d Quantity	0.000 cum	1
					Net Tota	al Quantity	520.463 c	um
			Say	y 520.463 cı	um @ Rs 98	3.59 / cum	Rs 51	312.45
16	5.22.6 Steel reinforcement for binding all complete up					•		
	FOOTING	1	154.570			45.0	6955.650	
	1	1	1		1	1	1	

	GRADE BEAM	1	71.010			142.0	10083.420	
	GROUND FLOOR SLAB	1	67.589			70.0	4731.230	
	STUB COLUMN	1	4.410			230.0	1014.301	
	LIFT PIT SHEAR WALL	1	1.171			141.0	165.112	
					Tota	al Quantity	22949.713	kilogram
		d Quantity	0.000 kilog	gram				
		22949.713	kilogram					
		Sa	y 22949.71	3 kilogram @	® Rs 80.29	/ kilogram	Rs 184	2632.46
17	5.22A.6 Steel reinforcement fo binding all complete at					-		
	Ground floor columns	1 4	34.621	S. W	7 13	230.0	7962.831	
	Ground floor roof beam	1	46.118		13	142.0	6548.756	
	Ground floor roof slab	1	110.578			78.5	8680.373	
	Terrace slanting parapet	1	19.436	and the	0%	78.5	1525.726	
	Staircase	ther En	g10.960	ng Orga	anisatio	ns _{140.0}	1534.400	
					Tota	al Quantity	26252.086	kg
				То	tal Deducte	d Quantity	0.000 kg	
		26252.086 kg						
			Sa	ay 26252.08	6 kg @ Rs	80.29 / kg	Rs 210	7779.98
18	6.47 Providing and laying audilooks in super structure with approved block lay Charge. (Thepayment of	re above pl ving polyme	inth level up rmodified ac	to floor Vie Thesive mort	evel with RC	CC band at lete as per o	sill level and direction of E	l lintel leve
			GR	OUND FLO	OR	I	1	
					l		2.728	
	BLOCK WORK	1	4.330	0.200	3.150		2.120	
	BLOCK WORK	1	4.330 5.270	0.200	3.150 3.150		3.321	
	BLOCK WORK							
	BLOCK WORK	1	5.270	0.200	3.150		3.321	
	BLOCK WORK	1	5.270 0.700	0.200	3.150 3.150		3.321 0.441	

	1	2.330	0.200	3.150	1.468
	1	5.750	0.200	3.150	3.623
	1	4.740	0.200	3.150	2.987
	1	5.080	0.200	3.000	3.048
	1	1.750	0.200	3.000	1.050
	1	1.790	0.200	3.000	1.074
	1	3.430	0.200	3.000	2.059
	1	3.420	0.200	3.000	2.052
	1	5.750	0.200	3.150	3.623
	1	4.740	0.200	3.150	2.987
	1	4.240	0.200	3.150	2.672
	1	1.240	0.200	3.000	0.744
	1	5.560	0.200	3.150	3.503
	(t	1.240	0.200	3.000	0.744
	1/1	5.170	0.200	3.150	3.258
	400	4.330	0.200	3.150	2.728
	1	3.490	0.200	3.150	2.199
	ther En	gi3.8001i	ngo.200g	an 3.950 101	ns 2.394
	1 1	4.340	0.200	3.150	2.735
	1	2.960	0.200	3.150	1.865
	1	5.180	0.200	3.600	3.730
INTERNAL WALLS	1	4.300	0.200	3.450	2.967
	1	3.800	0.200	3.000	2.281
	1	2.960	0.200	3.000	1.776
	1	4.030	0.200	3.000	2.418
	1	2.190	0.200	3.000	1.314
	1	4.300	0.200	3.450	2.967
	1	3.390	0.200	3.000	2.035
	2	2.960	0.200	3.000	3.552
	1	3.570	0.200	3.000	2.142
	1	4.290	0.200	3.000	2.575
	1	2.800	0.200	3.450	1.932
	1	2.330	0.200	3.150	1.468

	1	4.030	0.200	3.000		2.418	
	1	4.240	0.200	3.150		2.672	
	1	5.270	0.200	3.150		3.321	
	1	3.400	0.200	3.150		2.142	
	1	8.390	0.200	3.150		5.286	
	1	4.740	0.200	3.150		2.987	
	1	4.240	0.200	3.150		2.672	
	1	5.260	0.200	3.150		3.314	
	1	3.310	0.200	3.150		2.086	
	1	2.300	0.200	3.150		1.449	
	1	1.950	0.200	3.150		1.229	
	1	2.260	0.200	3.000		1.356	
	1	5.750	0.200	3.000		3.450	
	1	4.740	0.200	3.000		2.845	
	1	3.430	0.200	3.000	I.	2.059	
	1	1.870	0.200	3.000		1.122	
	2	2.790	0.200	3.450		3.851	
	Other En	gi2.90011	ngo.200 g	an 3 .45010	ns	2.001	
	1	4.800	0.200	3.450	7	3.312	
	1	3.500	0.200	3.000	1	2.100	
	1	1.940	0.200	3.000		1.165	
	1	1.240	0.200	3.000		0.744	
	1	2.000	0.200	3.450		1.381	
	1	1.910	0.200	3.450		1.318	
	2	1.800	0.200	3.450		2.485	
	1	1.710	0.200	3.450		1.180	
	1	5.900	0.200	3.000		3.541	
10 CM WALLS	1	4.640	0.100	3.450		1.601	
	1	2.700	0.100	3.450		0.932	
	1	6.210	0.100	3.450		2.143	
	2	2.800	0.100	3.450		1.932	
	2	1.500	0.100	3.450		1.036	
	2	1.498	0.100	3.450		1.034	

			1	1		
		1	2.700	0.100	3.450	0.932
		1	2.690	0.100	3.450	0.929
		1	4.630	0.100	3.450	1.598
	20CM WALLS,D1	9	1.000	0.200	2.100	-3.780
	D2	6	1.200	0.200	2.400	-3.455
	D3	6	0.800	0.200	2.100	-2.016
	W2	4	1.000	0.200	1.500	-1.200
	W3	1	1.500	0.200	1.500	-0.450
	W4	12	2.000	0.200	1.500	-7.200
	V	6	0.600	0.200	0.500	-0.360
	RS	3	2.400	0.200	2.400	-3.455
	10CM WALLS,D1	6	1.000	0.100	2.100	-1.260
	D3	1 4	0.800	0.100	2.100	-0.168
		11			Total Quantity	167.716 cum
		151		To	otal Deducted Quantity	-23.344 cum
					Net Total Quantity	144.372 cum
			Say 1	44.372 cum	n @ Rs 8067.08 / cum	Rs 1164660.47
19					anisations	
	12 mm cement plaster	of mix:1:6 (
			GR	OUND FLO	OOR	
	LIFT AND ESCALATOR WORKSHOP	1	47.420		3.450	163.600
	W4	-4*0.5	2.000		1.500	-6.000
	D1	-2*1	1.000		2.100	-4.200
	D2	-1*0.5	1.200		2.100	-1.260
	D3	-1*1	0.800		2.100	-1.680
	RS	-1*0.5	2.400		2.400	-2.880
	GI CABIN	1	10.430		3.450	35.984
	W3	-1*0.5	1.500		1.500	-1.125
	D1	-1*1	1.000		2.100	-2.100
	CHANGING ROOM	1	8.590		3.450	29.636
		4+4	0.000		2.100	-1.680
	D3	-1*1	0.800		2.100	-1.000
	D3 STORE	-1*1 1	9.390		3.450	32.396

		I		
D1	-1*1	1.000	2.100	-2.100
LADIES TOILET	2	5.200	3.450	35.880
V	-2*0.5	0.600	0.500	-0.300
D3	-2*0.5	0.800	2.100	-1.680
DIFFERENTLY ABLED LADIES TOILET		6.800	3.450	23.460
V	-1*0.5	0.600	0.500	-0.150
D1	-1*0.5	1.000	2.100	-1.050
LADIES TOILET WASH AREA	1	11.600	3.450	40.020
D3	-2*0.5	0.800	2.100	-1.680
D1	-2*0.5	1.000	2.100	-2.100
GENTS TOILET	2	5.200	3.450	35.880
D3	-2*0.5	0.800	2.100	-1.680
DIFFERENTLY ABLED GENTS	1.24.66	6.790	3.450	23.426
TOILET			in 19. 2.27	
	-1*0.5	0.600	0.500	-0.150
TOILET	-1*0.5 ther -1*0.5	0.600 gineeri 1.000	ng Organisations 2.100	-0.150 -1.050
TOILET V	-1*0.5	gineeri	ng Organisations	
TOILET V D1 GENTS TOILET	-1*0.5	1.000	ng Organisations 2.100	-1.050
TOILET V D1 GENTS TOILET WASH AREA	-1*0.5	1.000 11.500	2.100 3.450	-1.050 39.676
TOILET V D1 GENTS TOILET WASH AREA D3	-1*0.5 1 -2*0.5	1.000 11.500 0.800	3.450 2.100	-1.050 39.676 -1.680
TOILET V D1 GENTS TOILET WASH AREA D3 D1	-1*0.5 1 -2*0.5 -2*0.5	1.000 11.500 0.800 1.000	2.100 3.450 2.100 2.100	-1.050 39.676 -1.680 -2.100
TOILET V D1 GENTS TOILET WASH AREA D3 D1	-1*0.5 1 -2*0.5 -2*0.5	1.000 11.500 0.800 1.000 7.900	2.100 2.100 2.100 2.100 3.600	-1.050 39.676 -1.680 -2.100 28.440
TOILET V D1 GENTS TOILET WASH AREA D3 D1 LIFT	-1*0.5 1 -2*0.5 -2*0.5 1 1*0.5	1.000 11.500 0.800 1.000 7.900 1.000	2.100 2.100 2.100 2.100 3.600 2.400	-1.050 39.676 -1.680 -2.100 28.440 1.200
TOILET V D1 GENTS TOILET WASH AREA D3 D1 LIFT SURVEYOR LAB	-1*0.5 1 -2*0.5 -2*0.5 1 1*0.5	1.000 11.500 0.800 1.000 7.900 1.000 3.750	2.100 2.100 2.100 2.100 2.100 3.600 2.400 3.450	-1.050 39.676 -1.680 -2.100 28.440 1.200 12.938
TOILET V D1 GENTS TOILET WASH AREA D3 D1 LIFT SURVEYOR LAB D1	-1*0.5 -2*0.5 -2*0.5 1 1*0.5 1 -1*0.5	1.000 11.500 0.800 1.000 7.900 1.000 3.750 1.000	2.100 2.100 2.100 2.100 3.600 2.400 3.450 2.100	-1.050 39.676 -1.680 -2.100 28.440 1.200 12.938 -1.050
TOILET V D1 GENTS TOILET WASH AREA D3 D1 LIFT SURVEYOR LAB D1 D2	-1*0.5 -2*0.5 -2*0.5 1 1*0.5 1 -1*0.5 -1*0.5	1.000 11.500 0.800 1.000 7.900 1.000 3.750 1.000 1.200	2.100 2.100 2.100 2.100 3.600 2.400 3.450 2.100 2.400	-1.050 39.676 -1.680 -2.100 28.440 1.200 12.938 -1.050 -1.440
TOILET V D1 GENTS TOILET WASH AREA D3 D1 LIFT SURVEYOR LAB D1 D2 W4	-1*0.5 -2*0.5 -2*0.5 1 1*0.5 1 -1*0.5 -1*0.5 -1*0.5 -2*0.5	1.000 11.500 0.800 1.000 7.900 1.000 3.750 1.000 1.200 2.000	2.100 2.100 2.100 2.100 3.600 2.400 3.450 2.100 1.500	-1.050 39.676 -1.680 -2.100 28.440 1.200 12.938 -1.050 -1.440 -3.000
TOILET V D1 GENTS TOILET WASH AREA D3 D1 LIFT SURVEYOR LAB D1 D2 W4 W2	-1*0.5 -2*0.5 -2*0.5 1 1*0.5 1 -1*0.5 -1*0.5 -2*0.5 -2*0.5	1.000 11.500 0.800 1.000 7.900 1.000 1.000 1.200 2.000 1.000	2.100 2.100 2.100 2.100 3.600 2.400 3.450 2.100 1.500	-1.050 39.676 -1.680 -2.100 28.440 1.200 12.938 -1.050 -1.440 -3.000 -1.500
TOILET V D1 GENTS TOILET WASH AREA D3 D1 LIFT SURVEYOR LAB D1 D2 W4 W2 RS	-1*0.5 -2*0.5 -2*0.5 1 1*0.5 1 -1*0.5 -1*0.5 -2*0.5 -2*0.5 -2*0.5 -1*0.5	1.000 11.500 0.800 1.000 7.900 1.000 1.000 1.200 2.000 1.000 2.400	2.100 2.100 2.100 2.100 3.600 2.400 3.450 2.100 2.400 1.500 1.500 2.400	-1.050 39.676 -1.680 -2.100 28.440 1.200 12.938 -1.050 -1.440 -3.000 -1.500 -2.880

D1	-1*0.5	1.000	2.100	-1.050
STAFFROOM	1	29.500	3.450	101.775
D1	-1*0.5	1.000	2.100	-1.050
D3	-2*0.5	0.800	2.100	-1.680
TOILET	2	6.620	3.450	45.679
D3	-2*0.5	0.800	2.100	-1.680
V	-1*0.5	0.600	0.500	-0.150
DRAUGHTSMAN MECHANICAL LAB	1	40.300	3.450	139.035
D2	-2*0.5	1.200	2.400	-2.880
D1	-2*0.5	1.000	2.100	-2.100
W4	-2*0.5	2.000	1.500	-3.000
W2	-2*0.5	1.000	1.500	-1.500
STORE	1	9.500	3.450	32.775
D1	-1*1	1.000	2.100	-2.100
GI CABIN	1	10.600	3.450	36.570
D1	-1*1	1.000	2.100	-2.100
ELECTRONIC MECHANICAL LAB	ther En	g40.200ring Org	gani 456ions	138.691
W4	-2*0.5	2.000	1.500	-3.000
D2	-1*0.5	1.200	2.400	-1.440
D1	-2*1	1.000	2.100	-4.200
RS	-1*0.5	2.400	2.400	-2.880
GI CABIN	1	10.490	3.450	36.191
W4	-1*0.5	2.000	1.500	-1.500
D1	-1*1	1.000	2.100	-2.100
STORE	1	9.600	3.450	33.120
D1	-1*1	1.000	2.100	-2.100
 ELECTRICAL ROOM	1	11.790	3.450	40.676
W4	-1*0.5	2.000	1.500	-1.500
D1	-1*0.5	1.000	2.100	-1.050
START UP CELL	1	14.040	3.450	48.438
D1	-1*0.5	1.000	2.100	-1.050

	PASSAGE	1	63.340	3.450	218.524
	D2	-6*0.5	1.200	2.400	-8.640
	D1	-2*0.5	1.000	2.100	-2.100
	RS	-3*0.5	2.400	2.400	-8.640
	WAITING LOUNGE	1	23.800	3.450	82.111
	STAIR	1	9.960	3.450	34.362
	TOILET-OUTSIDE AREA	1	30.560	3.450	105.432
	V	-2*0.5	0.600	0.500	-0.300
	D1	-3*0.5	1.000	2.100	-3.150
			TERRA	CE FLOOR	
	LIFT	1	7.900	3.000	23.701
		1	7 5W	Total Qua	ntity 1578.077 sqm
		11		Total Deducted Qua	ntity 0.000 sqm
			11319624	51 V 75 V	
20	13.4.1		Say 1578	Net Total Qua	
20	13.4.1 12 mm cement plaster of	ther En	1 cement : 4 co	arse sand)	
20		ther En	1 cement : 4 co	.077 sqm @ Rs 238.66 / s	
20		ther En	1 cement : 4 co	arse sand)	sqm Rs 376623.86
20		ther En	1 cement : 4 co	arse sand) PLASTER-EXTERNAL 3.600	8qm Rs 376623.86
20		ther En	1 cement : 4 co	arse sand) PLASTER-EXTERNAL 3.600 3.600	51.120 68.760
20		ther En	1 cement : 4 co	arse sand) PLASTER-EXTERNAL 3.600 3.600	51.120 68.760 37.441
20		ther En	1 cement : 4 co	2.077 sqm @ Rs 238.66 / squares sand) PLASTER-EXTERNAL 3.600 3.600 3.600	51.120 68.760 37.441 30.636
20		ther En 12 D1 1 1 1 1	1 cement : 4 co 2MM CEMENT I 14.200 19.100 10.400 8.510 6.590	2.077 sqm @ Rs 238.66 / s arse sand) PLASTER-EXTERNAL 3.600 3.600 3.600 3.600	51.120 68.760 37.441 30.636 23.724
20		ther En 12 D1 1 1 1 1 1	1 cement : 4 co 2MM CEMENT I 14.200 19.100 10.400 8.510 6.590 7.310	2.077 sqm @ Rs 238.66 / s arse sand) PLASTER-EXTERNAL 3.600 3.600 3.600 3.600 3.600	51.120 68.760 37.441 30.636 23.724 26.316
20		ther En 12 D1 1 1 1 1 1 1	1 cement : 4 co 2MM CEMENT I 14.200 19.100 10.400 8.510 6.590 7.310 11.400	2.077 sqm @ Rs 238.66 / s arse sand) PLASTER-EXTERNAL 3.600 3.600 3.600 3.600 3.600 3.600 3.600	51.120 68.760 37.441 30.636 23.724 26.316 41.040
20		ther En 12 D1 1 1 1 1 1 1 1 1 1	1 cement : 4 co 2MM CEMENT I 14.200 19.100 10.400 8.510 6.590 7.310 11.400 33.130	3.600 3.600 3.600 3.600 3.600 3.600 3.600	51.120 68.760 37.441 30.636 23.724 26.316 41.040 119.269
20		ther En 12 D1 1 1 1 1 1 1 1 1 1 1 1 1	1 cement : 4 co 2MM CEMENT I 14.200 19.100 10.400 8.510 6.590 7.310 11.400 33.130 7.710	3.600 3.600 3.600 3.600 3.600 3.600 3.600 3.600 3.600	51.120 68.760 37.441 30.636 23.724 26.316 41.040 119.269 27.756
20		ther En 12 D1 1 1 1 1 1 1 1 1 1 1 1 1	1 cement : 4 co 2MM CEMENT I 14.200 19.100 10.400 8.510 6.590 7.310 11.400 33.130 7.710 2.990	3.600 3.600 3.600 3.600 3.600 3.600 3.600 3.600 3.600 3.600 3.600	51.120 68.760 37.441 30.636 23.724 26.316 41.040 119.269 27.756 10.765
20	12 mm cement plaster of	ther En 12 D1 1 1 1 1 1 1 1 1 1 1 1 1	1 cement : 4 co 2MM CEMENT I 14.200 19.100 10.400 8.510 6.590 7.310 11.400 33.130 7.710 2.990 3.600	3.600 3.600 3.600 3.600 3.600 3.600 3.600 3.600 3.600 3.600 3.600 3.600	51.120 68.760 37.441 30.636 23.724 26.316 41.040 119.269 27.756 10.765

	V	-4*0.5	0.600		0.500		-0.600	
	D2	-1*0.5	1.200		2.400		-1.440	
				TF				
	PARAPET	1	118.000		0.900		106.200	
	LIFT	1	9.300		3.000		27.901	
					Tota	al Quantity	559.723 s	qm
				To	otal Deducte	d Quantity	0.000 sqm	1
					Net Tota	al Quantity	559.723 s	qm
			Say	559.723 sq	m @ Rs 256	6.54 / sqm	Rs 143	3591.3
21	13.16.1 6 mm cement plaster o	f mix:1:3 (1	cement : 3 f	ine sand)				
		GR	OUND FLOO	OR CEILING	G PLASTER	ING	T	
	LIFT AND ESCALATOR WORKSHOP		11.090	8.650			95.929	
		1	2.990	2.030	بالمؤسارة	J.	6.070	
	GI CABIN	1	3.000	2.810			8.430	
	CHANGING ROOM	1	3.000	1.500			4.500	
	STORE	ther Er	gi <u>3.00</u> 01i	ng _{2.290} g	anisatic	ns	6.870	
		1	2.100	4.890	7 1	7	10.269	
		1	2.500	4.890			12.225	
	LADIES TOILET	1	4.700	3.600			16.920	
	GENTS TOILET	1	4.700	3.390			15.934	
	ELECTRICAL ROOM	1	2.530	3.860			9.766	
	START -UP CELL	1	2.830	4.780			13.528	
	SURVEYOR LAB	1	7.300	8.650			63.145	
		1	2.890	3.650			10.549	
	STORE	1	2.890	2.200			6.359	
	GI CABIN	1	2.900	2.790			8.091	
	STAFFROOM	1	6.660	1.360			9.058	
		1	4.460	5.330			23.772	
		1	2.200	1.510			3.323	
	STAFF TOILET	2	2.200	1.910			8.404	

				ı	1	
	ECTRONIC CHANICAL LAB	1	8.390	8.600		72.154
		1	2.800	3.600		10.080
STO	ORE	1	2.800	2.840		7.952
GI (CABIN	1	2.800	2.840		7.952
	AUGHTSMAN CHANICAL LAB	1	8.400	8.650		72.661
		1	2.990	3.610		10.794
STO	ORE	1	2.990	2.300		6.877
GI (CABIN	1	2.990	2.730		8.163
PAS	SSAGE	1	37.230	1.790		66.642
WA	ITING LOUNGE	1	8.960	6.690		59.943
EN	TRANCE	1	8.100	2.800	3	22.680
CAI	RPORCH	1	8.800	5.000	1 4 1	44.000
		G	ROUND FL	OOR ISOLA	ATED BEAMS	
E S	FT AND SCALATOR ORKSHOP	1	10.890		0.450	4.901
	0	the ? En	gj7.150rj	ng Org	an ^{0.450} ions	6.436
СН	ANGING ROOM	1 1	2.700		0.450	1.215
		1	2.100		0.300	0.630
		1	2.200		0.300	0.660
SUI	RVEYOR LAB	1	7.000		0.450	3.150
		1	7.140		0.450	3.213
STO	ORE	1	2.900		0.450	1.305
STA	AFFROOM	1	6.060		0.450	2.727
	ECTRONIC CHANICAL LAB	1	8.090		0.300	2.427
		1	7.140		0.450	3.213
	AUGHTSMAN CHANICAL LAB	1	8.100		0.450	3.645
		1	7.140		0.450	3.213
STO	ORE	1	2.690		0.450	1.211
PAS	SSAGE	6	1.790		0.450	4.833
WA	ITING LOUNGE	1	8.960		0.450	4.033

	1	5.740		0.450		2.583	
	1	4.000		0.300		1.200	
ENTRANCE	1	6.900		0.300		2.070	
	2	1.540		0.450		1.387	
CARPORCH	3	5.550		0.450		7.493	
	1	6.290		0.450		2.831	
				Tota	al Quantity	787.416 s	qm
			To	tal Deducte	d Quantity	0.000 sqn	1
				Net Tota	al Quantity	787.416 s	qm
		Say	787.416 sqı	m @ Rs 203	3.98 / sqm	Rs 160	0617.12
be allowed to air cure for proofing cement composite with water curing for 4 joints, corners, junction	ound @ 0.1 8 hours. T	26 kg/ sqm. he rate inclusion	This layer udes prepar	will be allow ration of su ymer mixed	ved to air cu rface, treati	ire for 4 hou	ırs followe
		WAT	TER PROOF	FING	T	T	T
LADIES TOILET	thez Er	gi11100 ri	ng.500g	anisatic	ns	3.301	
	2*2	1.1+1.5		0.300		3.120	
L A D I E S DIFFERENTLY ABLED TOILET	1	1.900	1.500			2.850	
	1*2	1.9+1.5		0.300		2.040	
GENTS TOILET	2	1.100	1.500			3.301	
	2*2	1.1+1.5		0.300		3.120	
G E N T S DIFFERENTLY ABLED TOILET	1	1.900	1.500			2.850	
	1*2	1.9+1.5		0.300		2.040	
STAFFROOM TOILET	2	1.800	1.500			5.400	
	2*2	1.8+1.5		0.300		3.960	
				Tota	al Quantity	31.982 sq	m
			Тс	otal Deducte	d Quantity	0.000 sqn	1
				Net Tota	al Quantity	31.982 sq	m

			Say	/ 31.982 sq	m @ Rs 423	3.14 / sqm	Rs 13	532.86		
23	Providing and laying vitrified floor tiles in different sizes (thickness to be specified by the manufacturer with water absorption less than 0.08% and conforming to IS: 15622, of approved make, in all colours and shades, laid on 20 mm thick cement mortar 1:4(1 cement: 4 coarse sand), including grouting the joint with white cement and matching pigments etc., complete. Size of Tile 600 x 600 mm.									
		(GROUND FL	OOR VITE	RIFIED TILES	S 	1			
	LIFT AND ESCALATOR WORKSHOP	1	11.000	8.240			90.640			
		1	2.800	1.840			5.152			
		2	23.880	P.	0.100		4.776			
	GI CABIN	1	2.700	2.500			6.750			
		2	2.7+2.5		0.100		1.040			
	CHANGING ROOM	1 4	2.700	1.500	7 11		4.051			
		2	2.7+1.5		0.100		0.841			
	STORE	1	2.700	2.000		ب	5.400			
		1	2.100	4.690	Sp.		9.850			
		1	2.200	4.690			10.319			
	0	ther En	918.380	ng Org	anisatio	ns	3.676			
	ELECTICAL ROOM	1	2.440	3.460	I		8.443			
		2	2.44+3.46		0.100	-	1.181			
	START-UP CELL	1	2.440	4.590			11.200			
		2	2.44+4.59		0.100		1.406			
	ELECTRONIC MECHANICAL LAB	1	8.200	8.250			67.650			
		1	2.800	3.400			9.520			
		2	22.650		0.100		4.530			
	GI CABIN	1	2.700	2.550			6.885			
		2	2.7+2.55		0.100		1.050			
	STORE	1	2.700	2.200			5.941			
		2	2.7+2.2		0.100		0.981			
	SURVEYOR LAB	1	7.100	8.250			58.575			
		1	2.900	3.440			9.976			
		2	21.690		0.100		4.338			

	STORE	1	2.700	2.000			5.400	
		2	2.7+2		0.100		0.941	
	GI CABIN	1	2.700	2.500			6.750	
		2	2.7+2.5		0.100		1.040	
	DRAUGHTSMAN MECHANICAL LAB	1	11.000	3.400			37.400	
		1	8.200	4.840			39.688	
		2	27.440		0.100		5.488	
	STORE	1	2.690	2.000			5.380	
		2	2.69+2	1000	0.100		0.938	
	GI CABIN	1	2.690	2.550			6.860	
		2	2.69+2.55		0.100		1.048	
	STAFFROOM	1	6.260	1.170	1		7.325	
		1	4.260	5.130	LAI		21.854	
	0.00	2	16.820		0.100	ř.,	3.365	
	PASSAGE	2	16.840	1.790			60.288	
		2	2.000	0.990			3.960	
		thet Fr	3.830	1.730	anisatio	ns	6.626	
		2	48.130		0.100		9.627	
	WAITING LOUNGE	1	8.970	6.300	, II-	1	56.511	
		1	22.600		0.100		2.261	
	ENTRANCE	1	8.100	1.650			13.365	
					Tota	al Quantity	630.286 s	qm
				To	otal Deducted	d Quantity	0.000 sqm	1
					Net Tota	l Quantity	630.286 s	qm
			Say 6	30.286 sqm	ı @ Rs 1587	.87 / sqm	Rs 100	0812.23
24	11.36		-	-		-	1	
	Providing and fixing I	st quality of	ceramic glaz	ed wall tile	es conformir	ng to IS: 1	15622 (thick	ness to be
	specified by the manuf	•				•		•
	black of any size as ap thick bed of cement mo	-	-	_	=	-		
	per sqm, including poir	•						
			CERAMIC				•	
	LADIES TOILET	2	5.200		2.100		21.841	
	т.							

				1				
	L A D I E S DIFFERENTLY ABLED TOILET	1	6.800		2.100		14.280	
	WASH AREA	1	11.600		0.600		6.960	
	GENTS TOILET	2	5.200		2.100		21.841	
	G E N T S DIFFERENTLY ABLED TOILET	1	6.800		2.100		14.280	
	WASH AREA	1	11.600		0.600		6.960	
	STAFF TOILET	2	6.600		2.100		27.720	
	WASH AREA	1	5.500		0.600		3.300	
	D3	-6	0.800		2.100		-10.080	
	D1	-4	1.000		2.100		-8.400	
	V	-6	0.600	K X	0.500		-1.799	
		1/2		38.WA	Total	Quantity	96.903 sq	m
		155	儿婆	To	otal Deducted	Quantity	0.000 sqn	ı
					Net Total	Quantity	96.903 sq	m
			Say	96.903 sqm	n @ Rs 1056.5	60 / sqm	Rs 102	2378.02
25	Providing and laying C manufacturer), of 1st qu White, Ivory, Grey, Fu Coarse sand), including	uality confo me Red Br	rming to IS own, laid o	: 15622, of n 20 mm th	approved mal	ke, in all c ement mo	colours, sha rtar 1:4 (1	des, except cement : 4
			CERAMIC (GLAZED FL	OOR TILES		1	
	LADIES TOILET	2	1.100	1.500			3.301	
	L A D I E S DIFFERENTLY ABLED TOILET	1	1.900	1.500			2.850	
	WASH AREA	1	4.300	1.500			6.450	
	GENTS TOILET	2	1.100	1.500			3.301	
	G E N T S DIFFERENTLY ABLED TOILET	1	1.900	1.500			2.850	
	WASH AREA	1	4.300	1.500			6.450	
	STAFF TOILET	2	1.800	1.500			5.400	
	WASH AREA	1	2.000	1.500			3.000	

					Tota	al Quantity	33.602 sq	m
				То	tal Deducte	•	0.000 sqm	
					Net Tota	al Quantity	33.602 sq	m
	Say 33.602 sqm @ Rs 1060.90 / sqm Rs 35648.36							
26	od219580/2019_2020 Supply and install ex similar different colour grouting and jointing approved tile joint fille	rs, tile shall as directed	be laid and by engineer	fixed to pre using appro	plastered w	alls in patte	erns, style a	nd forms of
	fin wall at widows	17*2	0.600		4.7		95.880	
	,,	17	0.150	60.	4.900		12.495	
	fin at corner	4*2	0.850	301	4.700		31.960	
	,,	4	0.150		4.900		2.940	
		6	J. J	K N	Tota	al Quantity	143.275 s	qm
			1 100	То	tal Deducte	d Quantity	0.000 sqm	1
		152			Net Tota	al Quantity	143.275 sqm	
		4800	Say 1	43.275 sqm	@ Rs 1176	5.09 / sqm	Rs 168	3504.29
27	od219670/2019_2020 Supply and install ex cladding, tile shall be jointing as directed by joint filler matching the	laid and fixed engineer u	ed to pre- pl sing approv	astered wall	s in patterr	s, style and	forms of g	routing and
	ed .	12	2.000		0.600		14.400	
		4	1.000		0.600		2.400	
		1	1.500		0.600		0.900	
					Tota	al Quantity	17.700 sq	m
				То	tal Deducte	d Quantity	0.000 sqm	1
					Net Tota	al Quantity	17.700 sq	m
			Say	17.700 sqm	@ Rs 1186	5.95 / sqm	Rs 21	009.02
28	13.43.1 Applying one coat of surface:Water thinna			nt primer o	f approved	brand and	I manufactı	ure on wall
			GR	OUND FLO	OR			
	LIFT AND ESCALATOR WORKSHOP		47.420		3.450		163.600	

W4	-4*0.5	2.000	1.500	-6.000
D1	-2*1	1.000	2.100	-4.200
D2	-1*0.5	1.200	2.100	-1.260
D3	-1*1	0.800	2.100	-1.680
RS	-1*0.5	2.400	2.400	-2.880
GI CABIN	1	10.430	3.450	35.984
W3	-1*0.5	1.500	1.500	-1.125
D1	-1*1	1.000	2.100	-2.100
CHANGING ROOM	1	8.590	3.450	29.636
D3	-1*1	0.800	2.100	-1.680
STORE	1	9.390	3.450	32.396
D1	-1*1	1.000	2.100	-2.100
LADIES TOILET	2	5.200	3.450	35.880
V	-2*0.5	0.600	0.500	-0.300
D3	-2*0.5	0.800	2.100	-1.680
DIFFERENTLY ABLED LADIES TOILET	1	6.800	3.450	23.460
V	ther Er -1*0.5	gineering O	rganisations 0.500	-0.150
D1	-1*0.5	1.000	2.100	-1.050
LADIES TOILET WASH AREA	1	11.600	3.450	40.020
D3	-2*0.5	0.800	2.100	-1.680
D1	-2*0.5	1.000	2.100	-2.100
GENTS TOILET	2	5.200	3.450	35.880
D3	-2*0.5	0.800	2.100	-1.680
DIFFERENTLY ABLED GENTS TOILET	1	6.790	3.450	23.426
V	-1*0.5	0.600	0.500	-0.150
D1	-1*0.5	1.000	2.100	-1.050
GENTS TOILET WASH AREA	1	11.500	3.450	39.676
D3	-2*0.5	0.800	2.100	-1.680
D1	-2*0.5	1.000	2.100	-2.100

LIFT	1	7.900	3.600	28.440
	1*0.5	1.000	2.400	1.200
SURVEYOR LAB	1	3.750	3.450	12.938
D1	-1*0.5	1.000	2.100	-1.050
D2	-1*0.5	1.200	2.400	-1.440
W4	-2*0.5	2.000	1.500	-3.000
W2	-2*0.5	1.000	1.500	-1.500
RS	-1*0.5	2.400	2.400	-2.880
STORE	1	9.390	3.450	32.396
D1	-1*0.5	1.000	2.100	-1.050
GI CABIN	1	10.600	3.450	36.570
D1	-1*0.5	1.000	2.100	-1.050
STAFFROOM	1 4	29.500	3.450	101.775
D1	-1*0.5	1.000	2.100	-1.050
D3	-2*0.5	0.800	2.100	-1.680
TOILET	2	6.620	3.450	45.679
D3	-2*0.5	0.800	2.100	-1.680
V	the 10.5En	gio.600 ring Org	ano.500ions	-0.150
DRAUGHTSMAN MECHANICAL LAB	P ₁]	40.300	3.450	139.035
D2	-2*0.5	1.200	2.400	-2.880
D1	-2*0.5	1.000	2.100	-2.100
W4	-2*0.5	2.000	1.500	-3.000
W2	-2*0.5	1.000	1.500	-1.500
STORE	1	9.500	3.450	32.775
D1	-1*1	1.000	2.100	-2.100
GI CABIN	1	10.600	3.450	36.570
D1	-1*1	1.000	2.100	-2.100
 ELECTRONIC MECHANICAL LAB	1	40.200	3.450	138.691
W4	-2*0.5	2.000	1.500	-3.000
D2	-1*0.5	1.200	2.400	-1.440
 D1	-2*1	1.000	2.100	-4.200

RS	-1*0.5	2.400		2.400	-2.880
GI CABIN	1	10.490		3.450	36.191
W4	-1*0.5	2.000		1.500	-1.500
D1	-1*1	1.000		2.100	-2.100
STORE	1	9.600		3.450	33.120
D1	-1*1	1.000		2.100	-2.100
ELECTRICAL ROOM	1	11.790		3.450	40.676
W4	-1*0.5	2.000		1.500	-1.500
D1	-1*0.5	1.000		2.100	-1.050
START UP CELL	1	14.040		3.450	48.438
D1	-1*0.5	1.000	190	2.100	-1.050
PASSAGE	1	63.340		3.450	218.524
D2	-6*0.5	1.200	S. W	2.400	-8.640
D1	-2*0.5	1.000	NA	2.100	-2.100
RS	-3*0.5	2.400		2.400	-8.640
WAITING LOUNGE	1	23.800		3.450	82.111
STAIR	1	9.960	IN DEPEN	3.450	34.362
TOILET-OUTSIDE	ther Er	gineeri 30.560	ng Org	anisations 3.450	105.432
V	-2*0.5	0.600		0.500	-0.300
D1	-3*0.5	1.000		2.100	-3.150
		TEF	RRACE FLO	OOR	
LIFT	1	7.900		3.000	23.701
	GR	OUND FLO	OR CEILING	G PLASTERING	
LIFT AND ESCALATOR WORKSHOP	1	11.090	8.650		95.929
	1	2.990	2.030		6.070
 GI CABIN	1	3.000	2.810		8.430
CHANGING ROOM	1	3.000	1.500		4.500
STORE	1	3.000	2.290		6.870
	1	2.100	4.890		10.269
	1	2.500	4.890		12.225
LADIES TOILET	1	4.700	3.600		16.920

CENTS TOUET	4	4.700	2 200			45.024	
GENTS TOILET	. 1	4.700	3.390			15.934	
ELECTRICAL ROOM	. 1	2.530	3.860			9.766	
START -UP CELL	1	2.830	4.780			13.528	
SURVEYOR LAB	1	7.300	8.650			63.145	
	1	2.890	3.650			10.549	
STORE	1	2.890	2.200			6.359	
GI CABIN	1	2.900	2.790			8.091	
 STAFFROOM	1	6.660	1.360			9.058	
	1	4.460	5.330			23.772	
	1	2.200	1.510			3.323	
STAFF TOILET	2	2.200	1.910			8.404	
ELECTRONIC MECHANICAL LAB	1-0	8.390	8.600	700		72.154	
	1	2.800	3.600	431		10.080	
STORE	1	2.800	2.840	3 50	1	7.952	
GI CABIN	1	2.800	2.840			7.952	
DRAUGHTSMAN MECHANICAL LAB	1	8.400	8.650			72.661	
0	ther Er	191neeri 2.990	ng Org 3.610	anisatio	ns	10.794	
STORE	1	2.990	2.300			6.877	
GI CABIN	1	2.990	2.730		7	8.163	
PASSAGE	1	37.230	1.790			66.642	
WAITING LOUNGE	1	8.960	6.690			59.943	
ENTRANCE	1	8.100	2.800			22.680	
CARPORCH	1	8.800	5.000			44.000	
	G	ROUND FL	OOR ISOLA	ATED BEAM	IS		
LIFT AND ESCALATOR WORKSHOP	1	10.890		0.450		4.901	
	2	7.150		0.450		6.436	
CHANGING ROOM	1	2.700		0.450		1.215	
	1	2.100		0.300		0.630	
	1	2.200		0.300		0.660	
SURVEYOR LAB	1	7.000		0.450		3.150	

E L E C MECHA DRAU MECHA STORE PASSAG WAITING ENTRAN CARPOR 29 13.50.3 Applying manufact red o	FFROOM	1	0.000		0.450		1 205	
E L E C MECHA D R A U MECHA STORE PASSAG WAITING ENTRAN CARPOR 29 13.50.3 Applying manufactors of a column	IFFROOM		2.900		0.450		1.305	
DRAU MECHA STORE PASSAG WAITING ENTRAN CARPOR 29 13.50.3 Applying manufac		1	6.060		0.450		2.727	
STORE PASSAG WAITING ENTRAN CARPOR 29 13.50.3 Applying manufactors of a company of the compan	ECTRONIC CHANICAL LAB	1	8.090		0.300		2.427	
STORE PASSAG WAITING ENTRAN CARPOR 29 13.50.3 Applying manufactors of a company of the compan		1	7.140		0.450		3.213	
PASSAG WAITING ENTRAN CARPOR 29 13.50.3 Applying manufactors of the column of the col	AUGHTSMAN CHANICAL LAB	1	8.100		0.450		3.645	
PASSAG WAITING ENTRAN CARPOR 29 13.50.3 Applying manufac		1	7.140		0.450		3.213	
ENTRAN CARPOR 13.50.3 Applying manufactors of the documents of the control of	RE	1	2.690		0.450		1.211	
ENTRAN CARPOR 13.50.3 Applying manufactors of the documents of the control of	SAGE	6	1.790	B.	0.450		4.833	
CARPOR 29 13.50.3 Applying manufactors	TING LOUNGE	1	8.960	M.S.	0.450		4.033	
CARPOR 29 13.50.3 Applying manufactors		1	5.740	8 2	0.450		2.583	
CARPOR 29 13.50.3 Applying manufactors red o		1	4.000	51/1	0.300		1.200	
29 13.50.3 Applying manufac	RANCE	1	6.900		0.300	ķ	2.070	
29 13.50.3 Applying manufac		2	1.540	FSY.	0.450		1.387	
Applying manufac red o	RPORCH	3	5.550		0.450		7.493	
Applying manufac red o		1	6.290	4 310	0.450		2.831	
Applying manufac red o	0	mer E	ngineeri	ng Org	amsauo Tota	nS al Quantity	2365.493	sqm
Applying manufac red o			D	To	otal Deducte	d Quantity	0.000 sqm	1
Applying manufac red o					Net Tota	al Quantity	2365.493	sqm
Applying manufac red o			Say	2365.493 s	qm @ Rs 52	2.41 / sqm	Rs 123	3975.49
	50.3 lying priming coat nufacture on steel		-		nc chromat	e primer of	f approved	brand
			red oxide	zinc chrom	ate primer	T	T	
	oxide zinc omate primer	1	65.250	1.000	1.000		65.250	
before e _l	re epoxy paint	1	150.720	1.000	1.000		150.720	
					Tota	al Quantity	215.970 s	qm
				To	otal Deducte	d Quantity	0.000 sqm	1
					Net Tota	al Quantity	215.970 s	qm
							1	

grams/litre, of approved brand and manufacture including applying additional coats wherever required, to achieve even shade and colour. Two coats **GROUND FLOOR** LIFT AND ESCALATOR 1 47.420 3.450 163.600 WORKSHOP W4 -4*0.5 1.500 2.000 -6.000 D1 -2*1 1.000 2.100 -4.200 D2 -1*0.51.200 2.100 -1.260D3 -1*1 0.800 2.100 -1.680 RS -1*0.52.400 2.400 -2.880**GI CABIN** 1 10.430 3.450 35.984 W3 -1*0.5 1.500 1.500 -1.125 -1*1 D1 1.000 2.100 -2.100 **CHANGING ROOM** 1 8.590 3.450 29.636 D3 -1*1 0.800 2.100 -1.680 **STORE** 1 9.390 3.450 32.396 -1*1 1.000 D1 2.100 -2.100thez E 15.200 ring ns 1113,45010 LADIES TOILET 35.880 -2*0.5 0.600 0.500 -0.300 D3 -2*0.50.800 2.100 -1.680 DIFFERENTLY ABLED LADIES 1 6.800 3.450 23.460 TOILET ٧ -1*0.5 0.600 0.500 -0.150D1 -1*0.5 1.000 2.100 -1.050 LADIES TOILET 11.600 3.450 40.020 1 WASH AREA D3 -2*0.5 0.800 2.100 -1.680D1 -2*0.5 1.000 2.100 -2.100 2 35.880 **GENTS TOILET** 5.200 3.450 D3 -2*0.5 0.800 2.100 -1.680 DIFFERENTLY ABLED GENTS 1 6.790 3.450 23.426 TOILET

V		-1*0.5	0.600		0.500	-0.150
D1		-1*0.5	1.000		2.100	-1.050
	NTS TOILET SH AREA	1	11.500		3.450	39.676
D3		-2*0.5	0.800		2.100	-1.680
D1		-2*0.5	1.000		2.100	-2.100
LIFT		1	7.900		3.600	28.440
		1*0.5	1.000		2.400	1.200
SUR	VEYOR LAB	1	3.750		3.450	12.938
D1		-1*0.5	1.000		2.100	-1.050
D2		-1*0.5	1.200		2.400	-1.440
W4		-2*0.5	2.000		1.500	-3.000
W2		-2*0.5	1.000	# W	1.500	-1.500
RS		-1*0.5	2.400	$20/\lambda$	2.400	-2.880
STO	RE	1	9.390		3.450	32.396
D1		-1*0.5	1.000	\$500 X 1	2.100	-1.050
GI C	ABIN	1	10.600	in all ball	3.450	36.570
D1	\cap	1+-1*0.5	1.000	no Oros	2.100	ns -1.050
STAF	FROOM	1	29.500		3.450	101.775
D1		-1*0.5	1.000		2.100	-1.050
D3		-2*0.5	0.800		2.100	-1.680
TOIL	ET	2	6.620		3.450	45.679
D3		-2*0.5	0.800		2.100	-1.680
V		-1*0.5	0.600		0.500	-0.150
	AUGHTSMAN HANICAL LAB	1	40.300		3.450	139.035
D2		-2*0.5	1.200		2.400	-2.880
D1		-2*0.5	1.000		2.100	-2.100
W4		-2*0.5	2.000		1.500	-3.000
W2		-2*0.5	1.000		1.500	-1.500
STO	RE	1	9.500		3.450	32.775
D1		-1*1	1.000		2.100	-2.100
GI C	ABIN	1	10.600		3.450	36.570

D1	-1*1	1.000		2.100	-2.100
E L E C T R O N I C MECHANICAL LAB	1	40.200		3.450	138.691
W4	-2*0.5	2.000		1.500	-3.000
D2	-1*0.5	1.200		2.400	-1.440
D1	-2*1	1.000		2.100	-4.200
RS	-1*0.5	2.400		2.400	-2.880
GI CABIN	1	10.490		3.450	36.191
W4	-1*0.5	2.000		1.500	-1.500
D1	-1*1	1.000	17.22	2.100	-2.100
STORE	1	9.600	(B)	3.450	33.120
D1	-1*1	1.000		2.100	-2.100
ELECTRICAL ROOM	1	11.790	Q N	3.450	40.676
W4	-1*0.5	2.000	RVG	1.500	-1.500
D1	-1*0.5	1.000		2.100	-1.050
START UP CELL	1	14.040		3.450	48.438
D1	-1*0.5	1.000	S 0 2	2.100	-1.050
PASSAGE	the l Er	63.340	no Oros	3.450	218.524
D2	-6*0.5	1.200		2.400	-8.640
D1	-2*0.5	1.000		2.100	-2.100
RS	-3*0.5	2.400		2.400	-8.640
WAITING LOUNGE	1	23.800		3.450	82.111
STAIR	1	9.960		3.450	34.362
TOILET-OUTSIDE AREA	1	30.560		3.450	105.432
V	-2*0.5	0.600		0.500	-0.300
D1	-3*0.5	1.000		2.100	-3.150
		TEF	RRACE FLC	OR	
LIFT	1	7.900		3.000	23.701
	GR	OUND FLO	OR CEILING	PLASTERING	3
LIFT AND ESCALATOR WORKSHOP	1	11.090	8.650		95.929
	1	2.990	2.030		6.070

GI CABIN	1	3.000	2.810		8.430
CHANGING ROOM	1	3.000	1.500		4.500
STORE	1	3.000	2.290		6.870
	1	2.100	4.890		10.269
	1	2.500	4.890		12.225
LADIES TOILET	1	4.700	3.600		16.920
GENTS TOILET	1	4.700	3.390		15.934
ELECTRICAL ROOM	1	2.530	3.860		9.766
START -UP CELL	1	2.830	4.780		13.528
SURVEYOR LAB	1	7.300	8.650		63.145
	1	2.890	3.650		10.549
STORE	1	2.890	2.200		6.359
GI CABIN	1	2.900	2.790		8.091
STAFFROOM	1	6.660	1.360	2	9.058
	1	4.460	5.330		23.772
	1	2.200	1.510		3.323
STAFF TOILET	2	2.200	1.910		8.404
E L E C T R O N I C MECHANICAL LAE	ther E	ngineeri 8.390	ng Orga 8.600	nisations	72.154
	1	2.800	3.600		10.080
STORE	1	2.800	2.840		7.952
GI CABIN	1	2.800	2.840		7.952
DRAUGHTSMAN MECHANICAL LAE	1	8.400	8.650		72.661
	1	2.990	3.610		10.794
STORE	1	2.990	2.300		6.877
GI CABIN	1	2.990	2.730		8.163
PASSAGE	1	37.230	1.790		66.642
WAITING LOUNGE	1	8.960	6.690		59.943
ENTRANCE	1	8.100	2.800		22.680

	LIFT AND ESCALATOR WORKSHOP	1	10.890		0.450		4.901	
		2	7.150		0.450		6.436	
	CHANGING ROOM	1	2.700		0.450		1.215	
		1	2.100		0.300		0.630	
		1	2.200		0.300		0.660	
	SURVEYOR LAB	1	7.000		0.450		3.150	
		1	7.140		0.450		3.213	
	STORE	1	2.900		0.450		1.305	
	STAFFROOM	1	6.060	A.	0.450		2.727	
	ELECTRONIC MECHANICAL LAB	1	8.090		0.300		2.427	
		1	7.140	5 X	0.450		3.213	
	DRAUGHTSMAN MECHANICAL LAB	14	8.100		0.450	Ł	3.645	
	9		7.140		0.450		3.213	
	STORE	1	2.690	in or 122	0.450		1.211	
	PASSAGE	the En	gi1.790 rii	ng Orga	110.45010	ns	4.833	
	WAITING LOUNGE	1	8.960		0.450		4.033	
		1	5.740		0.450	1	2.583	
	-	1	4.000		0.300		1.200	
	ENTRANCE	1	6.900		0.300		2.070	
		2	1.540		0.450		1.387	
	CARPORCH	3	5.550		0.450		7.493	
		1	6.290		0.450		2.831	
					Tota	al Quantity	2365.493	sqm
				То	tal Deducte	d Quantity	0.000 sqn	า
					Net Tota	al Quantity	2365.493	sqm
			Say 23	365.493 sqr	n @ Rs 104	.83 / sqm	Rs 247	7974.63
31	13.46.1 Finishing walls with Ac @ 1.67 ltr/10 sqm over	-	-	•		,		
		12	MM CEMEN	IT PLASTE	R-EXTERN	AL		
		1	14.200		3.600		51.120	

			T		1	1		
		1	19.100		3.600		68.760	
		1	10.400		3.600		37.441	
		1	8.510		3.600		30.636	
		1	6.590		3.600		23.724	
		1	7.310		3.600		26.316	
		1	11.400		3.600		41.040	
		1	33.130		3.600		119.269	
		1	7.710		3.600		27.756	
		1	2.990		3.600		10.765	
		1	3.600	(2)	3.600		12.960	
	W4	-12*0.5	2.000		1.500		-18.000	
	W3	-1*0.5	1.500		1.500		-1.125	
	W2	-4*0.5	1.000	35 N	1.500		-3.000	
	V	-4*0.5	0.600		0.500		-0.600	
	D2	-1*0.5	1.200		2.400	L	-1.440	
		火性		TF		2		
	PARAPET	1	118.000	and or and	0.900		106.200	
	LIFT	ther En	gi9.3001i	ng Orga	an 3.000 10	ns	27.901	
		D 1			Tota	al Quantity	559.723 s	qm
				To	otal Deducte	d Quantity	0.000 sqm	1
					Net Tota	al Quantity	559.723 s	qm
			Say	559.723 sqı	m @ Rs 136	6.25 / sqm	Rs 76	262.26
32	13.84.2 Painting with synthetic grams/ litre, of approve achieve even shade ar	ed brand and	d manufactui					
	W4	12	2.000	1.500			36.000	
	W3	1	1.500	1.500			2.250	
	W2	4	1.000	1.500			6.000	
	V	6	0.600	0.500			1.800	
	V							
	RS	3	2.400	2.400	2.250		38.880	
		3	2.400	2.400		al Quantity	38.880 84.930 sq	m
		3	2.400					

22	42.52.4				m @ Rs 106	·	1	041.65
33	13.52.1 Finishing with Epo manufacturer's speci steel work	• • • •		•				
		1	336.000	0.400			134.400	
		1	81.600	0.200			16.320	
					Tota	al Quantity	150.720 s	qm
				То	otal Deducte	d Quantity	0.000 sqn	า
					Net Tota	al Quantity	150.720 s	qm
			Say	150.720 sqr	m @ Rs 173	3.77 / sqm	Rs 26	190.61
34	9.48.2 Providing and fixing							•
34		ding priming	coat with app					•
34	Providing and fixing round bars etc. include frames with rawl plug	ding priming gs screws etc	coat with app	roved steel		omplete.Fixe	ed to openin	•
34	Providing and fixing round bars etc. include frames with rawl plug	ding priming gs screws etc	coat with app	1.500		omplete.Fixe	612.000	
34	Providing and fixing round bars etc. include frames with rawl plug W4	ding priming gs screws etc 12 1	2.000 1.500	1.500 1.500		17.0 17.0	612.000 38.250	
34	Providing and fixing round bars etc. include frames with rawl plug W4 W3 W2	ding priming gs screws etc 12 1 4 6	2.000 1.500 1.000	1.500 1.500 1.500 0.500	primer all co	17.0 17.0 17.0	612.000 38.250 102.000	gs/ woo
34	Providing and fixing round bars etc. include frames with rawl plug W4 W3 W2	ding priming gs screws etc 12 1 4 6	2.000 1.500 1.000 0.600	1.500 1.500 1.500 0.500 ng Orga	primer all co	17.0 17.0 17.0 17.0 17.0	612.000 38.250 102.000 30.600	gs/ woo
34	Providing and fixing round bars etc. include frames with rawl plug W4 W3 W2	ding priming gs screws etc 12 1 4 6	2.000 1.500 1.000 0.600	1.500 1.500 1.500 0.500 ng Orga	anisation	17.0 17.0 17.0 17.0 17.0	612.000 38.250 102.000 30.600 782.850 k	gs/ woo
34	Providing and fixing round bars etc. include frames with rawl plug W4 W3 W2	ding priming gs screws etc 12 1 4 6	2.000 1.500 1.000 0.600	1.500 1.500 1.500 0.500 ng Orga	anisation	17.0 17.0 17.0 17.0 17.0 41 Quantity 4 Quantity 5 Quantity	612.000 38.250 102.000 30.600 782.850 k 0.000 kg 782.850 k	gs/ woo

Providing and fixing factory made uPVC white colour casement/casement cumfixed glazed windows comprising of uPVC multi-chambered frame, sash andmullion (where ever required) extruded profiles duly reinforced with 1.60 +/- 0.2mm thick galvanized mild steel section made from roll forming process of requiredlength (shape & size according to uPVC profile), uPVC extruded glazing beads ofappropriate dimension, EPDM gasket, stainless steel (SS 304 grade) frictionhinges, zinc alloy (white powder coated) casement handles, G.I fasteners 100 x 8mm size for fixing frame to finished wall, plastic packers, plastic caps andnecessary stainless steel screws etc. Profile of frame & sash shall be mitred cutand fusion welded at all corners, mullion (if required) shall be also fusion weldedincluding drilling of holes for fixing hardware's and drainage of water etc. Afterfixing frame the gap between frame and adjacent finished wall shall be filled withweather proof silicon sealant over backer rod of required size and of approvedquality, all complete as per approved drawing & direction of Engineer-in-Charge. (Single / double glass panes and silicon sealant shall be paid separately) < br > Note: For uPVC frame, sash and mullion extruded profiles minus 5% tolerancein dimension i.e. in depth & width of profile shall be acceptable. Casement window double panels with S.S. friction hinges (350 x 19 x 1.9 mm) made of (big series) frame 67 x 60 mm & sash / mullion 67 x 80 mm both havingwall thickness of 2.3 ± 0.2 mm and single glazing bead/ double glazing

			UP	VC WINDO	WS			
	W4	12	2.000	1.500			36.000	
	W3	1	1.500	1.500			2.250	
	W2	4	1.000	1.500			6.000	
					Tota	al Quantity	44.250 sq	m
				To	otal Deducte	d Quantity	0.000 sqm	า
					Net Tota	al Quantity	44.250 sq	m
			Say 4	4.250 sqm	@ Rs 11877	'.38 / sqm	Rs 525	5574.07
					Attached to 1		ll be also fus	
	including drilling of ho between frameand adja of required size and of Charge. (Single / doub frame, sash and mullio shall be acceptable.Fix mm both having wall th upto 0.75 sqm.)	oles for fixinacent finished approved quele glass pa n extruded particles	nghardware ed wall shall uality, all co nes andsilic profiles minu / ventilator r	's and drain be filled wind mplete as poon sealant us 5% tolera made of (sm	nage of wat th weather p er approved shall be pai ancein dime nall series) f	er etc. After orcoof silicon drawing & condition of the c	er fixing fran sealant ove direction of E y). Note depth & wid 0 mm & mu	me the rbacker Engineer: For uF lth of pro
	including drilling of ho between frameand adja of required size and of Charge. (Single / doub frame, sash and mullio shall be acceptable.Fix mm both having wall th	oles for fixinacent finished approved quele glass pa n extruded particles	nghardware ed wall shall uality, all co nes andsilic profiles minu / ventilator r	's and drain be filled wind mplete as poon sealant us 5% tolera made of (sm	nage of wat th weather p er approved shall be pai ancein dime nall series) f	er etc. After orcoof silicon drawing & condition of the c	er fixing fran sealant ove direction of E y). Note depth & wid 0 mm & mu	me the grbacker Engineer For uF Ith of pro
	including drilling of hobetween frameand adjate of required size and of Charge. (Single / doubt frame, sash and mullios shall be acceptable. Fix mm both having wall through 0.75 sqm.)	oles for fixir acent finished approved qualle glass par n extruded pred window nickness of	nghardware ed wall shall uality, all co nes andsilio profiles minu / ventilator r 1.9 ± 0.2 mi	's and drain be filled wit mplete as p con sealant us 5% tolera made of (sm m and single	nage of wat th weather p er approved shall be pai ancein dimen nall series) fi e glazing be	er etc. After orcoof silicon drawing & condition of the c	er fixing fran sealant ove direction of E y). br>Note depth & wid 0 mm & mu 	me the rbacker Engineer: For uF lth of profision. (A
	including drilling of hobetween frameand adjate of required size and of Charge. (Single / doubt frame, sash and mullios shall be acceptable. Fix mm both having wall through 0.75 sqm.)	oles for fixir acent finished approved qualle glass par n extruded pred window nickness of	nghardware ed wall shall uality, all co nes andsilio profiles minu / ventilator r 1.9 ± 0.2 mi	's and drain be filled wit mplete as p on sealant us 5% tolera made of (sm m and single 0.500	nage of wat th weather p er approved shall be pai ancein dimen nall series) fi e glazing be	er etc. After proof silicon drawing & c d separately nsion i.e. in rame 47 x 5 and ofapprop	er fixing fran sealant ove direction of E y). br>Note depth & wid 0 mm & mu 	me the rbacker Enginee : For uF lth of prolifer 170 insion. (A
	including drilling of hobetween frameand adjate of required size and of Charge. (Single / doubt frame, sash and mullios shall be acceptable. Fix mm both having wall through 0.75 sqm.)	oles for fixir acent finished approved qualle glass par n extruded pred window nickness of	nghardware ed wall shall uality, all co nes andsilio profiles minu / ventilator r 1.9 ± 0.2 mi	's and drain be filled wit mplete as p on sealant us 5% tolera made of (sm m and single 0.500	nage of wat th weather p er approved shall be pai ancein dimen all series) fi e glazing be Tota	er etc. After proof silicon drawing & c d separately nsion i.e. in rame 47 x 5 and ofapprop	er fixing francesealant over sealant over direction of E y). br>Note depth & wid 0 mm & mu priate dimension 1.800 sqm	me the rbacker Enginee : For uF lth of prolifer (A) insion. (A)
	including drilling of hobetween frameand adjate of required size and of Charge. (Single / doubt frame, sash and mullios shall be acceptable. Fix mm both having wall through 0.75 sqm.)	oles for fixir acent finished approved qualle glass par n extruded pred window nickness of	nghardware ed wall shall uality, all co nes andsilic profiles minu / ventilator r 1.9 ± 0.2 mi 0.600	's and drain be filled wit mplete as p on sealant us 5% tolera made of (sm m and single 0.500	nage of wat th weather p er approved shall be pai ancein dimen all series) fi e glazing be Tota	er etc. After proof silicon drawing & considerately assign i.e. in the considerately and of appropriately all Quantity all	er fixing fransealant ove sealant ove direction of E y). br>Note depth & wid 0 mm & mu 	me the rbacker Engineer: For uF lth of prolifer (A) asion. (A)
37	including drilling of hobetween frameand adjate of required size and of Charge. (Single / doubt frame, sash and mullios shall be acceptable. Fix mm both having wall through 0.75 sqm.)	acent finished approved quele glass particularly nextruded placed window nickness of	nghardware ed wall shall uality, all co nes andsilic profiles minu / ventilator r 1.9 ± 0.2 mi 0.600 Say	's and drain be filled with mplete as proportion of the control of	rage of wat th weather p er approved shall be pai ancein dime hall series) f e glazing be Tota tal Deducte Net Tota Rs 7659 entilator shu ctural drawir	er etc. After proof silicon drawing & considerately ansion i.e. in rame 47 x 5 and of appropriately all Quantity all Quant	er fixing fransealant over sealant over sealant over direction of Early). by). br>Note depth & wide of the wide of	me the rbacker Engineer For uF Ith of profits of the Ith of profits of the Ith of
37	including drilling of he between frameand adjate of required size and of Charge. (Single / doubt frame, sash and mullion shall be acceptable. Fix mm both having wall thrupto 0.75 sqm.) V 21.3.2 Providing and fixing glarubber / neoprene gask in -Charge. (Cost of all of the control of the	acent finished approved quele glass particularly nextruded placed window nickness of	nghardware ed wall shall uality, all co nes andsilic profiles minu / ventilator r 1.9 ± 0.2 mi 0.600 Say	's and drain be filled with mplete as proportion of the control of	rage of wat th weather p er approved shall be pai ancein dimental series) fi e glazing be Total total Deducte Net Total and Rs 7659 entilator shu ctural drawir id in basic in	er etc. After proof silicon drawing & considerately ansion i.e. in rame 47 x 5 and of appropriately all Quantity all Quant	er fixing fransealant over sealant over sealant over direction of Early). by). br>Note depth & wide of the wide of	me the rbacker Engineer: For up of the of profile of the of profile of the of t
37	including drilling of he between frameand adjate of required size and of Charge. (Single / doubt frame, sash and mullion shall be acceptable. Fix mm both having wall thrupto 0.75 sqm.) V 21.3.2 Providing and fixing glarubber / neoprene gask in -Charge. (Cost of all of the control of the	acent finished approved quele glass particularly nextruded placed window nickness of	nghardware ed wall shall uality, all co nes andsilic profiles minu / ventilator r 1.9 ± 0.2 mi 0.600 Say	's and drain be filled with mplete as proportion of the proportion	rage of wat th weather p er approved shall be pai ancein dimental series) fi e glazing be Total total Deducte Net Total and Rs 7659 entilator shu ctural drawir id in basic in	er etc. After proof silicon drawing & considerately ansion i.e. in rame 47 x 5 and of appropriately all Quantity all Quant	er fixing fransealant over sealant over sealant over direction of Early). by). br>Note depth & wide of the wide of	me the rbacker Enginee : For uf Ith of prolifer Ith of prolife

	W2	4	1.000	1.500			6.000	
	V	6	0.600	0.500			1.800	
					Tota	al Quantity	46.050 sc	ım
				To	otal Deducte	d Quantity	0.000 sqn	n
					Net Tota	al Quantity	46.050 sc	ım
			Say	46.050 sqm	@ Rs 1424	I.10 / sqm	Rs 65	579.81
38	od219689/2019_2020 Supply and fixing read laminate painted stee Cylindrical lock, high soperated with a single and locking system as fittings like security locking system.	I doors with ecurity lock key), honey per satisfac	h steel jam ing systems comb pape ction of site	b,SS hinge s (Multi lock r Infilling ma Engineer in	s & door si models ha aterial, five y charge.The	II ,sheet th ving 11 lock years warra e above rate	ickness of king points, inty on all the included a	1to 1.4mm and can be te hardware Il fixing and
	D2	6	1.200	2.400	1		17.280	
		W	XO	DA	Tota	al Quantity	17.280 so area	m of door
				To	otal Deducte	d Quantity	0.000 sqn area	n of door
		d	No.	a 310	Net Tota	al Quantity	17.280 so area	m of door
	Say 17.:	280 sqm of	door area ©	Rs 10932.	25 / sqm of	ns door area	Rs 18	8909.28
39	od219690/2019_2020 Supply and fix fully finis matching PVC wrapped 4 side edges painted / I 100 mm. Latch with Lev .Tower Bolt 6" SS Finis	l WPC Jam Lock Hole E ver handles	b with front soring (Usin without Key	side Architra g mortise lo vs SS finish	ave other sid ck)/ Hinge F - 1 No, Hing	le tackers. [Rebate Cutti	Door of 35ming (4 Nos)	m thick with Jamb width
	D3	7	0.800	2.100			11.761	
					Tota	al Quantity	11.761 sc area	m of door
				To	otal Deducte	d Quantity	0.000 sqn area	n of door
					Net Tota	al Quantity	11.761 sc area	m of door
	Say 11	.761 sqm o	f door area	@ Rs 8728.	21 / sqm of	door area	Rs 10	2652.48
40	od219691/2019_2020 Supply and fix fully fini etc) vertical grains Flus side Architraves and ot	h door with	matching V	eneer Wrap	ped Engine	ered wood	Jamb (Fram	e) with fron

	side PVC Lipping / Lo Sauerland core / Hone applicable taxes to the	y comb cor satisfaction	e filling. as of site Engi	per drawing neer in chai	and agree ge.The abo	d schedule	of rates inc	lusive of al
	lock, hinges,hardware i	15	1.000	2.100	quivalent)		31.500	
		10	1.000	2.100	Tota	al Quantity	31.500 sq	m
				To	tal Deducte	<u> </u>	0.000 sqm	
						al Quantity	31.500 sq	
			Say	31.500 sqm	@ Rs 9271	.79 / sqm	Rs 292	2061.39
	Supplying and fixing rotogether through their designed pipe shaft wit and pull operation corsprings manufactured and M.S. top cover of rocover	entire lengt h brackets, nplete, incl from high te	h and jointer side guides uding the co ensile steel	d together a and arrange ost of provi wire of ade	at the end be ements for inding and fix quate streng	y end locks nside and or king necess oth conform	s, mounted outside locking ary 27.5 cring to IS: 44	on speciall g with pus n long wir 454 - part
	ROLLING SHUTTER	3	2.400		2.400	L	17.280	
					Tota	al Quantity	17.280 sq	m
			The state	To	tal Deducte	d Quantity	0.000 sqm	ı
	0	ther En	gineeri	ng Orga	an Net Tota	Quantity	17.280 sq	m
			Say	17.280 sqm	@ Rs 2436	.34 / sqm	Rs 42	099.96
42	10.7 Providing and fixing bal	I bearing fo	r rolling shut	ters.				
		6						
		<u> </u>					6.000	
		0			Tota	al Quantity	6.000 6.000 no	
		0		To	Tota			
		0		To	tal Deducte		6.000 no	
		0			tal Deducte	d Quantity	6.000 no 0.000 no 6.000 no	228.24
43	10.28 Providing and fixing sincluding welding, grinsame with necessary accessories & stainless floor or the side of war payment purpose on accessories such as	tainless steding, buffin stainless sesteel dashist slab with y weight o	g, polishing steel nuts a n fasteners, s h suitable a of stainless	Say 6.000 O4) railing and making nd bolts costainless steaments steel men	Net Tota no @ Rs 5: made of Ho g curvature emplete, i/c eel bolts etc t as per ap	d Quantity al Quantity 38.04 / no bllow tubes (wherever r fixing the ., of require	6.000 no 0.000 no 6.000 no Rs 32 , channels, equired) an railing with d size on the ngineer-in-compared.	plates etc d fitting th necessar e top of th charge, (fo

	stainless steel (Grade 304) railing	1	315.200	1.000	1.000		315.200	
					Tota	al Quantity	315.200 k	g
				То	tal Deducte	d Quantity	0.000 kg	
					Net Tota	al Quantity	315.200 k	g
			5	Say 315.200	kg @ Rs 67	70.10 / kg	Rs 21	1215.52
44	od21082/2019_2020 Supply 100x100x4mm Grade min C350L0 AS anchored to RC parape Engineer-in-charge and by the contractor to the	/NZS 4792 et and base painted wi	2 Galvanised e up stand, w ith two or mo	coatings ovill be given ore coats of	n ferrous ho a priming o epoxy paint	ollow sectio coat of Zinc (Shop draw	ns) fixed ve primer as a	ertically an pproved b
		1	336.000				336.000	
			£3 B	19 5	Tota	al Quantity	336.000 n	netre
		61	N AZ	To	tal Deducte	d Quantity	0.000 met	re
		1 1500		DAT!	Net Tota	al Quantity	336.000 n	netre
					a) _ >GA_G	20 /	D = 000	
45	od21085/2019_2020 Supply 50mmx50mmx1	•	Galvanized s	and the second	w section m	nember (AS	1163-2009	
45		Galvanised priming copoxy paint	Galvanized so coatings or part of Zinc proparting me	quare hollo n ferrous ho imer as app easured sep	w section millow section or secti	nember (AS ns) fixed ver ngineer-in-c op drawing	1163-2009 tically and a	Grade minanchored to painted with
45	Supply 50mmx50mmx1 C350L0 AS/NZS 4792 RC slab will be given a two or more coats of e	Galvanised priming copoxy paint	Galvanized so coatings or part of Zinc proparting me	quare hollo n ferrous ho imer as app easured sep	w section millow section or secti	nember (AS ns) fixed ver ngineer-in-c op drawing	1163-2009 tically and a	Grade minanchored to painted with
45	Supply 50mmx50mmx1 C350L0 AS/NZS 4792 RC slab will be given a two or more coats of e	Galvanised priming co poxy paint ngineer in-	Galvanized so coatings or painting me charge for a	quare hollo n ferrous ho imer as app easured sep	w section millow section or secti	nember (AS ns) fixed ver ngineer-in-c op drawing	tically and a charge and p s shall be si	Grade minanchored to painted with ubmitted by
45	Supply 50mmx50mmx1 C350L0 AS/NZS 4792 RC slab will be given a two or more coats of e	Galvanised priming co poxy paint ngineer in-	Galvanized so coatings or painting me charge for a	equare hollo n ferrous ho imer as app easured sep pproval befo	w section millow section or secti	nember (AS as) fixed ver agineer-in-cop op drawings on).	tically and a charge and p s shall be si	Grade minanchored to painted with ubmitted better
45	Supply 50mmx50mmx1 C350L0 AS/NZS 4792 RC slab will be given a two or more coats of e	Galvanised priming co poxy paint ngineer in-	Galvanized so coatings or painting me charge for a	equare hollo n ferrous ho imer as app easured sep pproval befo	w section mallow section or secti	nember (AS as) fixed ver agineer-in-cop op drawings on).	tically and a charge and p s shall be so 81.600 me	Grade minanchored to painted with ubmitted by etre
45	Supply 50mmx50mmx1 C350L0 AS/NZS 4792 RC slab will be given a two or more coats of e	Galvanised priming co poxy paint ngineer in-	Galvanized sold coatings or pat of Zinc properties (painting mechange for appendix)	equare hollo n ferrous ho imer as app easured sep pproval befo	w section mallow section or secti	nember (AS as) fixed ver ngineer-in-co op drawings on). al Quantity d Quantity	s 1163-2009 rtically and a charge and p s shall be so 81.600 81.600 met 81.600 met	Grade mi anchored to painted with submitted betre
45	Supply 50mmx50mmx1 C350L0 AS/NZS 4792 RC slab will be given a two or more coats of e	Galvanised priming copoxy paint agineer in-	Galvanized sold coatings or pat of Zinc properties (painting mechange for all 20.400	quare hollon ferrous ho imer as appeasured sepoproval before the ferrous holds and the ferrous holds are the ferrous for the ferrous holds are the ferrous for	w section millow section proved by Enterproved by E	nember (AS as) fixed ver ngineer-in-co op drawings on). al Quantity d Quantity al Quantity ASTM A606	81.600 met 81.600 met Rs 24	Grade minanchored to painted with ubmitted betreed treed etreed to 1.58
	Supply 50mmx50mmx1 C350L0 AS/NZS 4792 RC slab will be given a two or more coats of ep the contractor to the Er od219801/2019_2020 Supply Cor-Ten A grade	Galvanised priming copoxy paint agineer in-	Galvanized sold coatings or pat of Zinc properties (painting mechange for all 20.400	quare hollon ferrous ho imer as appeasured sepoproval before the ferrous holds and the ferrous holds are the ferrous for the ferrous holds are the ferrous for	w section millow section proved by Enterproved by E	nember (AS as) fixed ver ngineer-in-co op drawings on). al Quantity d Quantity al Quantity ASTM A606	81.600 met 81.600 met Rs 24	Grade minanchored to painted with ubmitted by etre etre etre 091.58
	Supply 50mmx50mmx1 C350L0 AS/NZS 4792 RC slab will be given a two or more coats of ep the contractor to the Er od219801/2019_2020 Supply Cor-Ten A grade spacing in the hidden pl	Galvanised priming copoxy paint ngineer in-	Galvanized sold coatings or pat of Zinc properties (painting mechange for approximately 20.400) Say 87	quare hollon ferrous ho imer as appeasured sepoproval before the ferrous holds and the ferrous holds are the ferrous for the ferrous holds are the ferrous for	w section millow section proved by Engrately)(Shore execution Total Deducted Net Total @ Rs 295.20 cassettes (Aless steel clief	nember (AS as) fixed ver ngineer-in-co op drawings on). al Quantity d Quantity al Quantity ASTM A606	s 1163-2009 rtically and a charge and ps shall be so 81.600 81.600 met 81.600	Grade minanchored to painted with ubmitted betreed treed etreed to 1.58
	Supply 50mmx50mmx1 C350L0 AS/NZS 4792 RC slab will be given a two or more coats of ep the contractor to the Er od219801/2019_2020 Supply Cor-Ten A grade spacing in the hidden pl	Galvanised priming copoxy paint ngineer in-	Salvanized sold coatings or pat of Zinc properties (painting mecharge for an 20.400) Say 87 k warm rolled ension mountains 2.000	quare hollon ferrous ho imer as appeasured sepoproval before the ferrous holds and the ferrous holds are the ferrous for the ferrous holds are the ferrous for	w section millow section proved by Engrately)(Shopere execution Total datal Deducted Net Total @ Rs 295.2 cassettes (Aless steel cl. 1.800	nember (AS as) fixed ver ngineer-in-co op drawings on). al Quantity d Quantity al Quantity ASTM A606	81.600 met	Grade minanchored to painted with ubmitted betreed treed etreed to 1.58
	Supply 50mmx50mmx1 C350L0 AS/NZS 4792 RC slab will be given a two or more coats of ep the contractor to the Er od219801/2019_2020 Supply Cor-Ten A grade spacing in the hidden pl W4 W2	e 3mm thic lastic suspending to 12	Salvanized sold coatings or pat of Zinc properties	quare hollon ferrous ho imer as appeasured sepoproval before the ferrous holds and the ferrous holds are the ferrous for the ferrous holds are the ferrous for	w section millow section proved by Engrately)(Shopere execution and the section of the section o	nember (AS as) fixed ver ngineer-in-co op drawings on). al Quantity d Quantity al Quantity ASTM A606	81.600 met	Grade minanchored to painted with ubmitted betreed treed etreed to 1.58

Total Deducted Quantity	0.000 sqm
Net Total Quantity	64.980 sqm
Say 64.980 sqm @ Rs 2616.50 / sqm	Rs 170020.17

47 12.59.1

Providing and fixing false ceiling at all height including providing & fixing of framework made of special section, power pressed from M.S. sheets and galvanised with zinc coating of 120 gms/ sqm (both side inclusive) as per IS: 277 and consisting of angle cleat of size 25 mm wide x 1.6 mm thick with flanges of 27 mm and 37 mm, at 1200mm c/c, one flange fixed to the ceiling with dash fastener 12.5mm dia x 50mm long with 6mm dia bolts, other flanged of cleat fixed to the angle hangers of 25x10x0.50mm of required length with nuts & bolts of required size and other end of angle hanger fixed with intermediate G.I chanels 45x15x0.90mm running at the spacing of 1200 mm c/c, to which the ceiling section 0.5 mm thick bottom wedge of 80mm with tapered flanges of 26mm each having lips of 10.5mm, at 450mm c/c, shall be fixed in a direction perpendicular to G.I intermediate channel with connecting clip made out of 2.64mm dia x 230mm long G.I wire at every junction, including fixing perimeter channels 0.50mm thick 27 mm high having flages of 20mm and 30mm long, the perimeter of ceiling fixed to wall/ partitions with the help of Rawl plugs at 450mm centre, with 25mm long dry wall screws @ 230mm interval, including fixing of Calcium Silicate Board to ceiling section and perimeter channels with the help of day wall screws of size 3.5x25mm at 230mm c/c, including jointing & finishing to a flush finish of tapered and square edges of the board with recommended jointing compounds, jointing tapes, finishing with jointing compounds in three layers covering up to 150mm on both sides of joints and two coats of primer suitable for boards, all as per manufacture's specification and also including the cost of making opening for light fittings, grills, diffusers, cut outs made with frame of perimeter channels suitable fixed, all complete as per drawings, specification and direction of the Engineer in charge but excluding the cost of painting with a.8 mm thick Calcium Silicate Board made with Calcareous & Siliceous materials reinforced with cellulose fiber manufactured through acutoclaving process.

manadaroa imoagi	. acatocia i	ing process					
LADIES TOILET	2	1.100	1.500		(3.301	
L A D I E S DIFFERENTLY ABLED TOILET	1	1.900	1.500			2.850	
GENTS TOILET	2	1.100	1.500			3.301	
G E N T S DIFFERENTLY ABLED TOILET	1	1.900	1.500			2.850	
STAFFROOM TOILET	2	1.800	1.500			5.400	
				Total (Quantity	17.702 sqm	l
			Т.	tal Dadwatad (O	0.000 0.000	

Total Quantity 17.702 sqm

Total Deducted Quantity 0.000 sqm

Net Total Quantity 17.702 sqm

Say 17.702 sqm @ Rs 1300.41 / sqm Rs 23019.86

48 17.2.1

Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled

	device (handle lever) making good the wa	_			_	•	•	_
		8					8.000	
					Tota	al Quantity	8.000 eac	h
				То	tal Deducte	d Quantity	0.000 eac	h
					Net Tota	al Quantity	8.000 eac	h
			Say	8.000 each	@ Rs 4849	.43 / each	Rs 38	795.44
	Providing and fixing 430x260x350 mm are flush pipe and C.P. fittings and brackets with 5 litre white P.\	nd 340x410x brass spread , cutting and	265 mm size ders with bra making goo	es respectively ses unions are not the walls a	ly with autor nd G.I. clam	matic flushir	ng cistern wi e, including	th standa painting
		2	J.	13. N	7 13		2.000	
		12	11/10		Tota	al Quantity	2.000 eac	h
		152		To	tal Deducte	d Quantity	0.000 eac	h
		4500			Net Tota	al Quantity	2.000 eac	h
			Say	2.000 each	@ Rs 4956	.45 / each	Rs 99	12.90
50	17.7.1 Providing and fixing of standard pattern wherever require:WI pillar taps	, including p	vith C.I. brace painting of fi	kets, 15 mm ttings and b	C.P. brass ր orackets, cւ	oillar taps, 3 utting and r	naking goo	d the wa
		10					10.000	
					Tota	al Quantity	10.000 ea	ch
				То	tal Deducte	d Quantity	0.000 eac	h
					Net Tota	al Quantity	10.000 ea	
								ch
			Say	10.000 each	@ Rs 3260	.49 / each	Rs 32	ch 604.90
51	17.8 Providing and fixing reception of pipes ar		·					604.90
51	Providing and fixing		·					604.90
51	Providing and fixing	nd fittings.	·		n basin com		ssed at the	604.90 back for
51	Providing and fixing	nd fittings.	·	estal for wash	n basin com	pletely rece	ssed at the	604.90 back for ch
51	Providing and fixing	nd fittings.	·	estal for wash	tal Deducte	pletely rece	10.000 ea	oack for

52	17.70.1 Providing and fixing PT with height of 270 mm,		•			•		
	breadth with 25 mm mir	nimum wat	er seal, we	ghing not les	s than 260	gms	1	
		10					10.000	
					Tot	al Quantity	10.000 ea	ach
				To	tal Deducte	ed Quantity	0.000 ead	:h
					Net Tot	al Quantity	10.000 ea	nch
			Say	y 10.000 each	n @ Rs 416	.97 / each	Rs 4	169.70
53	18.50.1 Providing and fixing C. weighing not less than		-		proved qual	ity conformi	ng to IS sta	indards a
		10	18				10.000	
			845 C	방학	Tot	al Quantity	10.000 ea	ach
		11		To	tal Deducte	ed Quantity	0.000 ead	:h
		1 A	TIME		Net Tot	al Quantity	10.000 ea	nch
		15/40	Sa	/ 10.000 each	n @ Rs 787	.69 / each	Rs 7	876.90
	Supplying and fixing C materials and labour c	4				•	•	•
			K		Tot	al Quantity	8.000 no	
				To	tal Deducte	ed Quantity	0.000 no	
					Net Tot	al Quantity	8.000 no	
				Say 8.000 r	no @ Rs 12	80.49 / no	Rs 10	243.92
55	17.71 Providing and fixing PT wall of standard shape colour, weighing not le	with braces than 10	ket of the			•	f approved	
		8			_		8.000	
						al Quantity	8.000 ead	
				То	tal Deducte		0.000 ead	
						al Quantity	8.000 ead	
			S	ay 8.000 each	n @ Rs 195	.54 / each	Rs 1	564.32
56	50.17.1.3 Supplying and fixing C	:P Towel r	od 60cm o	r nearest ava	ailable lend	ith including	a cost of ma	aterials a

		10					10.000	
		-			Tota	al Quantity	10.000 no)
				To	tal Deducte	d Quantity	0.000 no	
					Net Tota	al Quantity	10.000 no)
				Say 10.000	no @ Rs 1	27.68 / no	Rs 1	276.80
57	od219806/2019_2020 Supply & Fixing stai materials supplied at	inless steel	•	•	•	•		
		12					12.000	
			C	- Ma	Tota	al Quantity	12.000 ea	ach
			1	To	tal Deducte	d Quantity	0.000 ead	ch
			0,3 9	(T	Net Tota	al Quantity	12.000 ea	ach
		11	Say	12.000 each	n @ Rs 822	.21 / each	Rs 9	866.52
	Flat Round Cover wit charges, sundries et ACO/SGS)	th Rubber S tc complete	eal & SS Sc as directed		g cost and o	conveyance arge at all	of all mate levels.(Ma	rials, lab
	Flat Round Cover wit charges, sundries et	th Rubber S tc complete	eal & SS Sc as directed	rew including	g cost and o	conveyance arge at all	of all mate	rials, lab
	Flat Round Cover wit charges, sundries et	th Rubber S tc complete	eal & SS Sc as directed	rew including	g cost and o	conveyance arge at all	of all mate levels.(Ma	rials, labe
	Flat Round Cover wit charges, sundries et	th Rubber S tc complete	eal & SS Sc as directed	rew including by the English Organia	g cost and orgineer in chanisation Total	conveyance earge at all ms al Quantity d Quantity	2.000 2.000 eac 0.000 eac	rials, lab ke:CHILI ch
	Flat Round Cover wit charges, sundries et	th Rubber S tc complete	eal & SS Sc as directed	rew including by the English Organia	g cost and orgineer in chanisation Total Deducte Net Total	ns al Quantity d Quantity al Quantity	2.000 eac 2.000 eac 2.000 eac	rials, lab ke:CHILI ch ch
	Flat Round Cover with charges, sundries et ACO/SGS)	th Rubber S tc complete the 2	eal & SS Sc as directed	rew including by the English Organia	g cost and orgineer in chanisation Total Deducte Net Total	ns al Quantity d Quantity al Quantity	2.000 eac 2.000 eac 2.000 eac	rials, lab ke:CHIL
59	Flat Round Cover wit charges, sundries et	th Rubber S tc complete there	say Cleanout with eal & SS Sc	rew including by the English of Drg Organia To 2.000 each h Spigot, with rew including	Total Deducte Net Total @ Rs 1094 h SS 304 Sg cost and of	conveyance arge at all all Quantity d Quantity all Quantity 0.07 / each quare Fram conveyance	2.000 eac 0.000 eac Rs 2	rials, labe ke:CHILI ch ch 188.14
59	od219808/2019_2020 Providing and fixing 1 Flat Round Cover wit charges, sundries et	th Rubber S tc complete there	say Cleanout with eal & SS Sc	rew including by the English of Drg Organia To 2.000 each h Spigot, with rew including	Total Deducte Net Total @ Rs 1094 h SS 304 Sg cost and of	conveyance arge at all all Quantity d Quantity all Quantity 0.07 / each quare Fram conveyance	2.000 eac 0.000 eac Rs 2	rials, labe ke:CHILI ch ch 188.14
59	od219808/2019_2020 Providing and fixing 1 Flat Round Cover wit charges, sundries et	th Rubber S tc complete the 2 100mm dia 0 th Rubber S tc complete	say Cleanout with eal & SS Sc	rew including by the English of Drg Organia To 2.000 each h Spigot, with rew including	Total Deducte Net Total @ Rs 1094 th SS 304 Stag cost and of gineer in characters.	conveyance arge at all all Quantity d Quantity all Quantity 0.07 / each quare Fram conveyance	2.000 eac 2.000 eac Rs 2 ne & Round e of all mate levels.(Ma	rials, labe ke:CHILI ch ch 188.14 Frame wrials, labe ke:CHILI
59	od219808/2019_2020 Providing and fixing 1 Flat Round Cover wit charges, sundries et	th Rubber S tc complete the 2 100mm dia 0 th Rubber S tc complete	say Cleanout with eal & SS Sc	rew including by the English Organia O	Total Deducte Net Total @ Rs 1094 th SS 304 Stag cost and of gineer in characters.	ns al Quantity d Quantity al Quantity of / each quare Frame	2.000 eac 2.000 eac Rs 2 ne & Round of all mate levels.(Ma	rials, laboke:CHILI ch 188.14 Frame v rials, laboke:CHILI
59	od219808/2019_2020 Providing and fixing 1 Flat Round Cover wit charges, sundries et	th Rubber S tc complete the 2 100mm dia 0 th Rubber S tc complete	say Cleanout with eal & SS Sc	rew including by the English Organia O	Total Deducte Net Total Rs 1094 h SS 304 Sg cost and ogineer in characteristics Total Deducteristics and ogineer in characteristics and ogineer in characteristics and option and optio	ns al Quantity d Quantity al Quantity of / each quare Frame	2.000 each	rials, labe ke:CHILI ch ch 188.14 Frame w rials, labe ke:CHILI
59	od219808/2019_2020 Providing and fixing 1 Flat Round Cover wit charges, sundries et	th Rubber S tc complete the 2 100mm dia 0 th Rubber S tc complete	Say Cleanout with eal & SS Scenario	rew including by the English Organia O	Total Deducte Net Total Rs 1094 h SS 304 S g cost and of gineer in characteristic contents Total Total Total Total Total Total Net Total Net Total	conveyance arge at all al Quantity al Quantity conveyance arge at all al Quantity di Quantity di Quantity di Quantity di Quantity al Quantity al Quantity al Quantity al Quantity	2.000 eac 2.000 eac Rs 2 ne & Round of all mate levels.(Ma 8.000 eac 0.000	rials, labe ke:CHILI ch ch 188.14 Frame w rials, labe ke:CHILI

	conforming to IS: 89						20.000	
		1	20.000				20.000	
						al Quantity	20.000 ea	
				То	tal Deducte	d Quantity	0.000 ead	:h
					Net Tota	al Quantity	20.000 ea	ach
			Say 2	20.000 each	n @ Rs 674	.78 / each	Rs 13	495.60
61	50.18.8.2.2 Providing and fixin includes jointing of per direction of Engetc. 20 mm pipe 10	pipes & fitting gineer-in-Char	s with one ste	ep PVC sol	vent cemer	nt and testin	g of joints of	complete
		1	137.000	20/			137.000	
			C.0 11		Tota	al Quantity	137.000 r	netre
			Cir S	То	tal Deducte	d Quantity	0.000 me	tre
		(h.	LINE	23/21	Net Tota	al Quantity	137.000 r	netre
		115	Say 137	.000 metre	@ Rs 293.6	62 / metre	Rs 40	225.94
	Providing and fixin includes jointing of	pipes & fitting	s with one ste	ep PVC sol	vent cemer	nt and testin	g of joints of	complete
	_	pipes & fitting	s with one ste	ep PVC sol	vent cemer	nt and testin	g of joints of	complete
	includes jointing of	pipes & fitting	gs with one ste	ep PVC sol	vent cemer 2- Internal	nt and testin	ng of joints of sed on wall	complete
	includes jointing of	pipes & fitting	gs with one ste	ep PVC sol 110Kgf/ cm	vent cemer 2- Internal	nt and testin work- Expo	ng of joints of sed on wall 32.000	etre
	includes jointing of	pipes & fitting	gs with one ste	ep PVC sol 110Kgf/ cm	vent cemer 12- Internal Tota tal Deducte	nt and testin work- Expo	g of joints of sed on wall 32.000 m	etre
	includes jointing of	pipes & fitting	gs with one ste ge 25 mm dia 32.000	ep PVC sol 10Kgf/ cm To	vent cemer 12- Internal Tota tal Deducte	at and testing work- Exportant Quantity d Quantity al Quantity	32.000 m 0.000 me	etre
63	includes jointing of	pipes & fitting gineer-in-Char 1 1 g PVC pipes, pipes & fitting gineer-in-Char	s with one sterge 25 mm dia 32.000 Say 32 fittings includes with one sterge 32 mm dia	To .000 metre ling fixing tep PVC sol	Total Deducte Net Total @ Rs 203. The pipe with vent cemer	al Quantity al Quantity al Quantity al Quantity al Quantity al Quantity th clamps a	g of joints of sed on wall 32.000 m 0.000 me 32.000 m Rs 6 tt 1.00 m sping of joints of sed on wall	etre etre 519.68 pacing. T
63	includes jointing of per direction of Eng 50.18.7.4.1 Providing and fixin includes jointing of	pipes & fitting gineer-in-Char 1 1 g PVC pipes, pipes & fitting	s with one sterge 25 mm dia 32.000 Say 32 fittings includes with one sterge 32.000	To .000 metre ling fixing tep PVC sol	Total tal Deducte Net Total @ Rs 203 the pipe with vent cemer 2- Internal vents	al Quantity d Quantity al Quantity 74 / metre th clamps ant and testin	32.000 m 32.000 m 0.000 me 32.000 m Rs 6 t 1.00 m sp g of joints of sed on wall 60.000	etre tre etre 519.68 pacing. T
63	includes jointing of per direction of Eng 50.18.7.4.1 Providing and fixin includes jointing of	pipes & fitting gineer-in-Char 1 1 g PVC pipes, pipes & fitting gineer-in-Char	s with one sterge 25 mm dia 32.000 Say 32 fittings includes with one sterge 32 mm dia	To .000 metre ling fixing to 10Kgf/cm2	Total A poly a	al Quantity al Quantity al Quantity al Quantity al Quantity at A / metre th clamps a at and testin work - Expo	32.000 m 32.000 m 0.000 me 32.000 m Rs 6 t 1.00 m sp g of joints of sed on wall 60.000 m	etre tre etre 519.68 pacing. Topomplete
63	includes jointing of per direction of Eng 50.18.7.4.1 Providing and fixin includes jointing of	pipes & fitting gineer-in-Char 1 1 g PVC pipes, pipes & fitting gineer-in-Char	s with one sterge 25 mm dia 32.000 Say 32 fittings includes with one sterge 32 mm dia	To .000 metre ling fixing to 10Kgf/cm2	Total Deducte Net Total Rs 203. The pipe with event cemer 2- Internal with tall Deducte tall	al Quantity d Quantity al Quantity A / metre ch clamps a at and testin work - Expo	g of joints of sed on wall 32.000 m 0.000 me 32.000 m Rs 6 tt 1.00 m sp 1 g of joints of sed on wall 60.000 m 0.000 me	etre tre etre 519.68 pacing. T complete etre
63	includes jointing of per direction of Eng 50.18.7.4.1 Providing and fixin includes jointing of	pipes & fitting gineer-in-Char 1 1 g PVC pipes, pipes & fitting gineer-in-Char	Say 32 fittings includes with one steepe 32 mm dia 60.000	To 10Kgf/cm2	Total Deducte Net Total Rs 203. The pipe with event cemer 2- Internal with the pipe	al Quantity al Quantity Al Camps and testing Al Camps and testing Al Quantity Al Camps and testing Al Quantity	g of joints of sed on wall 32.000 m 0.000 me 32.000 m Rs 6 t 1.00 m sp 1 g of joints of sed on wall 60.000 m 0.000 me 60.000 m	etre tre etre 519.68 complete etre tre etre etre etre
63	includes jointing of per direction of Eng 50.18.7.4.1 Providing and fixin includes jointing of	pipes & fitting gineer-in-Char 1 1 g PVC pipes, pipes & fitting gineer-in-Char	Say 32 fittings includes with one steepe 32 mm dia 60.000	To 10Kgf/cm2	Total Deducte Net Total Rs 203. The pipe with event cemer 2- Internal with tall Deducte tall	al Quantity al Quantity Al Camps and testing Al Camps and testing Al Quantity Al Camps and testing Al Quantity	g of joints of sed on wall 32.000 m 0.000 me 32.000 m Rs 6 t 1.00 m sp 1 g of joints of sed on wall 60.000 m 0.000 me 60.000 m	etre tre etre 519.68 complete

		1	10.000				10.000	
					Total	Quantity	10.000 m	etre
				Tota	l Deducted	Quantity	0.000 me	tre
					Net Total	Quantity	10.000 m	etre
			Say 10.0	000 metre @	Rs 274.9	2 / metre	Rs 2	749.20
65	50.18.8.5.1 Providing and fixing includes jointing of pi per direction of Enginetc. 40 mm pipe 10 kg	pes & fitting eer-in-Char	gs with one step	o PVC solve	ent cement	and testin	g of joints of	complete
		20		1			20.000	
					Total	Quantity	20.000 m	etre
		12		Tota	I Deducted	Quantity	0.000 me	tre
						• • • • • • • • • • • • • • • • • • • •	20 000	
		1/5	LA		Net Total	Quantity	20.000 m	etre
66	50.18.7.6.1 Providing and fixing	PVC pipes,	SI Comment	000 metre @	® Rs 375.1	7 / metre	Rs 7	503.40
66		pes & fitting	fittings includi	ng fixing the	Rs 375.1 e pipe with ent cement Internal w	7 / metre 1 clamps a 2 and testin	Rs 7	503.40 pacing. Tocomplete
66	Providing and fixing includes jointing of pi	pes & fitting neer-in-Char	fittings includings with one step	ng fixing the PVC solve	Rs 375.1 e pipe withent cement Internal w	7 / metre 7 / metre 1 clamps a and testin ork- Expos	Rs 7 t 1.00 m sp g of joints of sed on wall 30.000 m	503.40 pacing. Tocomplete
66	Providing and fixing includes jointing of pi	pes & fitting neer-in-Char	fittings includings with one step	ng fixing the PVC solve	e pipe with ent cement Internal w Total	7 / metre 7 / metre 1 clamps a and testin ork- Expos	Rs 7	bacing. To complete etre
66	Providing and fixing includes jointing of pi	pes & fitting neer-in-Char	fittings includings with one step rge 50 mm dia 30.000	ng fixing the PVC solve	Rs 375.1 e pipe withent cement Internal w Total	7 / metre 1 clamps a and testin ork- Expose Quantity Quantity Quantity	Rs 7 t 1.00 m sp	bacing. To complete etre
66	Providing and fixing includes jointing of pi	pes & fitting neer-in-Char	fittings includings with one step rge 50 mm dia 30.000	ng fixing the PVC solve 10 Kfg/cm - Tota	e pipe withent cement Internal w Total IDeducted Net Total	7 / metre 7 / metre 7 / metre 1 clamps a and testin ork- Expose Quantity Quantity Quantity Quantity 2 / metre	Rs 7 t 1.00 m sp g of joints of sed on wall 30.000 m 0.000 me 30.000 m	bacing. Tocomplete etre etre
	Providing and fixing includes jointing of pi per direction of Engine od219814/2019_2020 Supply and install Zo	pes & fitting neer-in-Char	fittings includings with one step rge 50 mm dia 30.000	ng fixing the PVC solve 10 Kfg/cm - Tota	e pipe withent cement Internal w Total IDeducted Net Total	7 / metre 7 / metre 7 / metre 1 clamps a and testin ork- Expose Quantity Quantity Quantity Quantity 2 / metre	Rs 7 t 1.00 m sp g of joints of sed on wall 30.000 m 0.000 me 30.000 m	bacing. Tocomplete etre etre
	Providing and fixing includes jointing of pi per direction of Engine od219814/2019_2020 Supply and install Zo	pes & fitting neer-in-Char 1	fittings includings with one step rge 50 mm dia 30.000	ng fixing the PVC solve 10 Kfg/cm - Tota	Rs 375.1 e pipe withent cement Internal w Total I Deducted Net Total Rs 324.3	7 / metre 7 / metre 7 / metre 1 clamps a and testin ork- Expose Quantity Quantity Quantity Quantity 2 / metre	Rs 7 t 1.00 m sp g of joints of sed on wall 30.000 m 0.000 me 30.000 m Rs 9	bacing. To complete etre etre etre 729.60
	Providing and fixing includes jointing of pi per direction of Engine od219814/2019_2020 Supply and install Zo	pes & fitting neer-in-Char 1	fittings includings with one step rge 50 mm dia 30.000	ng fixing the PVC solve 10 Kfg/cm - Tota	Rs 375.1 e pipe withent cement Internal w Total I Deducted Net Total Rs 324.3	7 / metre 9 and testin 9 ork- Expose 9 Quantity	Rs 7 t 1.00 m sp g of joints of sed on wall 30.000 m 0.000 me 30.000 m Rs 9 ball valve if	pacing. To complete etre etre etre moluding
	Providing and fixing includes jointing of pi per direction of Engine od219814/2019_2020 Supply and install Zo	pes & fitting neer-in-Char 1	fittings includings with one step rge 50 mm dia 30.000	ng fixing the PVC solve 10 Kfg/cm - Tota	Rs 375.1 e pipe withent cement Internal w Total I Deducted Rs 324.3	7 / metre 9 and testin 9 ork- Expose 9 Quantity	Rs 7 t 1.00 m sp g of joints of sed on wall 30.000 m 0.000 me 30.000 m Rs 9 ball valve if 2.000 2.000 each	bacing. To complete etre etre etre moluding ch

	necessary fittings.	T	T	1	<u> </u>	Γ	T	T
		1					1.000	
					Tota	al Quantity	1.000 ead	ch
				To	tal Deducte	d Quantity	0.000 ead	ch
					Net Tota	al Quantity	1.000 ead	ch
			Say	1.000 each	@ Rs 2156	.32 / each	Rs 2	156.32
69	od219816/2019_2020 Supply and install Zol necessary fittings	oto or appro	oved equiva	alent 50mm	full bore fo	rged brass	ball valve i	including a
		1					1.000	
			100	n.	Tota	al Quantity	1.000 ead	ch
			-//W	To	tal Deducte	d Quantity	0.000 ead	ch
			43 6		Net Tota	al Quantity	1.000 ead	ch
		613	Say	1.000 each	@ Rs 3673	.87 / each	Rs 3	673.87
		2	1200	M BLPZO			2.000	
	C	ther En	gineeri	ng Orga	anisa To ta	al Quantity	2.000 ead	ch
		ther En	gineeri		anisaTota tal Deducte		2.000 ead	
		Other En	gineeri		tal Deducte			ch
		other En	R		ntal Deducte	d Quantity	0.000 ead	ch
71	50.18.8.6.2 Providing and fixing Pincludes jointing of pipper direction of Engine etc. 50 mm pipe 6 kgf/s	VC pipes, fees & fittings er-in-Charge cm2	Say littings inclusive with one se. Conceale	2.000 each	Net Tota @ Rs 1532 the pipe with vent cemer	d Quantity al Quantity .83 / each th clamps a	0.000 ead 2.000 ead Rs 3 t 1.00 m sp ig of joints of making g	ch ch 065.66 Dacing. Th
71	Providing and fixing P includes jointing of pip per direction of Engine	VC pipes, fees & fittings	Say fittings inclusive with one s	2.000 each	Net Tota @ Rs 1532 the pipe with vent cemer uding cutting	d Quantity al Quantity .83 / each th clamps and testing chases an	0.000 ead 2.000 ead Rs 3 t 1.00 m sp g of joints of making g 30.000	och 065.66 Dacing. The complete a cood the wa
71	Providing and fixing P includes jointing of pip per direction of Engine	VC pipes, fees & fittings er-in-Charge cm2	Say littings inclusive with one se. Conceale	2.000 each ading fixing tep PVC soled work, included	Net Tota @ Rs 1532 the pipe with vent cemer uding cutting	d Quantity al Quantity .83 / each th clamps a at and testing chases and	0.000 ead 2.000 ead Rs 3 t 1.00 m sp g of joints of making g 30.000 m	ch ch 065.66 Dacing. Th complete a ood the wa
71	Providing and fixing P includes jointing of pip per direction of Engine	VC pipes, fees & fittings er-in-Charge cm2	Say littings inclusive with one se. Conceale	2.000 each ading fixing tep PVC soled work, included	Net Tota @ Rs 1532 the pipe with vent cemer uding cutting	d Quantity al Quantity 83 / each h clamps a at and testing chases and al Quantity d Quantity	0.000 ead 2.000 ead Rs 3 t 1.00 m sp g of joints of making g 30.000 30.000 m 0.000 me	ch ch 065.66 Dacing. Th complete a ood the wa etre
71	Providing and fixing P includes jointing of pip per direction of Engine	VC pipes, fees & fittings er-in-Charge cm2	Say littings inclusive with one se. Conceale	2.000 each ading fixing tep PVC soled work, included	Net Tota @ Rs 1532 the pipe with vent cemer uding cutting	d Quantity al Quantity .83 / each th clamps a at and testing chases and	0.000 ead 2.000 ead Rs 3 t 1.00 m sp g of joints of making g 30.000 m	och 065.66 Dacing. The complete a cood the was etre
71	Providing and fixing P includes jointing of pip per direction of Engine	VC pipes, fees & fittings er-in-Charge cm2	Say fittings inclusive with one se. Concealed 30.000	2.000 each ading fixing tep PVC soled work, included	Net Tota Rs 1532 the pipe with vent cemer uding cutting Tota tal Deducte Net Tota	d Quantity al Quantity .83 / each th clamps a and testing chases and al Quantity d Quantity al Quantity	0.000 ead 2.000 ead Rs 3 t 1.00 m sp g of joints of making g 30.000 m 0.000 me 30.000 m	och 065.66 Dacing. The complete a cood the was etre
71 72	Providing and fixing P includes jointing of pip per direction of Engine	VC pipes, fives & fittings er-in-Charge cm2	Say Sittings inclusive with one see. Concealed 30.000 Say 3	2.000 each Iding fixing the PVC soled work, included work, included work, included work and the properties of the prope	Net Tota @ Rs 1532 the pipe with vent cemer uding cutting Tota ttal Deducte Net Tota @ Rs 338.9	d Quantity al Quantity .83 / each th clamps a at and testing chases and al Quantity d Quantity al Quantity al Quantity each company and co	0.000 each 2.000 each Rs 3 t 1.00 m spring of joints of did making g 30.000 m 0.000 me 30.000 m Rs 10	ch ch 065.66 Dacing. The complete a cood the was cood the was cood the was cood the was cood the cood the cood the was cood the cood the cood the cood the cood the cood the coordinate c

					Tota	al Quantity	70.000 m	etre
				То	tal Deducte	d Quantity	0.000 me	tre
					Net Tota	al Quantity	70.000 m	etre
			Say 7	0.000 metre	@ Rs 297.4	14 / metre	Rs 20	820.80
73	50.18.9.9.1 Providing and fixing Prefilling & testing of Jo		0,	•		•		
					Tota	al Quantity	39.000 m	etre
				То	tal Deducte	d Quantity	0.000 me	tre
			Cu	R.	Net Tota	al Quantity	39.000 m	etre
			Say 3	9.000 metre	@ Rs 442.8	33 / metre	Rs 17	270.37
	Providing and fixing lincludes jointing of p	pipes with or	ne step PV	C solvent co	ement and	testing of j	oints comp	lete as pe
				in of Sala	Tota	al Quantity	20.000 m	etre
		Othor En			tal Deducte	d Quantity	0.000 me	tre
		Julei Ei	igilieen	ng Orga	Net Tota	al Quantity	20.000 m	etre
			Say 2	0.000 metre	@ Rs 347.5	0 / metre	Rs 69	950.00
75	50.18.9.10.1 Providing and fixing Prefilling & testing of jo			•				_
		1	6.520				6.520	
					Tota	al Quantity	6.520 me	tre
				То	tal Deducte	d Quantity	0.000 me	tre
					Net Tota	al Quantity	6.520 me	tre
			Say	6.520 metre	@ Rs 819.6	88 / metre	Rs 5	344.31
76	od21104/2019_2020 Providing and fixing includes jointing of pidirection of Engineer-	pes with one	e step PVC	solvent cem	nent and te	sting of join	ts complete	•
		1	4.950				4.950	
		i	1	l l			1	1
	Rain water pipe	20	4.800				96.000	

				To	otal Deducte	d Quantity	0.000 met	re
						al Quantity	100.950 n	netre
			Say 10	0.950 metre	@ Rs 754.2	26 / metre	Rs 76	142.55
77	od20996/2019_2020 Extra over for Providi aggregate 40 mm no				•	: 5 coarse	sand : 10 gı	aded ston
	75mm dia pipe	1	70.000	0.0462			3.234	
	110mm dia pipe	1	39.000	0.0581			2.266	
	160mm dia pipe	1	6.520	0.076			0.496	
					Tota	al Quantity	5.996 cum	1
			Ca	Тс	otal Deducte	d Quantity	0.000 cum	1
			11		Net Tota	al Quantity	5.996 cum	1
			Say	y 5.996 cum	@ Rs 5970).54 / cum	Rs 35	799.36
	Providing and fixing schamber with water t less than 4.50 kg an typeWith sewer brick	ight C.I. cove nd frame to b ks conformin	r with frame e not less tl g to IS: 488	of 300x300 han 2.70 kg	mm size (ir	nside) the w	reight of cov	er to be n
	chamber with water t	ight C.I. cove nd frame to b ks conforming	r with frame e not less tl	of 300x300 han 2.70 kg 5	mm size (ir	nside) the w	eight of cov	er to be n mm size
	chamber with water t	ight C.I. cove nd frame to b ks conforming	r with frame e not less tl g to IS: 488 2.000	of 300x300 han 2.70 kg 5 ng Orga	mm size (ir g as per sta anisa Tota	nside) the windard designated des	2.000 2.000 eac 0.000 eac	er to be n mm size h
	chamber with water t	ight C.I. cove nd frame to b ks conforming	r with frame e not less the g to IS: 488 2.000 ngineeri	of 300x300 han 2.70 kg 5 ng Orga	mm size (ir g as per sta anisa Tota otal Deducte	nside) the windard designal Quantity dia Quantity	2.000 eac 2.000 eac 2.000 eac	er to be n mm size h h
SING	chamber with water to less than 4.50 kg and typeWith sewer brick	ight C.I. cove nd frame to b as conforming 1 Other Er	r with frame e not less tl g to IS: 488 2.000 1gineeri	of 300x300 han 2.70 kg 5 ng Orga To 2.000 each	mm size (ir g as per sta anisa Tota otal Deducte Net Tota @ Rs 2445.	nside) the windard designal Quantity di Quantity al Quantity 00 / each	2.000 2.000 eac 0.000 eac 2.000 eac Rs 48	er to be n mm size h h h
SI No	chamber with water to less than 4.50 kg and typeWith sewer brick	ight C.I. cove nd frame to b ks conforming	r with frame e not less tl g to IS: 488 2.000 ngineeri Say	of 300x300 han 2.70 kg 5 ng Orga To 2.000 each	mm size (ir g as per star Total Deducte Net Total @ Rs 2445.	al Quantity d Quantity al Quantity co / each cf	2.000 eac 2.000 eac 2.000 eac	er to be n mm size h h
SI No	chamber with water to less than 4.50 kg and typeWith sewer brick	ight C.I. cove ad frame to b as conforming 1 Other Er No RONT GATE vation by me depth, 1.5 m	say L WITH SECU	of 300x300 han 2.70 kg 5 ng Orga Z.000 each B URITY CAB	mm size (ir as per start and an sa Total Deducte Net Total @ Rs 2445. D IN CIVIL Work raulic excaves and on pla	nside) the windard designated Quantity al Quantity 00 / each CF ORKS vator)/manun) including	2.000 2.000 eac 0.000 eac 2.000 eac Quantity ual means disposal of	h h Remark over area
	Description Description 2 F 2.6.1 Earth work in excave (exceeding 30 cm in earth, lead up to 50 reservables to 10 minus to	ight C.I. cove ad frame to b as conforming 1 Other Er No RONT GATE vation by me depth, 1.5 m	say L WITH SECU	of 300x300 han 2.70 kg 5 ng Orga Z.000 each B URITY CAB	mm size (ir as per start and an sa Total Deducte Net Total @ Rs 2445. D IN CIVIL Work raulic excaves and on pla	nside) the windard designated Quantity al Quantity 00 / each CF ORKS vator)/manun) including	2.000 2.000 eac 0.000 eac 2.000 eac Quantity ual means disposal of	h h Remark over area
	Description Description 2 F 2.6.1 Earth work in excave (exceeding 30 cm in earth, lead up to 50 reservables to 10 minus to	No RONT GATE vation by me depth, 1.5 mm and lift up to	say WITH SECU	of 300x300 han 2.70 kg 5 ng Orga Z.000 each B URITY CAB	mm size (ir as per state and sate and s	nside) the windard designated Quantity al Quantity 00 / each CF ORKS vator)/manun) including	2.000 2.000 eac 0.000 eac 2.000 eac 2.000 eac Quantity ual means disposal of	er to be no mm size h h h S90.00 Remark over area excavate All kinds
	Description Description 2 F 2.6.1 Earth work in excave (exceeding 30 cm in earth, lead up to 50 reservables to 10 minus to	No RONT GATE vation by me depth, 1.5 mm and lift up to	say WITH SECU	of 300x300 han 2.70 kg 5 ng Org To 2.000 each B URITY CAB eans (Hydra well as 10 sposed earth	mm size (ir as per state and sate and s	nside) the windard designal Quantity displayed Quantity al Quantity 00 / each of CF ORKS vator)/manun, including led and near	2.000 2.000 eac 0.000 eac 2.000 eac 2.000 eac Quantity ual means disposal of atly dressed	er to be no mm size h h h S90.00 Remark over area excavate All kinds
	Description Description 2 F 2.6.1 Earth work in excave (exceeding 30 cm in earth, lead up to 50 reservables to 10 minus to	No RONT GATE vation by me depth, 1.5 mm and lift up to	say WITH SECU	of 300x300 han 2.70 kg 5 ng Org To 2.000 each B URITY CAB eans (Hydra well as 10 sposed earth	mm size (ir as per star and a star and a size (ir as per star and a size (ir as per star and a size (ir as per star and a size and a	nside) the windard designal Quantity displayed Quantity al Quantity 00 / each of CF ORKS vator)/manun, including led and near	2.000 2.000 eac 0.000 eac 2.000 eac 2.000 eac 2.000 eac Quantity ual means disposal of atly dressed 2.610 2.610 cum	er to be n mm size h h h S90.00 Remark over area excavate All kinds
	Description Description 2 F 2.6.1 Earth work in excave (exceeding 30 cm in earth, lead up to 50 reservables to 10 minus to	No RONT GATE vation by me depth, 1.5 mm and lift up to	say Chanical main width as to 1.5 m, dis	of 300x300 han 2.70 kg 5 ng Org To 2.000 each B URITY CAB eans (Hydra well as 10 sposed earth	mm size (ir as per star and a star and a size (ir as per star and a size (ir as per star and a size (ir as per star and a size and a	nside) the windard designal Quantity di Quantity 00 / each CF ORKS vator)/manun, including led and nead and nead and nead all Quantity di Quantity di Quantity all Quantity	2.000 2.000 eac 0.000 eac 2.000 eac 2.000 eac 2.000 eac 2.000 eac 2.000 eac 4 Quantity ual means disposal of atly dressed 2.610 2.610 cum 0.000 cum 2.610 cum	er to be no mm size h h h S90.00 Remark over area excavate All kinds

	1							
	Filling available excava exceeding 20 cm in depart and lift up to 1.5 m.	•	•	•	•			-
		1	4.200				4.200	
					Tota	l Quantity	4.200 cum	1
				То	tal Deducted	d Quantity	0.000 cum	1
					Net Tota	I Quantity	4.200 cum	1
			Sa	ay 4.200 cur	n @ Rs 178	.38 / cum	Rs 7	49.20
3	4.1.8 Providing and laying in shuttering - All work unnominal size)	•		•	_	_		_
		1	1.170	W.			1.170	
		1	43 6		Tota	l Quantity	1.170 cum	1
		11		То	tal Deducted	d Quantity	0.000 cum	1
		16	DE		Net Tota	I Quantity	1.170 cum	1
		16/45	Say	/ 1.170 cum	@ Rs 6352	.26 / cum	Rs 74	132.14
4	4.3.1 Centering and shutterifootings, bases for col						work for:Fo	oundations,
		1	2.850		1 T	7	2.850	
			K		Tota	l Quantity	2.850 sqm	1
				То	tal Deducted	d Quantity	0.000 sqm	1
					Net Tota	I Quantity	2.850 sqm	1
			Sa	ay 2.850 sqr	n @ Rs 275	.12 / sqm	Rs 7	84.09
5	4.11 Providing and laying d sand: 4 graded stone				h cement co	oncrete 1:2	:4(1 cement	: 2 coarse
		1	4.560				4.560	
					Tota	I Quantity	4.560 sqm	1
				То	tal Deducted	d Quantity	0.000 sqm	1
					Net Tota	I Quantity	4.560 sqm	1
			Sa	ay 4.560 sqr	n @ Rs 454	.27 / sqm	Rs 20	71.47
6	5.9.3 Centering and shutter landings, balconies at	-	-	, etc. and r	emoval of f	orm for:Su	spended flo	oors, roofs,

		1	12.000				12.000	
		<u> </u>	12.000		Tota	al Quantity	12.000 sq	m
				To	tal Deducte	<u>-</u>	0.000 sqm	
						al Quantity	12.000 sq	
			Sa	y 12.000 sqr		<u> </u>		188.36
7	5.9.5) :=:000 04 :			1101	
•	Centering and shuttering girders bressumers an			etc. and rem	oval of forn	n for:Lintels	, beams, pli	inth beams
		1	3.750				3.750	
					Tota	al Quantity	3.750 sqm	1
			10u	То	tal Deducte	d Quantity	0.000 sqm	1
			-//W	31.5	Net Tota	al Quantity	3.750 sqm	1
		-	S	ay 3.750 sqr	m @ Rs 486	5.40 / sqm	Rs 18	324.00
8	5.9.16.1 Centering and shuttering floors and wallsUnder	10 11.0	1 1 5 5 5	etc. and rem	oval of forn	n for:Edges	of slabs an	d breaks ir
	3	1	15.200				15.200	
			M Barre	un of the	Tota	al Quantity	15.200 me	etre
	0	ther En	gineeri	ng Or b 9	tal Deducte	d Quantity	0.000 met	re
					Net Tota	al Quantity	15.200 me	etre
		$P \mid$	Say 1	5.200 metre	@ Rs 173.3	34 / metre	Rs 26	634.77
9	5.22.6 Steel reinforcement fo binding all complete u		`		0.			
		1	243.000				243.000	
					Tota	al Quantity	243.000 k	ilogram
				То	tal Deducte	d Quantity	0.000 kilo	gram
					Net Tota	al Quantity	243.000 k	ilogram
			Say 243.00	0 kilogram @	® Rs 80.29	/ kilogram	Rs 19	510.47
10	5.33.2 Providing and laying in concrete for reinforce including pumping of cand reinforcement, incretard setting of concreting incharge. In cement used as per decement used as per decement.	d cement of oncrete to still cluding adm te, improve Note:- Ceme	concrete wo site of laying nixtures in r workability ent content	ork, using c g but exclud recommende without impa considered	ement cont ling the cos ed proportic airing streng in this item	tent as per t of centering ons as per th and dura is @ 330 k	approved ong, shuttering IS: 9103 to bility as per g/ cum. Exc	design mixing, finishing accelerate direction of the session of th

	V level							T.
		1	3.750				3.750	
					Tota	al Quantity	3.750 cur	n
				To	otal Deducte	d Quantity	0.000 cur	n
					Net Tota	al Quantity	3.750 cur	n
			Say	3.750 cum	@ Rs 10284	.20 / cum	Rs 38	3565.75
11	7.1.1 Random rubble concrete 1:6:12 (level with:Cemen	1 cement : 6 coa	arse sand : 12	2 graded sto	•	•		
		1	6.990	0			6.990	
		<u>'</u>	JAN	1992	Tota	al Quantity	6.990 cur	n
			£.2 1	To	tal Deducte	d Quantity	0.000 cur	n
		6	W.	35 N	Net Tota	al Quantity	6.990 cur	n
			Sa	y 6.990 cum	@ Rs 5625	5.56 / cum	Rs 39	322.66
12	50.6.1.8 Solid block maso size confirming to CM 1:6 (1 ceme	o IS 2185 part I	of 1979 for s	uper structu ete	re up to floo	or two level		
12	Solid block maso size confirming to	o IS 2185 part I	of 1979 for s	uper structu ete	re up to floo	ns	7.120	ess 15cm
12	Solid block maso size confirming to	o IS 2185 part I	of 1979 for s	uper structu ete ng Orga	nisatio	ns al Quantity	7.120 cur	ess 15cm
12	Solid block maso size confirming to	o IS 2185 part I	of 1979 for s	uper structu ete ng Orga	Total Deducte	ns al Quantity d Quantity	7.120 7.120 cur 0.000 cur	ess 15cm
12	Solid block maso size confirming to	o IS 2185 part I	of 1979 for s nd etc compl 1917.120	uper structuete ng Orga	Total Deducte	ns al Quantity d Quantity al Quantity	7.120 7.120 cur 0.000 cur 7.120 cur	n n
	Solid block maso size confirming to CM 1:6 (1 ceme	o IS 2185 part I	of 1979 for s nd etc compl 1917.120	uper structu ete ng Orga	Total Deducte	ns al Quantity d Quantity al Quantity	7.120 7.120 cur 0.000 cur 7.120 cur	ess 15cm
13	Solid block maso size confirming to	o IS 2185 part I ent : 6 coarse sar Other E	of 1979 for s nd etc compl 7.120	uper structurete ng Orga To	Total Deducte Net Total @ Rs 5944	ns al Quantity d Quantity al Quantity	7.120 7.120 cur 0.000 cur 7.120 cur	n n
	Solid block maso size confirming to CM 1:6 (1 ceme	o IS 2185 part I ent : 6 coarse sar Other E	of 1979 for s nd etc compl 7.120	uper structurete ng Orga To	Total Deducte Net Total @ Rs 5944	ns al Quantity d Quantity al Quantity	7.120 7.120 cur 0.000 cur 7.120 cur	n n
	Solid block maso size confirming to CM 1:6 (1 ceme	o IS 2185 part I ent : 6 coarse sai Other E	of 1979 for s nd etc compl 7.120 Sa (1 cement : 4	uper structurete ng Orga To	Total Deducte Net Total @ Rs 5944	ns al Quantity d Quantity al Quantity	7.120 7.120 cur 0.000 cur 7.120 cur Rs 42	n n 2326.26
	Solid block maso size confirming to CM 1:6 (1 ceme	o IS 2185 part I ent : 6 coarse sai Other E	of 1979 for s nd etc compl 7.120 Sa (1 cement : 4	uper structurete ng Orga To y 7.120 cum	Total Deducte Net Total @ Rs 5944	ns al Quantity d Quantity al Quantity70 / cum	7.120 cur 0.000 cur 7.120 cur Rs 42	n n 2326.26
	Solid block maso size confirming to CM 1:6 (1 ceme	o IS 2185 part I ent : 6 coarse sai Other E	of 1979 for s nd etc compl 7.120 Sa (1 cement : 4	uper structurete ng Orga To y 7.120 cum	Total Deducte Net Total @ Rs 5944 and) Total total Deducte	ns al Quantity d Quantity al Quantity70 / cum	7.120 cur 0.000 cur 7.120 cur Rs 42 33.600	n n 2326.26
	Solid block maso size confirming to CM 1:6 (1 ceme	o IS 2185 part I ent : 6 coarse sai Other E	Sa (1 cement : 4	uper structurete ng Orga To y 7.120 cum	Total Deducte Net Total (Control of the Control of	ns al Quantity d Quantity al Quantity	7.120 cur 7.120 cur 7.120 cur 7.120 cur 7.120 cur 33.600 33.600 sc 0.000 sqr 33.600 sc	n n 2326.26
	Solid block maso size confirming to CM 1:6 (1 ceme	o IS 2185 part I ent: 6 coarse sai Other E laster of mix:1:4	Sa (1 cement : 4	y 7.120 cum 4 coarse sar	Total Deducte Net Total Otal Deducte Net Total	ns al Quantity d Quantity al Quantity	7.120 cur 7.120 cur 7.120 cur 7.120 cur 7.120 cur 33.600 33.600 sc 0.000 sqr 33.600 sc	nnnn2326.26
13	Solid block maso size confirming to CM 1:6 (1 ceme	o IS 2185 part I ent: 6 coarse sai Other E laster of mix:1:4	Sa (1 cement : 4	y 7.120 cum 4 coarse sar	Total Deducte Net Total Otal Deducte Net Total	ns al Quantity d Quantity al Quantity	7.120 cur 7.120 cur 7.120 cur 7.120 cur 7.120 cur 33.600 33.600 sc 0.000 sqr 33.600 sc	nnnn2326.26

	Total Deducted Quantity	0.000 sqm
	Net Total Quantity	58.660 sqm
	Say 58.660 sqm @ Rs 238.66 / sqm	Rs 13999.80
15	13.16.1 6 mm cement plaster of mix:1:3 (1 cement : 3 fine sand)	
	1 12.000	12.000
	Total Quantity	12.000 sqm
	Total Deducted Quantity	0.000 sqm
	Net Total Quantity	12.000 sqm
	Say 12.000 sqm @ Rs 203.98 / sqm	Rs 2447.76
	Providing and laying vitrified floor tiles in different sizes (thickness to be specified with water absorption less than 0.08% and conforming to IS: 15622, of approved shades, laid on 20 mm thick cement mortar 1:4(1 cement: 4 coarse sand), including with white cement and matching pigments etc., complete. Size of Tile 600 x 600	make, in all colours and uding grouting the joint
	Total Quantity	12.000 sqm
	Total Deducted Quantity	0.000 sqm
	Other Engineering Organisations Net Total Quantity	12.000 sqm
	Say 12.000 sqm @ Rs 1587.87 / sqm	Rs 19054.44
17	13.43.1 Applying one coat of water thinnable cement primer of approved brand and surface:Water thinnable cement primer	d manufacture on wa
	1 115.060	115.060
	Total Quantity	115.060 sqm
	Total Deducted Quantity	0.000 sqm
	Net Total Quantity	115.060 sqm
	Say 115.060 sqm @ Rs 52.41 / sqm	Rs 6030.29
18	13.80 Providing and applying white cement based putty of average thickness 1 mm, manufacturer, over the plastered wall surface to prepare the surface even and	• •
	1 106.66	106.660
	Total Quantity	106.660 sqm
	Total Deducted Quantity	0.000 sqm
	Net Total Quantity	106.660 sqm
		Rs 13223.71

19	13.82.2 Wall painting with acr	ylic emulsion	paint, having	g VOC (Vol	atile Organi	c Compour	nd) content l	ess than 5
	grams/ litre, of approv	ed brand and	d manufacture	,	•	•	•	
		1	115.060				115.060	
					Tota	al Quantity	115.060 s	qm
				То	tal Deducte	d Quantity	0.000 sqn	า
					Net Tota	al Quantity	115.060 s	qm
			Say 1	15.060 sqr	n @ Rs 104	.83 / sqm	Rs 12	061.74
	Providing and fixing Normal round bars etc. include frames with rawl plugs	ing priming c	1100			mplete.Fixe	ed to openin	•
		1	17 9	R X	1	32.4	32.400	
		11			Tota	al Quantity	32.400 kg	
		11 44		To	tal Deducte	d Quantity	0.000 kg	
		11 /71		75-77.73				
		194	Ka		Net Tota	al Quantity	32.400 kg	
21	9.147.5 Providing and fixing	factory made	Holia	3718	kg @ Rs 1	59.51 / kg	Rs 5	168.12
21	Providing and fixing comprising of uPVC in duly reinforced with 1 requiredlength (shaped dimension, EPDM gast casement handles, Gast caps and necessary standardware's and drainal shall be filled withwest all complete as per apsilicon sealant shall be minus 5% tolerancein double panels with S.	multi-chambe 60 +/- 0.2mr e & size acces sket, stainles I fasteners 1 stainless stee mullion (if reage of water of ather proof sinter of sinter proof sint	e uPVC white ered frame, s in thick galvar ording to uPV s steel (SS 30 00 x 8mm sizel el screws etc equired) shall etc. Afterfixing licon sealant ing & direction rately) i.e. in depth of	e colour casash andmonized mild so we for fixing the color fixing the color fixing frame the cover backer of Engine to the color for up width of part of the color for the	sement/casullion (where teel section uPVC extraction linguister frame & section welded gap between rod of receiver-in-Charge VC frame, section in the section welded the section well as the s	sement cur re ever requ made from uded glazir s, zinc alloy nished wall, ash shall b lincluding d en frame an quired size a e. (Single / o sash and m be accepta	Rs 5: Infixed glaze uired) extruct In roll forming Ing beads of Ity (white power plastic pack Ity emitred cur Ity adjacent from the properties of the prope	ed window ded profile g process appropria der coate kers, plast tand fusic es for fixir inished wa ovedqualit s panes ar ded profile ent windo mm & sas
21	Providing and fixing comprising of uPVC in duly reinforced with 1 requiredlength (shaped dimension, EPDM gast casement handles, Gast caps and necessary swelded at all corners, hardware's and drainal shall be filled withwest all complete as per apsilicon sealant shall be minus 5% tolerancein	multi-chamber 60 +/- 0.2mr e & size accesset, stainless steem mullion (if reacted from the proof sign of the paid sepaid	e uPVC white ered frame, so thick galvar ording to uPVs steel (SS 300 x 8mm sizel screws etcequired) shall etc. Afterfixing licon sealanting & direction attely) < br > Notice. in depth attel ges (350 x 150 vall thickness	e colour casash andmonized mild so VC profile), 04 grade) for fixing c. Profile of be also fus g frame the over backen of Engine ote: For uP & width of period of 1.9 mm, and 2.3 ± 0.	kg @ Rs 15 sement/cas ullion (where steel section uPVC extractionhinge frame to fire frame & s sion welded gap between er rod of receiver-in-Charg VC frame, s profile shall made of (b) 2 mm and s	sement cur re ever requ made from uded glazir s, zinc alloy nished wall, ash shall b lincluding d en frame an quired size a e. (Single / o sash and m be accepta	Rs 5: Infixed glaze uired) extruct In roll forming Ing beads of Ity (white power plastic pack Ity emitred cur Ity adjacent from the properties of the prope	ed window ded profile g process appropria der coate kers, plast tand fusic es for fixir inished wa ovedqualit s panes ar ded profile ent windo mm & sas
21	Providing and fixing comprising of uPVC in duly reinforced with 1 requiredlength (shapedimension, EPDM gast casement handles, Gast caps and necessary swelded at all corners, hardware's and drainal shall be filled withwest all complete as per apsilicon sealant shall be minus 5% tolerancein double panels with S. / mullion 67 x 80 mm	multi-chamber 60 +/- 0.2mr e & size accesset, stainless steem mullion (if reacted from the proof sign of the paid sepaid	e uPVC white ered frame, so thick galvar ording to uPVs steel (SS 300 x 8mm sizel screws etcequired) shall etc. Afterfixing licon sealanting & direction attely) < br > Notice. in depth attel ges (350 x 150 vall thickness	e colour casash andmonized mild so VC profile), 04 grade) for fixing c. Profile of be also fus g frame the over backen of Engine ote: For uP & width of period of 1.9 mm, and 2.3 ± 0.	kg @ Rs 15 sement/cas ullion (where steel section uPVC extractionhinge frame to fire frame & s sion welded gap between er rod of receiver-in-Charg VC frame, s profile shall made of (b) 2 mm and s	sement cur re ever requ made from uded glazir s, zinc alloy nished wall, ash shall b lincluding d en frame an quired size a e. (Single / o sash and m be accepta	Rs 5: Infixed glaze uired) extruct In roll forming Ing beads of Ity (white power plastic pack Ity emitred cur Ity adjacent from the properties of the prope	ed window ded profile g process appropria der coate kers, plast tand fusic es for fixir inished wa ovedqualit s panes ar ded profile ent windo mm & sas
21	Providing and fixing comprising of uPVC in duly reinforced with 1 requiredlength (shapedimension, EPDM gast casement handles, Gast caps and necessary swelded at all corners, hardware's and drainal shall be filled withwest all complete as per apsilicon sealant shall be minus 5% tolerancein double panels with S. / mullion 67 x 80 mm	multi-chamber 60 +/- 0.2mr e & size accesset, stainless steemullion (if readingless of water eather proof simproved drawner paid sepaid	e uPVC white ered frame, so thick galvar ording to uPVs steel (SS 300 x 8mm sizel screws etcequired) shall etc. Afterfixing licon sealanting & direction attely) < br> i.e. in depth and ges (350 x 150 yall thicknesse ea of window	e colour casash andmonized mild so VC profile), 04 grade) for fixing c. Profile of be also fus g frame the over backen of Engine ote: For uP & width of period of 1.9 mm, and 2.3 ± 0.	kg @ Rs 15 sement/cas ullion (where steel section uPVC extractionhinge frame to fire frame & s sion welded gap between rod of receiver-in-Charg VC frame, s profile shall made of (b)	sement cur re ever requ made from uded glazir s, zinc alloy nished wall, ash shall b lincluding d en frame an quired size a e. (Single / o sash and m be accepta	Rs 5: mfixed glaze uired) extruct r roll forming ng beads of / (white pow plastic pack e mitred cu rilling of hol and of appre double glass fullion extruct able.Casem ame 67 x 60 ng bead/ dou	ed window ded profile process appropria der coate kers, plas tand fusion es for fixion inished w ovedquali s panes and ded profile ent window mm & sas uble glazio
21	Providing and fixing comprising of uPVC in duly reinforced with 1 requiredlength (shapedimension, EPDM gast casement handles, Gast caps and necessary swelded at all corners, hardware's and drainal shall be filled withwest all complete as per apsilicon sealant shall be minus 5% tolerancein double panels with S. / mullion 67 x 80 mm	multi-chamber 60 +/- 0.2mr e & size accesset, stainless steemullion (if readingless of water eather proof simproved drawner paid sepaid	e uPVC white ered frame, so thick galvar ording to uPVs steel (SS 300 x 8mm sizel screws etcequired) shall etc. Afterfixing licon sealanting & direction attely) < br> i.e. in depth and ges (350 x 150 yall thicknesse ea of window	e colour casash andmonized mild so VC profile), 04 grade) for fixing c. Profile of be also fus g frame the over backer of Engine ote: For uP & width of p x 1.9 mm; of 2.3 ± 0. If above 1.5	kg @ Rs 15 sement/cas ullion (where steel section uPVC extractionhinge frame to fire frame & s sion welded gap between rod of receiver-in-Charg VC frame, s profile shall made of (b)	sement cur e ever requ made from uded glazir s, zinc alloy nished wall, ash shall b lincluding d en frame an quired size a e.(Single / o sash and m be accepta ig series)fra single glazir	Rs 5: Infixed glaze uired) extruct r roll forming ng beads of v (white power plastic pack the mitred curilling of hole and of appre- double glass the factor able.Casem ame 67 x 60 ng bead/ double 3.000	ed window ded profile process appropria der coate kers, plas tand fusion es for fixion inished w ovedquali s panes and ded profile ent window mm & sas uble glazion

			Say 3.00	0 sqm @ Rs 1187	7.38 / sqm	Rs 35	632.14
22	21.3.2 Providing and fixing glarubber / neoprene gaslin -Charge. (Cost of a mm thickness	ket etc. con	nplete as per the	architectural drawi	ngs and the	directions o	f Engineeı
		2	1.000	1.500		3.000	
				Tot	al Quantity	3.000 sqr	า
				Total Deducte	ed Quantity	0.000 sqr	า
					al Quantity	3.000 sqr	
			Say 3 (00 sqm @ Rs 142			272.30
23	od219690/2019 2020		Cuy 0.0	100 04111 @ 110 1 12	1.107 04111	110 4	27 2.00
	4 side edges painted / 100 mm. Latch with Le .Tower Bolt 6" SS Finis	ver handles	s without Keys S	S finish - 1 No, Hin		• ,	
		2	0.800	2.100		3.361	
				Tot	al Quantity	3.361 sqr area	n of door
	C	ther E	ngineering	Organisation Total Deducted		0.000 sqr area	n of door
			KI	Net Tot	al Quantity	3.361 sqr area	n of door
	Say	3.361 sqm	of door area @ R	s 8728.21 / sqm of	door area	Rs 29	335.51
24	10.2 Structural steel work r cutting, hoisting, fixing			•			
		1	941.000			941.000	
				Tot	al Quantity	941.000 k	g
				Total Deducte	ed Quantity	0.000 kg	
				Net Tot	al Quantity	941.000 k	g
			Sav	941.000 kg @ Rs	95 96 / kg	Rs 90	298.36
25	25.7 Designing, fabricating Panel Cladding, with o and all levels etc. inc	pen groove	nstalling and fixin	g in position Curta	ain Wall with	hAluminium building , fo	Composi r all heigh

including checking of all the structural and functional design.b) Providing, fabricating and supplying and fixing panels of aluminium compositepanel cladding in pan shape in metalic colour of approved shades made out of4mm thick aluminium composite panel material consisting of 3mm thick FR grademineral core sandwiched between two Alumini um sheets (each0.5mm thick). Thealuminium composite panel cladding sheet shall be coil coated, with Kynar500based PVDF / Lumiflon based fluoropolymer resin coating of approved colourand shade on face # 1 and polymer (Service) coating on face # 2 as specified usingstainless steel screws, nuts, bolts, washers, cleats, weather silicone sealant, backerrods etc.c) The fastening brackets of Aluminium alloy 6005 T5 / MS with Hot Dip Galvanisedwith serrations and serrated washers to arrest the wind load movement, fasteners, SS 316 Pins and anchor bolts of approved make in SS 316, Nylon separators toprevent bi-metallic contacts all complete required to perform as per specificationand drawing The item includes cost of all material & labour component, the cost ofall mock ups at site, cost of all samples of the individual components for testing inan approved laboratory, field tests on the assembled working curtain wall with aluminium composite panel cladding, cleaning and protection of the curtain wallwith aluminium composite panel cladding till the handing over of the building foroccupation. Base frame work for ACP cladding is payable under the relevantaluminium item.s The Contractor shall provide curtain wall with aluminium composite panel cladding, having all the performance characteristics all complete, as per the Architectural drawings, as per item description, as specified, as per theapproved shop drawings and as directed by the Engineer-in-Charge. However, for the purpose of payment, only the actual area on the external face of the curtain wall with Aluminum Composite Panel Cladding (including width ofgroove) shall be measured in sqm. up to two decimal places.

		1	42.400	373775			42.400	
				n o	Tota	al Quantity	42.400 sq	m
		th on En		To	tal Deducte	d Quantity	0.000 sqm	1
		uner El	igineen	ng Orga	Net Tota	al Quantity	42.400 sq	m
		D	Say	42.400 sqm	@ Rs 4831	.27 / sqm	Rs 204	845.85
26	13.84.2							
	Painting with synthetic	enamel pa	aint, having	VOC (Volati	le Organic	Compound)	content les	s than 150
	grams/ litre, of approve achieve even shade ar			re, including	applying ad	dditional coa	its wherever	required to
	acilieve everi silade ai	ia colour. i w					I	
		1	55.700				55.700	
					Tota	al Quantity	55.700 sq	m
				То	tal Deducte	d Quantity	0.000 sqm	1
					Net Tota	al Quantity	55.700 sq	m
			Sa	y 55.700 sqr	m @ Rs 106	6.46 / sqm	Rs 59	29.82
-								

3 COMPOUND WALL

1 2.6.1

Description

No

SI No

Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including disposal of excavated earth, lead up to 50 m and lift up to 1.5 m, disposed earth to be levelled and neatly dressed. All kinds of soil

CF

Quantity

Remark

			Earth	work in exca	vation			
	Earth work in excavation	1	25.200				25.200	
					Tota	al Quantity	25.200 cu	m
				To	tal Deducte	d Quantity	0.000 cun	า
					Net Tota	al Quantity	25.200 cu	m
			Sa	y 25.200 cur	m @ Rs 178	3.66 / cum	Rs 4	502.23
2	4.1.8 Providing and laying in shuttering - All work up nominal size)	•		•	•	•		•
		1	3.600				3.600	
			C. 1		Tota	al Quantity	3.600 cun	า
		1	X 3	To	tal Deducte	d Quantity	0.000 cun	า
		1/		38.WA	Net Tota	al Quantity	3.600 cun	า
		155	Sa	y 3.600 cum	@ Rs 6352	2.26 / cum	Rs 22	868.14
3	4.3.1 Centering and shuttering footings, bases for columns	-	g strutting,	a and	c. and remo		work for:F	oundation
					Tota	al Quantity	4.000 sqn	า
				To	tal Deducte		0.000 sqn	
						al Quantity	4.000 sqn	
			S	ay 4.000 sqr		-	-	100.48
4	2.25 Filling available excava exceeding 20 cm in depart and lift up to 1.5 m.	•	•	•	•			•
		1	7.200				7.200	
					Tota	al Quantity	7.200 cun	า
				To	tal Deducte	d Quantity	0.000 cun	า
					Net Tota	al Quantity	7.200 cun	า
			S	ay 7.200 cur	m @ Rs 178	3.38 / cum	Rs 12	284.34
5	4.1.2 Providing and laying in shuttering - All work up	•		•	•	•		_

	mm nominal size)						
			cement	concrete		1	
	cement concrete	1	1.200			1.200	
				Т	otal Quantity	1.200 cum	
				Total Deduc	ted Quantity	0.000 cum	
				Net T	otal Quantity	1.200 cum	
			Say 1.20	0 cum @ Rs 84	04.12 / cum	Rs 10084.9	94
6	7.1.1 Random rubble mason concrete 1:6:12 (1 ceme level with:Cement mortal	ent : 6 coa	rse sand : 12 grad	ed stone aggre	•	• .	
		1	14.400			14.400	
		-	E. L. MIN	5	otal Quantity	14.400 cum	
		611	N. A.	Total Deduc	ted Quantity	0.000 cum	
				Not T	otal Quantity	14.400 cum	
			1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Net i	otal Guaritity		
7	50.6.1.8 Solid block masonry usi size confirming to IS 21 CM 1:6 (1 cement : 6 cement :	85 part I	st solid blocks (Fac of 1979 for super s	0 cum @ Rs 56	25.56 / cum	Rs 81008.0	aila
7	Solid block masonry usi	85 part I	st solid blocks (Fac of 1979 for super s nd etc complete	0 cum @ Rs 56	25.56 / cum	Rs 81008.0	aila
7	Solid block masonry using size confirming to IS 21 CM 1:6 (1 cement: 6 cm	85 part I coarse sar	st solid blocks (Fac of 1979 for super s nd etc complete Solid bloc	ctory made) of structure up to f	25.56 / cum	Rs 81008.0	aila
7	Solid block masonry using size confirming to IS 21 CM 1:6 (1 cement: 6 cm	85 part I coarse sar	st solid blocks (Fac of 1979 for super s nd etc complete Solid bloc	ctory made) of structure up to f	25.56 / cum size 40x20x15 oor two level	Rs 81008.0 cm or nearest av with thickness 15	aila
7	Solid block masonry using size confirming to IS 21 CM 1:6 (1 cement: 6 cm	85 part I coarse sar	st solid blocks (Fac of 1979 for super s nd etc complete Solid bloc	ctory made) of structure up to find the kind of the control of the	25.56 / cum size 40x20x15 oor two level oons	Rs 81008.0 cm or nearest av with thickness 15 7.860 7.860 cum	aila
7	Solid block masonry using size confirming to IS 21 CM 1:6 (1 cement: 6 cm	85 part I coarse sar	st solid blocks (Fac of 1979 for super s nd etc complete Solid bloc 7.860	ctory made) of structure up to find the kind of the control of the	25.56 / cum size 40x20x15 cor two level otal Quantity cted Quantity otal Quantity	Rs 81008.0 cm or nearest av with thickness 15 7.860 7.860 cum 0.000 cum	raila 5cm
8	Solid block masonry using size confirming to IS 21 CM 1:6 (1 cement: 6 cm	85 part I coarse sar	st solid blocks (Factor 1979 for super solid blocks) Solid blocks 7.860	ctory made) of structure up to find the control of structure and the control of t	25.56 / cum size 40x20x15 cor two level otal Quantity cted Quantity otal Quantity	Rs 81008.0 cm or nearest av with thickness 15 7.860 7.860 cum 0.000 cum 7.860 cum	zaila 5cm
	Solid block masonry usi size confirming to IS 21 CM 1:6 (1 cement: 6 cement:	85 part I coarse sar	st solid blocks (Factor 1979 for super solid etc complete Solid block 7.860 Say 7.86	ctory made) of structure up to find the control of structure and the control of t	25.56 / cum size 40x20x15 cor two level otal Quantity cted Quantity otal Quantity	Rs 81008.0 cm or nearest av with thickness 15 7.860 7.860 cum 0.000 cum 7.860 cum	raila 5cm
	Solid block masonry usi size confirming to IS 21 CM 1:6 (1 cement: 6 cement:	85 part I coarse sar	st solid blocks (Factor 1979 for super solid etc complete Solid block 7.860 Say 7.86	ctory made) of structure up to find the structure of the	25.56 / cum size 40x20x15 cor two level otal Quantity cted Quantity otal Quantity	Rs 81008.0 cm or nearest av with thickness 15 7.860 7.860 cum 0.000 cum 7.860 cum	raila 5cm
	Solid block masonry usi size confirming to IS 21 CM 1:6 (1 cement : 6 cement	85 part 1 coarse sar	st solid blocks (Factor 1979 for super solid blocks) Solid blocks 7.860 Say 7.860 (1 cement : 6 coar 12 mm cer	ctory made) of structure up to find the structure of the	25.56 / cum size 40x20x15 cor two level otal Quantity cted Quantity otal Quantity	7.860 7.860 cum 7.860 cum 7.860 cum 7.860 cum	zaila 5cm
	Solid block masonry usi size confirming to IS 21 CM 1:6 (1 cement : 6 cement	85 part 1 coarse sar	st solid blocks (Factor 1979 for super solid blocks) Solid blocks 7.860 Say 7.860 (1 cement : 6 coar 12 mm cer	ctory made) of structure up to find the structure of the	25.56 / cum size 40x20x15 oor two level otal Quantity otal Quantity otal Quantity 44.70 / cum	7.860 7.860 cum 7.860 cum 7.860 cum 7.860 cum 7.860 cum	zaila 5cm
	Solid block masonry usi size confirming to IS 21 CM 1:6 (1 cement : 6 cement	85 part 1 coarse sar	st solid blocks (Factor 1979 for super solid blocks) Solid blocks 7.860 Say 7.860 (1 cement : 6 coar 12 mm cer	ctory made) of structure up to frequency and structure up to frequency and the structure up to frequency and	25.56 / cum size 40x20x15 oor two level otal Quantity otal Quantity 44.70 / cum	7.860 7.860 cum	raila 5cm

	surface:Water thinnab	no odinen	•					
			Ce	ement prime	er T			T
	cement primer	1	79.090				79.090	
					To	tal Quantity	79.090 sq	ım
				To	tal Deduct	ed Quantity	0.000 sqn	n
					Net To	tal Quantity	79.090 sq	<u>l</u> m
			Sa	ay 79.090 s	qm @ Rs 5	2.41 / sqm	Rs 4	145.11
	Wall painting with acryl grams/ litre, of approve achieve even shade an	d brand an	d manufactur	• ,	_	•	•	
			acryli	ic emulsion	paint			
	acrylic emulsion paint	1	79.040	S. W	7 13		79.040	
					To	tal Quantity	79.040 sq	<u>l</u> m
	N N	155	LA	To	otal Deduct	ed Quantity	0.000 sqn	n
					Not To		79.040 sq	
				1553/43/1	Net 10	tal Quantity	79.040 39	_i m
11	10.16.1	ther E	1904	79.040 sq	m @ Rs 10	4.83 / sqm		285.76
11	10.16.1 Steel work in built up cutting, hoisting, fixing and bolted with special	tubular (ro position a	ngineering and applying a vashers etc. c	ng Org or rectang priming co	m @ Rs 10 anisatioular hollowood of appropriate of appropriate finished	4.83 / sqm ONS v tubes etc.)	Rs 82 trusses etc	285.76 c., includ
11	Steel work in built up cutting, hoisting, fixing	tubular (ro position a	ngineering and applying a vashers etc. c	ng Orgor rectang priming complete.Ho	m @ Rs 10 anisatioular hollowood of appropriate of appropriate finished	4.83 / sqm ONS v tubes etc.)	Rs 82 trusses etc	285.76 c., includ
11	Steel work in built up outting, hoisting, fixing and bolted with special Steel work in built up	tubular (ro position a shaped w	ngineering and applying a vashers etc. c	ng Orgor rectang priming complete.Ho	m @ Rs 10 anisatio ular hollow pat of appro of finished p tubular	4.83 / sqm ONS v tubes etc.)	trusses etcrimer, include tubes	285.76 c., including weld
11	Steel work in built up outting, hoisting, fixing and bolted with special Steel work in built up	tubular (ro position a shaped w	ngineering and applying a vashers etc. c	ng Organor rectang a priming complete.Howk in built u	m @ Rs 10 anisatio ular hollow pat of appro of finished p tubular To	4.83 / sqm Ons v tubes etc.) oved steel priviled type	trusses etcrimer, include tubes	285.76 c., including weld
11	Steel work in built up outting, hoisting, fixing and bolted with special Steel work in built up	tubular (ro position a shaped w	ngineering and applying a vashers etc. c	ng Organor rectang a priming complete.Howk in built u	m @ Rs 10 anisatio ular hollow pat of appro of finished p tubular Too otal Deducte	4.83 / sqm 7 tubes etc.) by tubes etc.) by definition of the state	trusses etcrimer, include tubes 148.000 k	285.76 c., including welding welding
11	Steel work in built up outting, hoisting, fixing and bolted with special Steel work in built up	tubular (ro position a shaped w	ngineering and applying a vashers etc. constell wo	ng Organor rectang a priming complete.Howk in built u	m @ Rs 10 anisatio ular hollow pat of appro of finished p tubular To otal Deducte Net To	4.83 / sqm Ons y tubes etc.) oved steel priviled type tal Quantity ed Quantity tal Quantity	148.000 kg 148.000 kg	285.76 c., including weld
11	Steel work in built up outting, hoisting, fixing and bolted with special Steel work in built up	tubular (ro position ar shaped w 1	ngineering and applying a vashers etc. of Steel wo 148.000	or rectang y o	m @ Rs 10 anisatio ular hollow bat of appro ot finished p tubular To otal Deducto Net To 0 kg @ Rs ille Organic	4.83 / sqm Ons vitubes etc.) oved steel priviled ded type tal Quantity tal Quantity tal Quantity tal Quantity 128.02 / kg	trusses etcrimer, include tubes 148.000 148.000 kg 285.76 c., including welding	
	Steel work in built up to cutting, hoisting, fixing and bolted with special Steel work in built up tubular 13.84.2 Painting with synthetic grams/ litre, of approver	tubular (ro position ar shaped w 1	ngineering and applying a vashers etc. of Steel wo 148.000	or rectang y o	m @ Rs 10 anisatio ular hollow bat of appro ot finished p tubular To otal Deducto Net To okg @ Rs ile Organic g applying a	4.83 / sqm Ons vitubes etc.) oved steel priviled ded type tal Quantity tal Quantity tal Quantity tal Quantity 128.02 / kg	trusses etcrimer, include tubes 148.000 148.000 kg 285.76 2., including weld as a second secon	

						al Quantity	8.020 sqn	
				Тс	tal Deducte	d Quantity	0.000 sqn	n
					Net Tota	al Quantity	8.020 sqn	n
			Sa	ay 8.020 sqr	m @ Rs 106	.46 / sqm	Rs 8	53.81
13	od219670/2019_202 Supply and install e cladding, tile shall b jointing as directed joint filler matching	externally 1st e laid and fix by engineer	ted to pre- pla using approv	astered wal	ls in pattern	s, style and	d forms of g	routing and
		1	16.920				16.920	
					Tota	al Quantity	16.920 sq	ım
			160	To	tal Deducte	d Quantity	0.000 sqn	n
			1.00		Net Tota	al Quantity	16.920 sq	ım
			Say	16.920 sqm	@ Rs 1186	.95 / sqm	Rs 20	083.19
SI No	Description	No	The state	В	D	CF	Quantity	Remark
	4 WID	ENING OF E	XISTING RO	ADS AND A	NCILLARY	WORKS		
	excavating earth to including making good lead upto 50 metres.	od the undula	tions etc. and	ACC. CONT.	•		•	
	a. oa		1363 000			1	1363 000	LENGTH
			1363.000				1363.000	= AREA
			1363.000			al Quantity	1363.000	= AREA
			1363.000	To	Tota	•		= AREA
			1363.000	To	tal Deducte	•	1363.000	= AREA
2	16.78.3 Construction of gramixing in a mechanial lifts, spreading in compacting with vibrations of Enginemm) having CBR Variations of ERR	nular sub- bacal mix plant uniform layeratory power re-in- Charge	Say 1 ase by Provio at OMC, Carr ers of specifie	363.000 squ ding close of riage of mixing ed thicknessive the desir	Net Total Met Total Met Rs 127 Met Rs 1	d Quantity al Quantity al Quantity al , sqm erial confor by tippers to r grader on complete as	1363.000 0.000 sqn 1363.000 Rs 174 ming to spectowork site, prepared site, prepar	= AREA sqm n sqm 4205.03 ecifications for all leads surface and cations and
2	Construction of gramixing in a mechanial lifts, spreading in compacting with vibratirections of Enginemm) having CBR Va	nular sub- bacal mix plant uniform layeratory power rer-in- Chargealue - 20	Say 1 ase by Provious OMC, Carrers of specific roller to achie with material	363.000 squ ding close of riage of mixing ed thicknessive the desir	Net Total Met Total Met Total Met Rs 127 Met Graded Material Met Grade Material Met Grade Met Grade Met Grade Met Grade	d Quantity al Quantity al Quantity al , sqm erial confor by tippers to r grader on complete as	1363.000 0.000 sqn 1363.000 Rs 174 ming to spectowork site, prepared site, prepared site, prepared site, ange 26.5 minge	= AREA sqm n sqm 4205.03 ecifications for all leads surface and cations and
2	Construction of gramixing in a mechanial lifts, spreading in compacting with vibratirections of Engine	nular sub- bacal mix plant uniform layeratory power re-in- Charge	Say 1 ase by Provio at OMC, Carr ers of specifie	363.000 squ ding close of riage of mixing ed thicknessive the desir	Net Total Met Total Met Total Met Rs 127 Graded Mate Met Material Met	d Quantity al Quantity (.81 / sqm erial confor by tippers to r grader on complete as - III (size ra	1363.000 0.000 sqn 1363.000 Rs 174 ming to spe 0 work site, prepared s s per specific ange 26.5 m 136.300	= AREA sqm sqm 4205.03 ecifications for all leads surface and cations and nm to 0.075
2	Construction of gramixing in a mechanial lifts, spreading in compacting with vibratirections of Enginemm) having CBR Va	nular sub- bacal mix plant uniform layeratory power rer-in- Chargealue - 20	Say 1 ase by Provious OMC, Carrers of specific roller to achie with material	ding close (riage of mixed thicknessive the desiral conformin	Net Total Met Total Met Total Met Rs 127 Graded Mate Met Material Met	d Quantity al Quantity 7.81 / sqm erial confor by tippers to r grader on complete as - III (size ra	1363.000 0.000 sqn 1363.000 Rs 174 ming to spectowork site, prepared site, prepared site, prepared site, ange 26.5 minge	= AREA sqm sqm 4205.03 ecifications and square square and square squa

					Net Tota	al Quantity	136.300 c	um
			Say 1	36.300 cum		<u> </u>		3438.83
3	16.79 Providing , laying spre wet mix macadam (WI mix plant, carriage of mechanical paver fini vibratory roller of 8 to and directions of Engi	MM) specific mixed mate sher in sub 10 tonne ca	eation including the control of the	ng premixing r to site, for se course o	g the materi r all leads & n well prep	al with wate k lifts, laying ared surfac	r at OMC in g in uniform e and comp	mechanica layers with acting with
	road	1	1363.000		0.150		204.450	
					Tota	al Quantity	204.450 c	um
			P.	То	tal Deducte	d Quantity	0.000 cum	1
			190		Net Tota	al Quantity	204.450 c	um
			Say 2	04.450 cum	@ Rs 3024	1.60 / cum	Rs 618	379.47
	Providing and applyin including cleaning of r means as per Technic Road area	oad surface	and spraying	g primer at t	the rate of 0	0.70 - 1.0 kg	_	
	-				Tota	al Quantity	2155.000	sqm
		P = 1	K	То	tal Deducte	d Quantity	0.000 sqm	1
	-				Net Tota	al Quantity	2155.000	sqm
			Say	2155.000 sc	qm @ Rs 61	I.81 / sqm	Rs 133	3200.55
5	od21005/2019_2020 2.5 cm premix carpet size respectively per 1 and 11.2 mm size respectively respectively per 1 and 11.2 mm size respectively road roller of 6 to Asphalt grade VG - 10 ITEM NO.16.33.1)	00 sqm and pectively, inc 9 tonne cap	52 kg and 50 cluding a tack pacity etc. co	6 kg of hot b c coat with h emplete (ta	oitumen per not straight r ck coat to b	cum of ston run bitumen, se paid for s	e chippings including co eparately): \	of 13.2 mm onsolidation Vith paving
	Road area	1	2155.000				2155.000	LENGTH = AREA
					Tota	al Quantity	2155.000	sqm
				То	tal Deducte	d Quantity	0.000 sqm	l
					Net Tota	al Quantity	2155.000	sqm

6	51.16.31.1.2 Tack Coat - RS Bitume Providing and applyin pressure distributor ir 1. With Rapid Setting E 2. On bituminous surfa	ig tack coat ncluding pre situmen Emu	t using bitu eparing the ulsion	men emulsi	on conform	ning to IS:		g emulsior
	Road area	1	2155.000				2155.000	LENGTH = AREA
					Tota	al Quantity	2155.000	sqm
				То	tal Deducte	d Quantity	0.000 sqm	า
					Net Tota	al Quantity	2155.000	sqm
			Say	2155.000 so	qm @ Rs 11	.49 / sqm	Rs 24	760.95
7	od21013/2019_2020 Providing and laying sesieve) with bitumen usicum of fine aggregate complete.(DSR ITEM	ng 128 kg o per 100 sc	f bitumen of	grade VG -	10 bitumen	per cum of t	fine aggrega	ite and 0.6
	Road area	1	2155.000			Pro-	2155.000	LENGTH = AREA
			na Liberia	in ot P27	Tota	al Quantity	2155.000	sqm
	0	ther En	gineeri	ng Or g q	tal Deducte	d Quantity	0.000 sqm	1
		D - 1			Net Tota	al Quantity	2155.000	sqm
		\mathbf{P}	Say	2155.000 so	qm @ Rs 84	.39 / sqm	Rs 181	1860.45
8	16.69 Providing and laying a position to the require sand), including makin to more than 5 mm), in of Engineer-in-charge kerb stone shall be ap	d line, level g joints with cluding mak (length of f	and curvat or without ging drainage inished kerl	ure jointed or grooves (this e opening with both the desired should be desired to be d	with cement ckness of jo herever requ	t mortar 1:3 ints except uired compl	3(1 cement at sharp cur ete etc. as p	t: 3 coars ve shall no per directio
								KERB
						al Quantity	53.100 cu	
				То	tal Deducte	<u> </u>	0.000 cum	
			Sav	53.100 cum		al Quantity	53.100 cu	m 7564.36
9	od21031/2019_2020		Jay	55. 100 Culli	© N3 / 110	, , , , , , , , , , , , , , , , , , , , 	1.9 311	304.30

	surfaces							
		2	354.000		0.200		141.600	
					Tota	al Quantity	141.600 s	qm
				To	tal Deducte	d Quantity	0.000 sqm	1
					Net Tota	al Quantity	141.600 s	qm
			Say 1	41.600 sc	qm @ Rs 96	5.09 / sqm	Rs 13	606.34
10	od21034/2019_2020 Providing and laying stone aggregate mix smooth etc. all comp	g average 10 xed with sand	d Zone V, includ	ing spread	ding, well ra			
		1	354.000	M.			354.000	LENGT
			743 GB	3	Tota	al Quantity	354.000 s	qm
		11		To	tal Deducte	d Quantity	0.000 sqm	1
					Net Tota	al Quantity	354.000 s	qm
11	16.42 Cement concrete 1:		nt : 2 coarse sai	nd : 4 gra	m @ Rs 278	3.15 / sqm aggregate 4	0 mm nomii	,
11			nt : 2 coarse sai	nd : 4 gra	m @ Rs 278	3.15 / sqm aggregate 4	0 mm nomii	nal size) nishing a LENGT
11	Cement concrete 1: pavements, laid to re	equired slope	nt : 2 coarse sai	nd : 4 gra	ded stone as required in	3.15 / sqm aggregate 4	0 mm nomin	nal size) nishing a LENGT = ARE
11	Cement concrete 1: pavements, laid to re	equired slope	nt : 2 coarse sai	nd : 4 gra panels as 1.000	ded stone as required in	aggregate 4 cluding cor	0 mm nominasolidation fi	nal size) nishing a LENGT = ARE
11	Cement concrete 1: pavements, laid to re	equired slope	nt : 2 coarse sai	nd : 4 gra panels as 1.000	ded stone as required in 0.100 Total Deducte	aggregate 4 cluding cor	0 mm nominsolidation fi 35.400 35.400 cu	nal size) nishing a LENGT = ARE m
11	Cement concrete 1: pavements, laid to re	equired slope	nt : 2 coarse sai e and camber in 354.000	nd : 4 gra panels as 1.000	ded stone as required in 0.100 Total Deducte	aggregate 4 actuding cor al Quantity d Quantity al Quantity	0 mm nominsolidation fi 35.400 35.400 cu 0.000 cum 35.400 cu	nal size) nishing a LENGT = ARE m
11	Cement concrete 1: pavements, laid to re	equired slope	nt : 2 coarse sai e and camber in 354.000	nd: 4 gra panels as 1.000	ded stone as required in 0.100 Total Deducte Net Total @ Rs 7807	aggregate 4 actuding cor al Quantity d Quantity al Quantity	0 mm nominsolidation fi 35.400 35.400 cu 0.000 cum 35.400 cu	nal size) nishing a LENGT = ARE m n
	Cement concrete 1: pavements, laid to re tamping complete	equired slope	nt : 2 coarse sai e and camber in 354.000	nd: 4 gra panels as 1.000	ded stone as required in 0.100 Total Deducte Net Total @ Rs 7807	aggregate 4 actuding cor al Quantity d Quantity al Quantity	0 mm nominsolidation fi 35.400 35.400 cu 0.000 cum 35.400 cu	nal size) nishing a LENGT = ARE m n
	Cement concrete 1: pavements, laid to re tamping complete	in position pr	say 35	nd: 4 gra panels as 1.000 To	ded stone as required in 0.100 Total Deducte Net Total @ Rs 7807 xpansion joi 15.000	aggregate 4 actuding cor al Quantity d Quantity al Quantity	0 mm nominasolidation fi 35.400 35.400 cu 0.000 cum 35.400 cu Rs 276	nal size) nishing a LENGT = ARE m a a a a a a a a a a a a
	Cement concrete 1: pavements, laid to re tamping complete	in position pr	say 35	nd: 4 gra panels as 1.000 To 5.400 cum tiller in es	ded stone as required in 0.100 Total Deducte Net Total @ Rs 7807 xpansion joi 15.000	aggregate 4 actuding cor al Quantity d Quantity al Quantity 7.14 / cum at Quantity	0 mm nomination finds 35.400 cu 0.000 cum 35.400 cu Rs 276 225.000 pdepth per co	nal size) nishing a LENGT = ARE. m a 3372.76 er cm m width ength cm depth th per
	Cement concrete 1: pavements, laid to re tamping complete	in position pr	say 35	nd: 4 gra panels as 1.000 To 5.400 cum tiller in es	ded stone as required in 0.100 Total Deducte Net Total Q Rs 7807 Expansion join 15.000 Total deducter of the stall Deducter of t	aggregate 4 actuding cor al Quantity d Quantity al Quantity 7.14 / cum at Quantity	225.000 pdepth per cm width	LENGT = ARE m 6372.76 er cm m width ength cm deptl th per h

						depth per cm	
	Say 225.000 per 0	cm depth pe	•		gth @ Rs 3.12 / per o	│ Rs 702	2.00
13	16.90 Providing and laying thaving with water absoluted and shades in for out thick base of cement in joints with white cement of tharge.	orption less t door floors s mortar 1:4 (1	than 0.5% an such as footp cement : 4 c	d conformir ath, court y oarse sand)	ng to IS: 15622 of appropriately and multi modals low in all shapes & patterns.	oroved make in a cation etc., laid of erns including gro	all colour on 20mr outing the
		1	354.000	1.000		354.000	
			/Ga	20/	Total Quantit	y 354.000 sqn	n
			-51	То	tal Deducted Quantit	y 0.000 sqm	
			45 8	\$ SI	Net Total Quantit	y 354.000 sqn	n
		11	Say 3	54.000 sqm	@ Rs 2057.46 / sqm	Rs 72834	40.84
14	od21092/2019_2020 Providing and fixing P kgf/cm2	VC pipe pie	ces in weep	holes by ha	cking,jointing and m	ake good, 110 m	nm pipe
		190	0.110	THE PARTY		20.900	
		Other Er	ngineerii	ng Orga	anisa Total Quantit	y 20.900 metro	е
	-	$D \perp 1$		То	tal Deducted Quantit	y 0.000 metre	
	and the state of t				Net Total Quantit	y 20.900 metro	е
			Say 20	.900 metre	@ Rs 223.93 / metre	Rs 4680	0.14
15	od219899/2019_2020						
15	Construct foundation M20x75cm long anch specification.						
	M20x75cm long anch						
	M20x75cm long anch	nor bolt set				as per the draw	wing an
	M20x75cm long anch	nor bolt set		using 4mm	n thick anchor plate	23.000 y 23.000 each	wing an
	M20x75cm long anch	nor bolt set		using 4mm	thick anchor plate	23.000 y 23.000 each y 0.000 each	wing an
15	M20x75cm long anch	nor bolt set	in concrete	using 4mm	Total Quantit	23.000 y 23.000 each y 0.000 each y 23.000 each	wing an
16	M20x75cm long anch	23	Say 23.	To 000 each @	Total Quantit tal Deducted Quantit Net Total Quantit Rs 10831.40 / each	23.000 y 23.000 each y 0.000 each y 23.000 each n Rs 24912 de dimensions 40	22.20

					То	tal Quantity	380.000 m	netre		
				Т	otal Deduct	ed Quantity	0.000 met	re		
					Net To	tal Quantity	380.000 m	netre		
			Say 380.	000 metre	@ Rs 5787	.09 / metre	Rs 219	9094.20		
SI No	Description	No	L	В	D	CF	Quantity	Remark		
			5 LAND DE\	/ELOPMEI	NT					
1	2.32 Clearing grass and recleared.	emoval of th	ne rubbish up	to a dista	ince of 50 r	n outside the	e periphery	of the are		
		1	5000.000				5000.000			
		tal Quantity	5000.000	sqm						
		ed Quantity	0.000 sqm	1						
			K. S. W.		Net To	tal Quantity	5000.000	sqm		
		61	Say	5000.000	sqm @ Rs	5.18 / sqm	Rs 25	900.00		
		Other E	ngineeri		otal Deduct	tal Quantity	5000.000 0.000 sqm)		
						tal Quantity	5000.000	sqm		
3	Say 5000.000 sqm @ Rs 10.21 / sqm Rs 51050.00 2.33.1 Felling trees of the girth (measured at a height of 1 m above ground level) including cutting of trunks ar branches, removing the roots and stacking of serviceable material and disposal of unserviceab material. Beyound 30 cm girth up to and including 60 cm girth									
		1	4.000				4.000			
					То	tal Quantity	4.000 eac	h		
		0.000 eac	h							
		4.000 eac	h							
		Rs 12	243.76							
4	2.33.2 Felling trees of the gir branches, removing material.Beyound 60	the roots a	and stacking	of service	able mate	*	-			

		1	4.000				4.000	
					Tota	al Quantity	4.000 ead	ch
				To	otal Deducte	d Quantity	0.000 eac	ch
					Net Tota	al Quantity	4.000 eac	ch
			Say	4.000 each	@ Rs 1379	.77 / each	Rs 5	519.08
5	2.33.4 Felling trees of the girth branches, removing the material. Above 240 ci	he roots ar	_		•	•		
		1	2.000				2.000	
			Par	-8-	Tota	al Quantity	2.000 eac	ch
			190	To	otal Deducte	d Quantity	0.000 ead	ch
	Net Total Quantity							ch
		610	Say 2	2.000 each @	@ Rs 12809	.27 / each	Rs 25618.54	
6	2.2.1 Earth work in rough e breaking clods, waterin every 3rd and top-most	ig, rolling ea layer with l	ach layer wi power roller	th 1/2 tonne of minimum	roller or wo	oden or ste nd dressing	el rammers up in emba	s, and rollin inkments fo
6	Earth work in rough e breaking clods, waterin	ig, rolling ea layer with parginal bank	ach layer wi power roller ks and guide	th 1/2 tonne of minimum e banks or f	roller or wo	oden or ste nd dressing bund depres	eel rammers up in emba ssions, lead 200.000	s, and rollin inkments for I up to 50 r
6	Earth work in rough e breaking clods, waterin every 3rd and top-most roads, flood banks, ma	ig, rolling ea layer with parginal bank kinds of so	ach layer wi power roller ks and guide bil	th 1/2 tonne of minimum e banks or f	roller or wo 8 tonnes a filling up gro	noden or steemed dressing bund depressing	eel rammers up in embassions, lead	s, and rollin inkments for I up to 50 r
6	Earth work in rough e breaking clods, waterin every 3rd and top-most roads, flood banks, ma	ig, rolling ea layer with parginal bank kinds of so	ach layer wi power roller ks and guide bil	th 1/2 tonne of minimum e banks or f	roller or wo 8 tonnes a filling up gro nisatio	ooden or steemed dressing bund depressions all Quantity depressions.	eel rammers up in emba ssions, lead 200.000	s, and rollin inkments for I up to 50 r
6	Earth work in rough e breaking clods, waterin every 3rd and top-most roads, flood banks, ma	ig, rolling ea layer with parginal bank kinds of so	ach layer wi power roller ks and guide oil 200.000	th 1/2 tonne of minimum e banks or f	roller or won 8 tonnes and illing up ground and is a tonnes and illing up ground and is a tonnes and is a tonn	ooden or steemed dressing bund depressions all Quantity depressions depressions all Quantity all Quantity all Quantity	200.000 cur 200.000 cur	s, and rollin inkments for I up to 50 r
7	Earth work in rough e breaking clods, waterin every 3rd and top-most roads, flood banks, ma	eg, rolling ea layer with arginal bank kinds of so	sach layer wi power roller ks and guide oil 200.000 Say	th 1/2 tonne of minimum e banks or f	roller or wo 8 tonnes a filling up gro Total Deducte Net Tota m @ Rs 606	oden or steemed dressing bund depressional Quantity d Quantity al Quantity 6.98 / cum	200.000 200.000 200.000 Rs 12	cum 1396.00
	Earth work in rough e breaking clods, waterin every 3rd and top-most roads, flood banks, ma and lift up to 1.5 m:All	eg, rolling ea layer with arginal bank kinds of so	sach layer wi power roller ks and guide oil 200.000 Say	th 1/2 tonne of minimum e banks or f	roller or wo 8 tonnes a filling up gro Total Deducte Net Tota m @ Rs 606	oden or steemed dressing bund depressional Quantity d Quantity al Quantity 6.98 / cum	200.000 200.000 200.000 Rs 12	cum 1396.00
	Earth work in rough e breaking clods, waterin every 3rd and top-most roads, flood banks, ma and lift up to 1.5 m:All	e ground ir	sach layer wi power roller ks and guide oil 200.000 Say ncluding ren ad up to 50	th 1/2 tonne of minimum e banks or f	Total Deducte Net Total m @ Rs 606 etation and up to 1.5 m.	oden or steemed dressing bund depressional Quantity d Quantity al Quantity 6.98 / cum	200.000 200.000 cur 200.000 cur 200.000 cur 200.000 cur 200.000 cur 200.000 cur	cum 1396.00
	Earth work in rough e breaking clods, waterin every 3rd and top-most roads, flood banks, ma and lift up to 1.5 m:All	e ground ir	sach layer wi power roller ks and guide oil 200.000 Say ncluding ren ad up to 50	th 1/2 tonne of minimum e banks or fing and lift up to the control of the control	Total Deducte Net Total m @ Rs 606 etation and up to 1.5 m.	oden or steemed dressing bund depressional Quantity al Quantity 6.98 / cum in-equalities All kinds of al Quantity	200.000 200.000 cur 200.000 cur 200.000 cur 200.000 d Rs 12	s, and rollin inkments for up to 50 recum 1396.00 eding 15 cr
	Earth work in rough e breaking clods, waterin every 3rd and top-most roads, flood banks, ma and lift up to 1.5 m:All	e ground ir	sach layer wi power roller ks and guide oil 200.000 Say ncluding ren ad up to 50	th 1/2 tonne of minimum e banks or fing and lift up to the control of the control	Total Deducte Retation and up to 1.5 m. Total Deducte Petation and up to 1.5 m. Total Deducte Total Deducte	oden or steemed dressing bund depressional Quantity al Quantity 6.98 / cum in-equalities All kinds of al Quantity	200.000 200.000 200.000 200.000 Rs 12 s not excees soil 1000.000	s, and rollin inkments for up to 50 recum 1396.00 eding 15 cr
	Earth work in rough e breaking clods, waterin every 3rd and top-most roads, flood banks, ma and lift up to 1.5 m:All	e ground ir	Say ncluding renad up to 50 1000.000	th 1/2 tonne of minimum e banks or fing and lift up to the control of the control	Total Deducte Net Total Petation and up to 1.5 m. Total Deducte Net Total Petation and up to 1.5 m. Total Otal Deducte Net Total	oden or steemed dressing bund depressional Quantity al Quantity in-equalities All kinds of al Quantity d Quantity d Quantity al Quantity al Quantity al Quantity al Quantity al Quantity al Quantity	200.000 200.000 200.000 200.000 0.000 cur 200.000 Rs 12 s not exceesoil 1000.000 1000.000 1000.000	s, and rolling inkments for up to 50 recum 1396.00 eding 15 cr

1	50.18.9.6.1 Providing and fixing PV refilling & testing of join		• .	•		•		_
		120					120.000	
					Tota	al Quantity	120.000 m	netre
				To	otal Deducte	d Quantity	0.000 met	re
					Net Tota	al Quantity	120.000 m	ietre
			Say 120	0.000 metre	@ Rs 233.1	10 / metre	Rs 27	972.00
2	od219816/2019_2020 Supply and install Zolo necessary fittings	oto or appro	oved equiva	llent 50mm	full bore fo	rged brass	ball valve ir	ncluding all
		2	/late	166			2.000	
			C.01		Tota	al Quantity	2.000 eac	h
		1.0	37 3	To	otal Deducte	d Quantity	0.000 eac	h
		()		33/A	Net Tota	al Quantity	2.000 eac	h
		15	Say	2.000 each	@ Rs 3673.	87 / each	Rs 73	347.74
3	18.48 Providing and placing of with cover and suitable pipes but without fitting	locking ar	rangement a	and making	necessary	holes for in		
	٦	3000				7	3000.000	<u> </u>
					Tota	al Quantity	3000.000	Litre
				To	otal Deducte	d Quantity	0.000 Litre	
		al Quantity	3000.000	Litre				
			Say	3000.000 Li	tre @ Rs 10	.28 / Litre	Rs 30	840.00
4	18.19.4.1 Providing and fixing g boreHorizontal	un metal n	on-return va	alve of app	roved quali	ty (screwed	d end):50 m	m nominal
		1					1.000	<u> </u>
					Tota	al Quantity	1.000 eac	h
				To	otal Deducte	d Quantity	0.000 eac	h
					Net Tota	al Quantity	1.000 eac	h
			Say	1.000 each	@ Rs 1401.	05 / each	Rs 14	101.05
5	od20996/2019_2020 Extra over for Providing aggregate 40 mm nomi				•	: 5 coarse	sand : 10 gr	aded stone

							1				
	50mm and 40mm pipe	1	120.000	0.038			4.560				
					Tota	al Quantity	4.560 cum	1			
				То	tal Deducte	d Quantity	0.000 cum				
					Net Tota	al Quantity	4.560 cum	1			
			Say	/ 4.560 cum	@ Rs 5970	.54 / cum	Rs 27	225.66			
6	18.32.1 Constructing masonry coarse sand) for stop coment concrete slab size), i/c necessary exaggregate 40 mm nomi 12 mm thick, finished where the size of the si	cock, with the list of the lis	C.I. surface I cement: 2 bundation co and inside place g coat of ne	box 100x10 coarse sar oncrete 1:5: stering with at cement c	00x75 mm (nd: 4 graded 10 (1 ceme cement mo omplete as	(inside) witl d stone agg nt : 5 fine s rtar 1:3 (1 c	n hinged co regate 20 n sand : 10 gr ement : 3 co	ver fixed in nm nominal aded stone parse sand)			
		1	C.1 1				1.000				
		10	JK 3	S. W	Tota	al Quantity	1.000 eac	h			
		d Quantity	0.000 each								
		1.000 each									
		Rs 1695.60									
	od21039/2019_2020 Supply installation testi Sand filter,Activated Ca 25 m head),chemical engineer in charge	arbon filter,	Iron remova	l filter,Float	switches 2	nos,Filter fe	ed pump (2	000 lph,20-			
	4	1					1.000				
					Tota	al Quantity	1.000 eac	h			
				То	tal Deducte	d Quantity	0.000 eac	h			
					Net Tota	al Quantity	1.000 eac	h			
			Say 1.0	000 each @	Rs 143643.	87 / each	Rs 143	8643.87			
SI No	Description	No	L	В	D	CF	Quantity	Remark			
	7 EXTERNAL SEWERAGE AND RAINWATER DRAINAGE										
1	50.18.9.9.1 Providing and fixing PV refilling & testing of Joir		• •			-		•			
	soil and waste	1	124.000				124.000				
	rain water	1	30.000				30.000				
					Tota	al Quantity	154.000 metre				
				То	tal Deducte	d Quantity	0.000 met	re			

					Net Tota	al Quantity	154.000 m	netre		
		83 / metre	Rs 68195.82							
2	50.18.9.10.1 Providing and fixing PVC pipes includings jointing of pipes with one step pvc solvent cement, trenchir refilling & testing of joints complete as per direction of Engineer in Charge. 150 mm dia 6 Kgf/cm2									
	Soil pipe	1	108.000				108.000			
	Rain water pipe	1	100.000				100.000			
		al Quantity	208.000 m	netre						
				T	otal Deducte	d Quantity	0.000 met	re		
					Net Tota	al Quantity	208.000 n	netre		
			Say 208	3.000 metre	e @ Rs 819.	68 / metre	Rs 170	0493.44		
	Extra over for Providaggregate 40 mm no	t : 5 coarse	sand : 10 gr	aded sto						
		1	154.000	0.058	TA	Y				
	160mm dia	1	208.000	0.076		al Quantity	15.808			
		24.740 cum 0.000 cum								
		24.740 cum								
		Rs 147711.16								
4	19.7.1.1	D	Say	24.740 Cun	n @ Rs 5970	7.54 / Cum	KS 147	7711.10		
	Constructing brick masonry manhole in cement mortar 1:4 (1 cement: 4 coarse sand) with R.C.C. to with 1:2:4 mix (1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size), foundation concrete 1:4:8 mix (1 cement: 4 coarse sand: 8 graded stone aggregate 40 mm nominal size,) inside plastering 12 mm thick with cement mortar 1:3 (1 cement: 3 coarse sand) finished with floating coat neat cement and making channels in cement concrete 1:2:4 (1 cement: 2 coarse sand: 4 graded store aggregate 20 mm nominal size) finished with a floating coat of neat cement complete as per standard design:Inside size 90x80 cm and 45 cm deep including C.I. cover with frame (light duty) 455x610 m internal dimensions, total weight of cover and frame to be not less than 38 kg (weigh of cover 23 kg arweight of frame 15 kg):With common burnt clay F.P.S. (non modular) bricks of class designation 7.5									
		8					8.000			
					Tota	al Quantity	8.000 eac	h		
				T	otal Deducte	d Quantity	0.000 eac	h		
					Net Tota	al Quantity	8.000 eac	h		
			Say 8	.000 each	@ Rs 12247	.47 / each	Rs 97979.76			
5	19.7.2.1 Constructing brick n	nasonry manh	nole in cemer	nt mortar 1	:4 (1 cemei	nt : 4 coarse	e sand) with	R.C.C. 1		

	with 1:2:4 mix (1 cemes concrete 1:4:8 mix (1 plastering 12 mm thick neat cement and makin aggregate 20 mm nom design:Inside size 120 internal diameter, total weight of frame 58 kg)	cement: 4 with ceme ng channels ninal size) x90 cm and weight of c	coarse sand ent mortar 1:3 s in cement of finished with d 90 cm deep cover and fra	d: 8 graded 3 (1 cement concrete 1:2 a floating of p including of me to be no	stone aggr i: 3 coarse :4 (1 cemel coat of neat C.I. cover w it less than	egate 40 m sand) finish nt : 2 coarse cement cor ith frame (r 116 kg (we	m nominal sed with floate sand : 4 graphete as permedium duting ight of cover	size,) inside ating coat of raded stone er standard by) 500 mm er 58 kg and	
		7					7.000		
		al Quantity	7.000 eac	ch					
				То	tal Deducte	d Quantity	0.000 eac	ch	
			· A		Net Tota	al Quantity	7.000 eac	ch	
			Say 7	.000 each @	Rs 26132	17 / each	Rs 18	2925.19	
6	19.8.1.1 Extra for depth for man designation 7.5	holesSize 9	90x80 cmWit	h common b	ournt clay F.	P.S. (non n	nodular) bri	icks of class	
		8	0.150	PLI	13		1.200		
		194		Farly.	Tota	al Quantity	1.200 me	tre	
		0.000 metre							
		1.200 metre							
		ulei Ei	Say 1.	200 metre	® Rs 8111.8	33 / metre	Rs 9	734.20	
7	od21009/2019_2020 Supplying and installing ready made Pre cast RCC Water tank including the cost of carriage, trenching placing at the level below ground level as specified as per the direction of engineer in charge (5000 Capacity)								
				ecified as po	er the direc	tion of engi	_	-	
	placing at the level be			ecified as po	er the direc	tion of engi	_	-	
	placing at the level be	low ground		ecified as pe		tion of engil	neer in cha	rge (5000 L	
	placing at the level be	low ground				al Quantity	7.000	rge (5000 L	
	placing at the level be	low ground			Tota tal Deducte	al Quantity	7.000 7.000 eac	rge (5000 L	
	placing at the level be	low ground	l level as spe		Tota tal Deducte Net Tota	al Quantity d Quantity al Quantity	7.000 7.000 eac 0.000 eac 7.000 eac	rge (5000 L	
8	placing at the level be	7	Say 7	To .000 each @ water filtra	Tota tal Deducte Net Tota Rs 47735	al Quantity d Quantity al Quantity 58 / each	7.000 7.000 eac 0.000 eac 7.000 eac Rs 336	ch ch ch 4149.06	
8	placing at the level be Capacity) od21014/2019_2020 Supply all material ar	7	Say 7	To .000 each @ water filtra	Tota tal Deducte Net Tota Rs 47735	al Quantity d Quantity al Quantity 58 / each	7.000 7.000 eac 0.000 eac 7.000 eac Rs 336	ch ch ch 4149.06	
8	placing at the level be Capacity) od21014/2019_2020 Supply all material ar	7 7 nd construction 1:1.5:3 co	Say 7	To .000 each @ water filtra	Total Deducte Net Tota Rs 47735 tion tank complete as p	al Quantity d Quantity al Quantity 58 / each	7.000 7.000 eac 0.000 eac 7.000 eac Rs 334 on tank of civing and sp	ch ch 4149.06 overall size pecification.	
8	placing at the level be Capacity) od21014/2019_2020 Supply all material ar	7 7 nd construction 1:1.5:3 co	Say 7	To .000 each @ water filtra etc. all cor	Total Deducte Net Tota Rs 47735 tion tank complete as p	al Quantity d Quantity al Quantity 58 / each um collection er the draw	7.000 7.000 eac 0.000 eac 7.000 eac Rs 334 on tank of civing and sp	ch c	

			Say 1.	000 each @	Rs 458684	.34 / each	Rs 458	Rs 458684.34			
9	19.33 Constructing soak pit 1.20x1.20 m filled with brickbats including S.W. drain pipe 100 mm diameter an 1.20 m long complete as per standard design.										
		2					2.000				
					Tot	al Quantity	2.000 eac	:h			
	Total Deducted Quantity 0.000 each Net Total Quantity 2.000 each										
			Say	2.000 each	@ Rs 3002	.11 / each	Rs 60	004.22			
	Supplying and installing ready made PVC Septic tank including the cost of carriage, trenching, placing a the level below ground level as specified as per the direction of engineer in charge (Provision for CC/RCC/Sand/06mm aggregate for the preparation of bed shall be paid separately) 4. 35 to 50 flush capacity 3.000										
			1		Tot	⊥ al Quantity	3.000 eac	h			
		0.000 each									
	-	3.000 each									
		Rs 122905.80									
SI No	Description	Quantity	Remark								
	8 EXISTING C	LASS RO	OMS CONV	ERTED TO	SMART CI	ASS ROOM	MS				
1	14.46 Removing dry or oil both papering and preparing		•		•						
	CLASS ROOM WALLS	7	22.000	3.000			462.000				
		3	34.000	3.000			306.000				
	CLASS ROOM CEILING	7	30.000				210.000				
		3	60.000				180.000				
		1158.000	sqm								
		0.000 sqn	n								
		1158.000	sqm								
		Rs 17	740.56								
2	14.53.1 Wall painting with plasti or more coats on old wo		paint of app	oroved bran	nd and manu	ufacture to g	ive an even	shade:O			

		1	1158.000				1158.000			
					Tota	al Quantity	1158.000	sqm		
				То	tal Deducte	d Quantity	0.000 sqm			
					Net Tota	al Quantity	1158.000	sqm		
		3.37 / sqm	Rs 90	752.46						
3	Providing and laying Vitrified tiles in different sizes (thickness to be specified by the manufacturer), with water absorption less than 0.08% and conforming to IS: 15622, of approved brand & manufacturer, in all colours and shade, in skirting, riser of steps, laid with cement based high polymer modified quick set tile adhesive (water based) conforming to IS: 15477, in average 6 mm thickness, including grouting of joints (Payment for grouting of joints to be made separately). Size of Tile 600x600 mm									
	CLASS ROOM FLOORING	7	30.000				210.000			
		3	60.000				180.000			
	SKIRTING	7	22.000	S\ /Y	0.100		15.401			
		3	24.000		0.100		7.201			
		al Quantity	412.602 sqm							
	Total Deducted Quantity 0.000 sqm									
		al Quantity	412.602 sqm							
	Other Engineering Organ @ Rs 1759.79 / sqm						Rs 720	6092.87		
4	14.54.1 Painting with synthetic enamel paint of approved brand and manufacture of required colour to an give even shade:One or more coats on old work									
		1	177.000				177.000			
		al Quantity	177.000 s	qm						
	Total Deducted Quantity							0.000 sqm		
					Net Tota	al Quantity	177.000 s	qm		
		2.77 / sqm	Rs 12880.29							

1 od219849/2019_2020 Providing and fixing of Advance Direction / Way finding / Reassurance Sign board of size 1000 mm x 1500 mm made out of Type-XI encapsulated lens type retro reflective sheeting wide. Base Sheeting shall be of White Color type IV class B retro reflective sheeting fixed over 2 mm thick Aluminium Composite Material sheet with area exceeding 0.9 sqm fixed over back support frame of M.S.Angle 35 x 35 x 5 mm all round mounted on two 50 mm dia MS Pipe with clear height of not less than 2.1 m from the ground level to the bottom of the board as per approved drawings.
 The sign post should be painted with one coat of red oxide paint and two coats of 1 st quality synthetic enamel paint Black & white colour with bands of 30 cm height. The sign post shall be firmly fixed in to the ground by means of properly designed foundation with M15 grade concrete size 450mm x 450mmx 600 mm, including cost, conveyance of all materials, equipment, machinery and labour with all leads and lift, loading charges necessary for satisfactory completion of the work as directed by Engineer in-Charge. IN DRIVE WAY 2 2.000 **Total Quantity** 2.000 each **Total Deducted Quantity** 0.000 each **Net Total Quantity** 2.000 each Say 2.000 each @ Rs 11770.64 / each Rs 23541.28 2 od219850/2019 2020 Supply and fixing sticker type signage at site (on door or similar locations) in proper line & level. The signage letters shall be made with premium quality vinyl sheet of approved colour, pasted on "3M"make self-adhesive film of approved colour, including supply of all material labour etc. required for proper completion of work. Before making the signage text & font of letters in best fit size will be set in computer so as to give aesthetic look as per sample available with ITD 15 35.000 7.600 3990.000 In classroom 7.600 10 35.000 2660.000 Workshop **Total Quantity** 6650.000 sqcm **Total Deducted Quantity** 0.000 sqcm **Net Total Quantity** 6650.000 sqcm Say 6650.000 sqcm @ Rs 0.69 / sqcm Rs 4588.50 3 od219851/2019 2020 Supply and fixing bilingual signage in English. The signage letters will be made with premium quality vinyl sheet of approved colour, pasted on 3mm thick aluminium composite panel backing. The signage will be either fixed on the wall with the screws & double tape or hanged from the false ceiling with the help of hooks & chains complete work. 14 10.200 5797.680 In admin area 40.600 8 50.800 20.300 8249.920 **Total Quantity** 14047.600 sqcm Total Deducted Quantity 0.000 sqcm **Net Total Quantity** 14047.600 sqcm

			Say 14	047.600 sq	cm @ Rs 0.	70 / sqcm	Rs 98	333.32			
4	od219852/2019_2020 Supply & fixing 5 mm thick aluminum compressed Panel (ACP) sheet in the required size for buildin name signage. The sheet will be cut into size as per the size of signage to be fixed in position (Ston façade, grit wash, gypsum board etc.) with screws & tape including s/o all material labour T&P etc required for proper completion of work.										
	For buildings	5	12.000	30.000			1800.000				
	Gate	1	300.000	60.000			18000.000				
		ı	1		Tota	al Quantity	19800.000	sqcm			
		0.000 sqc	m								
		19800.000	sqcm								
			Say 19	9800.000 sq	cm @ Rs 1.	22 / sqcm	Rs 24	156.00			
	FOR BUILDINGS	5	12.000	30.000		0.8	1440.000				
	ITD.	161			3 30	1					
	GATE	1	300.000	60.000		0.8	14400.000				
		15840.000 sqcm									
		0.000 sqc									
		PI	2		Net Tota	al Quantity	15840.000				
	_		Say 15	840.000 sq	cm @ Rs 1.0	60 / sqcm	Rs 25	344.00			
6	od219854/2019_2020 Supply and fixing symbol signage such as No. Smoking, No Spitting, Drinking Water etc. signage standard sizes as per conventional design/ colour code on 3 mm thick aluminium composite panel. The signage will be either fixed on the wall with the help of screws & double tape or hanged from the falso ceiling with the help of chain & screws etc. complete work.										
		12	35.000	7.600			3192.000				
					Tota	al Quantity	3192.000	sqcm			
		0.000 sqc	m								
					Net Tota	al Quantity	3192.000	sqcm			
		Rs 22	202.48								
7	od219855/2019_2020 Printing of floor plans acrylic sheet and 1" st		•			_					

			1		ı							
	For old admin building	2					2.000					
	New building	1					1.000					
					Tota	al Quantity	3.000 eac	h				
				To	tal Deducte	d Quantity	0.000 eac	h				
	Net Total Quantity 3.000 each											
			Say	3.000 each	@ Rs 1884.	.96 / each	Rs 56	654.88				
SI No	Description	No	L	В	D	CF	Quantity	Remark				
10 ANN	IEXURE 1 : FURNITURE	FOR MAI	N BUILDING	AND EXIS	TING CLAS	S ROOMS(EST.NO:20	19/13140				
	Lu	ımp-Sum T	otal			R	s 1338984.0	00				
	SI No Desc	cription	No	L	В	D	CF	Quantity				
Remark	11 ANNEXURE 2 : E	LECTRICA	L, ELV, HV	AC AND FIR	E FIGHTIN	G WORKS	(EST.NO:20	19/13142				
	Lu	ımp-Sum T	otal			R	s 8385068.0	00				
	SI No Desc	cription	No	8 3	В	D	CF	Quantity				
Remark	12 CONTINGENCIES											
	Lu	ump-Sum T	otal		Ta.	F	Rs 275452.0	0				
		100	Pr	ovision for G	SST paymen	ts (in %) @	12	.0%				
			Amount rese	rved for GS	T payments		4505357.9	5				
			Bai	a and	Total		42050007.9)5				
	C	ther E	ngineeri	Lumpsum f	or round off	ns	0.00					
	-				T		OTAL Rs 42	 2050007.				
					,	1	d Total Rs					
				D	. Олан Т							
				Rupees Fou	Crore I we	nty Lakn Fif	ty Thousand	ı ⊏ignt Or				

(Cost Index Applied for this estimate is 41.85%)